
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Alberto Giacometti : ! "#$%&'$ %() *+#() 

 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

",+#-.-) 
 
O /01-) 23$). "&4%3#() $4$.45,'6-4%$) $7’ &4+) %$ 8-9$,: #&;%-<,.;=: =$; $;8>(%;=: *,-9#01$%$ *-< 
&17$4'6-4%$; 8%(4 "#$%&'$ !,?54 "-#<%&@4&'-<, =$; $7’ &%3,-< %;) A<4$%+%(%&) *-< *,-873,-4%$; 
801&,$ $*+ %(4 $B;-*-'(8( %54 7<8;=?4 *(.?4 &43,.&;$) $43>&8& 8%- C>4;=+ D&%8+9;- "-#<%&@4&'- %(4 
&=*+4(8( C,&<4(%;=-E ",-.,:11$%-) 1& %'%#-: 
 

 
FGHGIJGK! "JLMN!DGHO2 FGP /PCJCQ2!R! /Q2GHLH!HO2 G2GRQIFJLH!R!R  FGP 

MPLFNPDGHPF!R G2GMGSDPR!R "NGHCPGR !JOO2 "LNQHCT2CPLQ /!DLQ 2CGR "C2HCN!R. 
 
H- *,+.,$11$ -,.$4?>(=& 8& AE- 7:8&;) 5) &B0):  
 
! K:8( G &'@& 5) $4%;=&'1&4- %(4 =$%$.,$70 %() <*:,@-<8$) =$%:8%$8() =$; %(4 $B;-#+.(8( %54 
*$,$%(,08&54. "$,-<8;:8%(=& 8& 8<4$4%08&;) *-< 3.;4$4 1&%$BE %54 1&#?4 %() -1:A$) &=*+4(8() %-< 
C,&<4(%;=-E ",-.,:11$%-) =$; &=*,-8?*54 %-< /(1-%;=-E R<19-<#'-<. 
 
! *$,-E8$ <*-9-#0 @5,'6&%$; 8& AE- <*-&4+%(%&). 
! *,?%( <*-&4+%(%$ $4%;8%-;@&' 8%(4 G K:8( %-< ",-.,:11$%-), &4? ( A&E%&,( $4%;8%-;@&' 8%( M K:8( ( 
-*-'$ *&,;#$19:4&; *,-%:8&;) .;$ %( 8<4-#;=0 $4$8<.=,+%(8( %() "#$%&'$), =$; %( M;-=#;1$%;=0 
$4$9:>1;80 %().  
 
! H&@4;=0 U=>&8( *-< $=-#-<>&' &'4$; $4$*+8*$8%- %101$ %-< &,&<4(%;=-E 3,.-<  %-< ",-.,:11$%-) =$; 
8<4-A&E&; %$ <*-9$##+1&4$ 8@3A;$.  

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

! $,@$'$ $.-,: 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
! U=>&8( @5,'6&%$; 8%$ &B0) =&7:#$;$: 
 
1. C;8$.5.0 

– G KGR! 
2. F$%$.,$70 <*:,@-<8$) =$%:8%$8() 

2.1 /-10 %-< T?,-< – D-,70 %() "#$%&'$) 
2.2 N&;%-<,.'&) 
2.3 G;8>(%;=0 

3. GB;-#+.(8( 8%-;@&'54 =$; &,1(4&'$ %54 *$,$%(,08&54 .;$ %(4 <*:,@-<8$ =$%:8%$8( 
– M KGR! 

4. G,@3) 8@&A;$81-E 
5. "&,;.,$70 %54 *,-%:8&54 

5.1 G,@;%&=%-4;=: 
5.2 K5%;81+) 
5.3 D(@$4-#-.;=:/ !#&=%,-#-.;=: 
5.4 K5%-9-#%$V=: 
5.5 KE%&<8( 

6.   C*'#-.-) – R<1*&,:81$%$ 
7.   M;9#;-.,$7'$ 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
1. C;8$.5.0 
 
! *#$%&'$ !,?54 "-#<%&@4&'-< $*-%&#&' %-4 9$8;=+ A(1+8;- <*$'>,;- @?,- %-< /01-< 2. "&4%3#(). 
H$<%+@,-4$, #+.5 %() 8<.=&=,;134() >38() 8%(4 -*-'$ 9,'8=&%$; 8<4;8%: %(4 &'8-A- 8%-4 /01-, A(#$A0 &'4$; - 
@?,-) <*-A-@0) %+8- .;$ %-<) =$%-'=-<) +8- =$; .;$ %-<) &*;8=3*%&). 
 
C'4$; &*-1345) 34$) &B$;,&%;=: 8(1$4%;=+) @?,-) - -*-'-) >$ *,3*&; $7’ &4+) 4$ &B<*(,&%&' =-;454;=3) 
#&;%-<,.'&) <*$'>,;-< @?,-<, =$; $7’ &%3,-< 4$ *,-9:##&; %(4 ;A;$'%&,( %$<%+%(%$ =$; 7<8;-.451'$ %-< /01-<. 
 
W8-4 $7-,: %(4 =-;454;=0 A;:8%$8( &4+) <*$'>,;-< =-;4+@,(8%-< @?,-<, >$ 1*-,-E8& 4$ -,;8%&' 5) &B0): 
 
$. L <*$'>,;-) =-;4+@,(8%-) @?,-), 8& $4%;A;$8%-#0 1& %$ =%',;$ *-< &'4$; %- 8%$>&,+ %101$ 8%;) *+#&;), &'4$; - 
@?,-) %() &#&E>&,() ='4(8() 0 8%:8(). 
9. L <*$'>,;-) =-;4+@,(8%-) @?,-), =$#&'%$; 4$ *$,3@&; %;) A<4$%+%(%&) .;$ $4:*%<B( %+8- 
*,-.,$11$%;813454 =$; -,.$4513454 =-;454;=?4 #&;%-<,.;?4, +8- &*'8() =$; $*,+9#&*%54 .&.-4+%54 =$; 
A,:8&54. ",+=&;%$; A(#$A0 .;$ %- *&A'- >&81->&%(134() 0 $<>+,1(%() $4%$##$.0), =-;454;=0) &*$70) =$; 
*-#;%;8%;=0) A,$8%(,;+%(%$). 
.. D'$ *#$%&'$, +*5) ( 8<.=&=,;134( *#$%&'$ !,?54 "-#<%&@4&'-< %() 2. "&4%3#(), A&4 -,'6&%$; 1+4- $*+ %- 
*&,;-,;8134- *&,'.,$11$ %-< @?,-< %(), $##: $7’ &4+) $*+ %$ <#-*-;(134$ +,;$ %54 =$%$8=&<?4 *-< %(4 
*&,;9:##-<4 =$; $7’ &%3,-< $*+ %(4 4-(1$%;=0 >38( %() 8%-4 /01-, A(#$A0 %(4 $4%'#(X( *-< 3@-<4 .;’ $<%04 -; 
@,08%&) =$; 3@&; =$%$.,$7&' 8%(4 =-;454;=0 8<4&'A(8(. 
A. L <*$'>,;-) =-;4+@,(8%-) >$ *,3*&; 4$ &'4$; 34$) @?,-) -;=&'-), - -*-'-) 4$ *,-=$#&' .;$ @,08( =$; +@; 4$ 
$*-=#&'&; 0 4$ $*5>&'. 
 
W8-4 $7-,: %(4 *,-9-#0 %() ;A;$'%&,() %$<%+%(%$) =$; %() 7<8;-.451'$) %-< /01-<, ( =&4%,;=0 $<%0 "#$%&'$ 
=$#&'%$; +@; 1+4-4 4$ *$,-<8;:8&; 1'$ <7;8%:1&4( &;=+4$, $##: =<,'5) 4$ .'4&; 34$) @?,-) *,+%<*-, - -*-'-) 
4$ $4$A&;=4E&; %;) 1&##-4%;=3) $B'&) %-< /01-< 8<4-#;=:.  
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
L; &43,.&;&) *-< 3.;4$4 8%- *#$'8;- %-< C,&<4(%;=-E ",-.,:11$%-) &'4$; -; &B0): 
 
$. C*$4&;#(1134&) &*;8=3X&;) 8%-4 @?,-, 8& A;$7-,&%;=3) ?,&) %-< &;=-8;%&%,$?,-<, =$; 8& A;$7-,&%;=3) 

13,&). 
9. F$%$.,$70 %54 =%;81:%54 =$; #&;%-<,.;?4 *-< %(4 *&,;9:##-<4. D&%,08&;) %54  =%;,'54 *-< %(4 

*&,;9:##-<4. K5%-.,:7(8( +#54 %54 =%;,'54. G4$#<%;=0 75%-.,:7(8( %() "#$%&'$) =$>’ &$<%0). 
.. F$%$.,$70 %54 <#;=?4 *-< 3@-<4 @,(8;1-*-;(>&' .;$ %(4 =$%$8=&<0 %(). 
A. F$%$.,$70 %() <*:,@-<8$) 7E%&<8(). 
&. F$%$.,$70 %54 8%-;@&'54 $8%;=-E &B-*#;81-E. 
8%. F$%$.,$70 K5%;81-E 
6. /;$8$704;8( A;=%E54 
(. F$%$.,$70 %54 #&;%-<,.;?4 *-< <*:,@-<4 8& :1&8( .&;%4'$8( 1& %(4 *#$%&'$ (#$V=0 $.-,:) =$; &*(,&:6-<4 

%(4 @,08( %(). 
>. F$%$.,$70 8& 8=$,;701$%$ =$; 75%-.,$7'&) %() 650) %-< @?,-< 8%- 8E4-#- %-<. 
;. /;&,&E4(8( A<4$%-%0%54 $4:*#$8() =$; 8E4%$B( *,-=$%$,=%;=?4 *,-%:8&54, *$,-<8;:8&;) 8& 8<8=3X&;) 

8%$ .,$7&'$ %-< /01-< 1& &=*,-8?*-<) %-< /(1-%;=-E R<19-<#'-<. 
=. L,;8%;=-*-'(8( %54 *,-%:8&54. 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
"JOH! Q"LC2LH!HG – G KGR! 
 
2. F$%$.,$70 <*:,@-<8$) =$%:8%$8() 
 
2.1 /-10 %-< T?,-< – D-,70 %() "#$%&'$) 
 
$. ! "#$%&'$ !,?54 "-#<%&@4&'-< &'4$; 34$) &*;10=() @?,-) (40T200 1. *&,'*-<) - -*-'-)   A;$@5,'6&%$; 8& 
%,'$ %101$%$ 1& %-4 1&.:#- :B-4$ %-< 8%(4 =$%&E><48( M-,,:-2+%-<. 
R%- M+,&;- %101$ 3@&; -,.$45>&' 1'$ *&,;-@0 .;$ <*$'>,;&) &=A(#?8&;), 1& 34$ 1;=,+ <*$'>,;- $17;>3$%,-, 8& 
8<4A<$81+ 1& 34$4 <*+8=$7- @?,-, $<%+4 %-< "4&<1$%;=-E F34%,-<. 
 
H- &4A;:1&8- %101$ &'4$; 34$) @?,-) 8@&%;=: @5,') *,-8A;-,;8134( #&;%-<,.'$, $,=&%: $4-;=%+), $##: 
A&81&<134-) $*+ %(4 E*$,B( =%;8%?4 *&6-<#;?4, *-< &'4$; %-*->&%(134$ 8%-4 :B-4$ %-< @?,-< $<%-E, =$; 
@,(8;1-*-;-E4%$; 5) 1&.:#&) 6$,4%;4;3,&).  
 
R%- 2+%;- %101$ 9,'8=&%$; ( *$;A;=0 @$,:. 
 
2-%'5) %() *$;A;=0) @$,:) $##: $*-=-1134-) $*+ %(4 <*+#-;*( "#$%&'$ <*:,@&; %,;.54;=+) 
(1;A;$1-,75134-) @?,-), 1'$ 4(8'A$. 
 
9. G*+ %- M-,&;+%&,- %101$ %() "#$%&'$) 35) =$; %- 2+%;- <*:,@&; 1&.:#( <X-1&%,;=0 A;$7-,: (%() %:B&5) %54 
6 1. *&,'*-<) ( -*-'$ =$%$431&%$; 8& %,'$ &*'*&A$ =$; *$,$#$19:4&%$; &4 13,&; 1& 7$,A;3) =#'1$=&) =$; ,:1*&), 
=$; &4 13,&; 1& &#$7,: =#'8( %54 &*;*3A54. 
 
 

 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
.. FE,;- @$,$=%(,;8%;=+ %() "#$%&'$) $##: =$; 9$8;=+ 8%-;@&'- %() A-10) %() &'4$; %- .&.-4+) +%; *&,;9:##&%$; 
$*+ A,+1-<) $,=&%: 7$,A&'), 1& 1&.:#( =<=#-7-,'$ -@(1:%54 +*5) #&57-,&'$, ;A;5%;=: $<%-='4(%$ =.$.. H- 
.&.-4+) $<%+ &*;%,3*&; %(4 $4:*%<B( 1&.:#54 %$@<%0%54 *&,;1&%,;=: %-< =&4%,;=-E @?,-< %(). 
 
A. "$,:##(#$ 1& %-4 1&.:#- :B-4$ M-,,:- 2+%-<, ( &<,E%&,( &*;7:4&;$ %() @5,'6&%$; 8& %,&;) 6?4&), *-< 
<#-*-;-E4%$; 5) &B0): 
 
/<%;=0 Y?4(: *$,%3,;$ =$; A34A,$ (.&7<,?4-<4 %(4 1&.:#( <X-1&%,;=0 A;$7-,: 1&%$BE A,+1-< =$; "#$%&'$)) 
D&8$'$ Y?4(: F&4%,;=0 *&,;-@0 %() *#$%&'$) 
G4$%-#;=0 Y?4(: *$,%3,;$ =$; A34A,$ 
 
G*-%3#&81$ $<%0) %() A;:%$B() &'4$; +%; .;$ 4$ <*:,B&; *,+89$8( 8%(4 =&4%,;=0 *&,;-@0 $*+ %$ *&,;9:##-4%$ 
=%',;$, *$,&19:##-4%$; %$ &B0) =$%: 8&;,::  
=%',;-- *&6-A,+1;-- @?,-; 8%:>1&<8()- A,+1-) 1&.:#() =<=#-7-,'$)- @?,-; 8%:>1&<8()- *&6-A,+1;-- *$,%3,;- 
=&4%,;=0 *&,;-@0. G<%+ 8<19$'4&; =$; 8%;) AE- 1&.:#&) *#&<,3). 
 
&. H- M+,&;- +,;- <#-*-;&'%$; $*+ %- "4&<1$%;=+ F34%,-, &4? 8& *-#E X(#+%&,- &*'*&A- 9,'8=&%$; 8%&4+ 
13%5*- $*+ %,;?,-7$ =%',;$. ! &*;=-;454'$ 1&%$BE %-< &*;*3A-< %-< "4&<1$%;=-E F34%,-< =$; %-< <X(#+%&,-< 
&*;*3A-< (3,5 1. *&,'*-< <X-1&%,;=0 A;$7-,:) .'4&%$; 1& 8=:#&), &=$%3,5>&4 %-< F34%,-<.  
 
R<1*&,$81$%;=: >$ 1*-,-E8& 4$ <*-8%(,;@%&' +%; +#$ %$ *;- *:45 @$,$=%(,;8%;=: 8<19:##-<4 =$>-,;8%;=: 
8%(4 $*-=-*0 %-< @?,-< %() *#$%&'$) $*+ %;) #&;%-<,.'&) *-< %(4 *&,;9:##-<4, .&.-4+) *-< &B(.&' 8& 1&.:#- 
9$>1+ %(4 *-#E *&,;-,;8134( @,08( %() $*+ %(4 =-;4+%(%$. 
 

 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
2.2 N&;%-<,.'&) 
 
! "#$%&'$ *&,;9:##&%$; $*+ A;$7-,&%;=3) #&;%-<,.'&), $,=&%: &%&,+=#(%&), +*5) =$%-;='&), *$4%-*5#&'-, 
<*&,$.-,:, =$%$8%01$%$ %,$*&6?4, =$%$8%01$%$ X;#;=?4, =$73, 1*$,, X(8%$,;:, 7$,1$=&'$ =,&-*5#&'$ =.$. 
G<%+ $*-%&#&' =$%’ $,@:) 34$ >&%;=+ @$,$=%(,;8%;=+ *-< &*(,&:6&; &<4-V=: %(4 @,08( %(), &7’ +8-4 $7’ &4+) 
73,4&; 8%-4 @?,- %() A;$7+,54 =$%(.-,;?4 @,08%&), =$; $7’ &%3,-< A(1;-<,.-E4%$; -; *,-Z*->38&;) .;$ @,08( 
%() A;$7-,&%;=3) ?,&) %-< &;=-8;%&%,$?,-< =$; &*-1345) 8<4&@-E) #&;%-<,.'$). 
 
C4 %-E%-;), -; >&%;=3) $<%3) *,-Z*->38&;) $4$;,-E4%$; .;$ %-<) &B0) AE- 9$8;=-E) #+.-<): 
 
$. H(4 $*-=-*0 %() *#$%&'$) $*+ %$ =%',;$ #+.5 %54 A,+154 $##: =$; %54 :##54 A-1;=?4 @$,$=%(,;8%;=?4 %() 
*-< $4$73,>(=$4 *;- *:45. 
9. H- 8%&4+ *&6-A,+1;- %() G4$%-#;=0) *#&<,:) *-< A&4 &*;%,3*&; %(4 $4:*%<B( =:*-;54 A,$8%(,;-%0%54 
&=%+) $*+ $<%0 %() 8<4&@-E) .,$11;=0) ='4(8(). 
 

 

 

     

CD"LJPFCR 
 
"LNPHPRHPFCR 
 
CF"GP/CQHPFCR 
 
G2G[QT!R 
 
HJG"CYCR 

 NCPHLQJIPCR RH!2 "NGHCPG



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
2.3 G;8>(%;=0 
 
CB'8-< =,'8;1- >31$ 1& %$ #&;%-<,.;=: *,-9#01$%$ *-< &*;8(1:4>(=$4 &45,'%&,$, &'4$; $<%+ %() .&4;=+%&,() 
$;8>(%;=0) %-< @?,-< =$; %() &;=+4$) *-< *$,-<8;:6&;. 
 
! &;=+4$ $<%0 3@&; %$ &B0) @$,$=%(,;8%;=:: 
 
$. H$ =%',;$ =$; -; =$%$8=&<3) *-< *&,;9:##-<4 %-4 @?,- 8<4;8%-E4 8%(4 -<8'$ 34$ 8<4-4>E#&<1$ $*+ 
A;$7-,&%;=: 8%<# =$; A;$7-,&%;=3) 1-,73), 1& *-##: A;$7-,&%;=: <#;=: =$; A;$7-,&%;=0 -.=-*#$8%;=0 
&*&B&,.$8'$. D-#-4+%; $<%+ =$>’ &$<%+ %- .&.-4+) %54 A;$7-,&%;=?4 1-,7?4 >$ 1*-,-E8& 4$ 1(4 0%$4 
$,4(%;=+, &4 %-E%-;) %- $*-%3#&81$ 5) .&4;=0 &;=+4$ %() *#$%&'$) &'4$; &##&;11$%;=+. ",+=&;%$; A(#$A0 .;$ 1'$ 
&;=+4$ @5,') ;A;$'%&,( %$<%+%(%$, =$; @5,') 8<.=&=,;134- @$,$=%0,$ *-< 4$ $4%;8%-;@&' 8%-4 @$,$=%0,$ %-< 
/01-< 2. "&4%3#(). 
 
9. R<1*#(,51$%;=: 8%-;@&'$ =$; $4%;=&'1&4$ %-< @?,-< +*5) &*;.,$73), 8%3.$8%,$ =#*. &'4$; &*'8() @5,') 
$;8>(%;=0, *3,$ $*+ %(4 $*-8*$81$%;=0 $;8>(%;=0 %() &=:8%-%& &%$;,;=0) %$<%+%(%$), 0 %() 1&1-45134() 
$;8>(%;=0) $4%'#(X() %-< =:>& 8<.=&=,;134-< ;A;-=%0%( *.@. *$4%-*5#&'-, X(8%$,;: =#*.  
 
.. L; A;:7-,&) =$%$8=&<3) =$; <#;=: *-< 3@-<4 @,(8;1-*-;(>&' .;$ %;) A;$1-,7?8&;) 8%- &85%&,;=+ %() *#$%&'$) 
A;$=,'4-4%$; &4 13,&; $*+ 8@&%;=0 &*;13#&;$, &4 13,&; $*+ %<@$;+%(%$ =$; &4 13,&; $*+ $*-8*$81$%;=+%(%$. 
 
 
C;A;=+%&,$: 
 
- <*:,@-<4 A;$7-,&%;=: &'A( *#$=-8%,?8&54 8& A;:7-,$ 8(1&'$ %-< @?,-< *.@. *#:=&) "(#'-< 0 F$,E8%-<, 
%8;1&4%+*#$=&) A;$7-,&%;=?4 &;A?4 =#*. 
- &17$4'6-4%$; A;$7-,&%;=: <#;=: 8%$ *&6-E#;$ =$; %-<) %-'@-<). F:*-;$ &'4$; *3%,;4$, &4? :##$ &'4$; 1$,1:,;4$. 
- -; =&,='A&) %-< <*$'>,;-< $17;>&:%,-< 3@-<4 *-#<.54;=0 =:%-X( =$; &'4$; $*+ *,+@&;,$ =$%$8=&<$8134- 
8=<,+A&1$. 
- - (1;<*$'>,;-) @?,-) 1*,-8%: $*+ %- "4&<1$%;=+ F34%,- 3@&; &*;=:#<X( $*+ =&,$1'A;$, &4? %$ =;+8=;$ 
(=$>;8%;=:) $*+ BE#-. 
- ( *&,'7,$B( %() *$;A;=0) @$,:) &'4$; $*+ X(#+ =;.=#'A51$ 1& 9:8( $*+ 8=<,+A&1$. 
-  1'$ =,04( <*:,@&; 8%- 8(1&'- $##$.0) %-< &*;*3A-<, =$; 8& >38( &*' %-< =&4%,;=-E :B-4$. 
- ( &85%&,;=0 A;$,,E>1;8( %() *$;A;=0) @$,:) 7$'4&%$; $*-8*$81$%;=0 =$; 8<1*%51$%;=0. *.@. 
- %$ $4%;=&'1&4$ *$;@4'A;$ &'4$; A;:8*$,%$ @5,') 4$ 7$'4&%$; +%; <*:,@&; =:*-;$ #-.;=0 -,.:458( %54 >38&54 
%-<). 
- %$ :##$ $4%;=&'1&4$ +*5) 75%;8%;=: =#*. 7$'4-4%$; &*'8() %-*->&%(134$ %<@$'$. 
- %$ <#;=: A;:8%,58() %54 A$*3A54 &'4$; %-*->&%(134$ $*-8*$81$%;=:, +*5) *,-3=<X$4 =:*-;&) $4:.=&), 
@5,') 8<.=&=,;134( 8<4>&%;=0 #-.;=0. 
 

 
 
 

 
 
 

 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
3. GB;-#+.(8( 8%-;@&'54 =$; &,1(4&'$ %54 *$,$%(,08&54 .;$ %(4 <*:,@-<8$ =$%:8%$8( 
 
W*5) 3@&; 0A( $4$7&,>&', AE- &'4$; %$ -<8;$8%;=: *,-9#01$%$ *-< *$,-<8;:6&; ( "#$%&'$. H- 34$ &'4$; $<%+ 
%() *&,;-,;8134() @,08() %() =$; %- A&E%&,- ( $;8>(%;=0 %(). D-#-4+%; A(#$A0 &'4$; 1'$ 8@&%;=: =$;4-E,.;$ 
*#$%&'$, =$; <*:,@-<4 =:*-;$ A&'.1$%$ 8@&A;$81-E *-< $*-9#3*-<4 8%(4 $;8>(%;=0 $4$9:>1;8( %(), &4 %-E%-;) 
A&4 #&;%-<,.&'. U*&;%$ $*+ &;) 9:>-) 1&#3%( %54 @$,$=%(,;8%;=?4 %() *,-3=<X$4 %$ &B0) 8<1*&,:81$%$, %$ 
-*-'$ $*-%&#-E4 =$; %(4 9:8( .;$ %(4 &,1(4&'$ =$; $B;-#+.(8( %() <7;8%:1&4() =$%:8%$8(). 
 
$. H- +%; *&,;9:##&%$; $*+ A,+1-<) %$@&'$) =<=#-7-,'$) %(4 =$>;8%: 34$ &'A-) roundabout,  %-< -*-'-< %- 
=34%,- &'4$; $*-=#&;8134- =$; 4&=,+ $*+ 650. 
 
9. ! *$,&19-#0 %,;?4 654?4 1&%$BE %54 =%;81:%54 *-< %(4 *&,;9:##-<4 =$; %-< =&4%,;=-E @?,-< 8<4%&'4&; 
$=+1$ *&,;88+%&,- 8%(4 $*-1+458( %-< =&4%,;=-E $<%-E @?,-<. 
 
.. L; $45%3,5 AE- #&;%-<,.;=-' #+.-; 8<4-A&E-4%$; $*+ %(4 $;8>(%;=0 %54 =%;81:%54 *-< %(4 *&,;9:##&;. W*5) 
0A( $4$73,>(=&, %$ =%',;$ $<%: &'4$; =$%$8=&<3) &%&,+=#(%() $;8>(%;=0) 1& =<,'5) &B$%-1;=&<134&) 8%<#;8%;=3) 
&*;#-.3).  
 
A. H$ &*' 13,-<) 8%-;@&'$ +*5) *.@. -; &*;.,$73) =$; :##&) 34>&%&) =$%$8=&<3) @$,$=%(,'6-4%$; &*'8() $*+ 
.&4;=0 8E.@<8(, @5,') -*-;&8A0*-%& $,@3) 0 =$4+4&). G4%'>&%$ 1:#;8%$, 1& &<%&#&') =$; $*#-V=-E) %,+*-<) 
*,-8*$>-E4 4$ *,-9:#-<4 =$; 4$ A;$7(1'8-<4 %-4 @?,- 8%-4 -*-'- $40=-<4. 
 
&. R(1&;$=: &17$4'6-4%$; 7$;4+1&4$ =$%:#(X() %54 *&6-A,-1'54 1& %34%&) =$; :##&) =$%$8=&<3), -; -*-'&) 
&*'8(), &4? *$,-<8;:6-<4 =:*-;$ 7,-4%'A$, &4 %-E%-;) &*&;A0 *,-=E*%-<4 %<@$'$, A&4 8<19:##-<4 8%(4 
A(1;-<,.'$ 1'$) &4;$'$) &;=+4$) <X(#0) $;8>(%;=0). 
 
W8-4 $7-,: $<%0 =$>’ &$<%0 %(4 "#$%&'$ =$; %$ 8<8%$%;=: *-< A;$1-,7?4-<4 %(4 7<8;-.451'$ %() 
*$,$%(,-E4%$; %$ &B0): 
 
$. L =&4%,;=+) %() @?,-) =$%$#$19:4&%$; $*+ %;) =%;8%3) 6$,4%;4;3,&). G<%+ 3@&; 5) $*-%3#&81$ %-4 
=$%$=&,1$%;81+ %-< =$; *&,;-,;81+ %54 A<4$%-%0%54 $4:*%<B() 8%-4 @?,- $<%+ =:*-;$) 1-,70) =-;454;=?4 
A,$8%(,;-%0%54. 
 
9. ! =$%:%1(8( %-< 10=-<) %() 8& %,'$ A;$=,;%: &*'*&A$ #&;%-<,.&' A&81&<%;=: 5) *,-) %(4 &*;><1(%0 
*-##$*#+%(%$ @,08&54 %().  
 
.. H- 8@01$ %-< *&,;.,:11$%-) %() *$;A;=0) @$,:) $*#: &*$4$#$19:4&; %- +,;- 1& %-<) A,+1-<), @5,') 
;A;$'%&,( 7,-4%'A$ .;$ %(4 -,.:458( &4+) @?,-< 1& 8<.=&=,;134( .&51&%,'$.  

 
 

 
 
 
 
 

 
 
 
 

 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
A. ! 8@38( %-< *&,;.,:11$%-) $<%-E 1& %- +,;- %54 A,+154 <#-*-;&'%$; 1& 7<%&134( 6?4(, ( -*-'$ &'4$; 8%(4 
-<8'$ 4&=,0 =$; @5,') 4+(1$, ;A;$'%&,$ 8%( 4+%;$ =$; $4$%-#;=0 *#&<,: +*-< *$,$%(,&'%$; =$; <X-1&%,;=0 
A;$7-,: 1&%$BE %() 6?4() $<%0) =$; %-< A,+1-<. R%$ *$,%3,;$ ( 9$8;=0 7E%&<8( &'4$; %- .,$8'A; %- -*-'-- 
&=%+) %-< +%; A&4 &'4$; @$,$=%(,;8%;=+ %() C##(4;=0) @#5,'A$) &'4$; $4%;-;=-#-.;=+ #+.5 %() 1&.:#() $4:.=() 
4&,-E.  
 
&. L <*$'>,;-) @?,-) *-< *,--,'6&%$; .;$ <*$'>,;- >3$%,-, &'4$; @5,') ;A;$'%&,( %$<%+%(%$ =<,'5) #+.5 %() 
1-,70) =$; %-< <#;=-E %54 =&,='A54 $##: =$; %() =$%$8=&<0) %54 8%&.:8%,54 %-< "4&<1$%;=-E F34%,-<. 
 
8%. L; @$,:B&;) =$; %$ 8@01$%$ %54 *$,%&,;?4 8& -,;8134$ 8(1&'$ +*5) *.@. 1*,-8%: $*+ %(4 *$;A;=0 @$,: 
&'4$; =<,'5) A;$=-81(%;=-E @$,$=%0,$ =$; A;$8*-E4 %-4 @?,- 8& A;$A,+1-<), *-< A&81&E-<4 %(4 &#&E>&,( 
@,08( %-< @?,-<.  
 
6. K5%;81+) 
 
  C17$4'6&%$; 1'$ *-;=;#'$ $*+ 75%;8%;=: 8?1$%$ A(#$A0: 
 
- $*-1;108&;) «=#$88;=?4»0 «*$,$A-8;$=?4» 8%-4 *;- &85%&,;=+ @?,-. 
- 8%E#-; .;$ %-4 75%;81+ %54 *&,;1&%,;=?4 A,+154 %54 -*-'54 ( $;8>(%;=0 &'4$; 8E.@,-4(, =$; 1& $,=&%: 
%&@4;=: *,-9#01$%$. 
R%- &85%&,;=+ %() *$;A;=0) @$,:) <*:,@-<4 %,&;) A;$7-,&%;=-' %E*-; 75%;8%;=?4. 
 
! @5,->3%(8( %54 75%;8%;=?4 &'4$; 8<1*%51$%;=0 =$; 3@&; .'4&; @5,') 1&#3%( 75%;81-E. 
 
 

 

 
 
 
 
 
 
 

 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
/CQHCJ!  Q"LC2LH!HG – M KGR! 
 
4. G,@3) 8@&A;$81-E 
 
U*&;%$ $*+ 1&#3%( +#54 %54 8%-;@&'54 $<%?4, ( C,&<4(%;=0 L1:A$ &'@& 4$ $4%;1&%5*'8&; 34$ 8-9$,+ A'#(11$. 
\ >$ *,-@5,-E8& 8%(4 A;$1+,758( *,-%:8&54 -; -*-'&) >$ &'@$4 5) $4%;=&'1&4- %(4 $*-8*$81$%;=0 
*,-8*:>&;$ 1;=,-&*&19:8&54 =$; A;-,>?8&54 8& 1&1-45134$ 8(1&'$ %() "#$%&'$) 0 >$ *,-@5,-E8& 8& 
A;&,&E4(8( *,-%:8&54 =$; &;8(.08&54 -; -*-'&) >$ 0%$4 .&4;=-E @$,$=%0,$ =$; -; -*-'&) >$ -A(.-E8$4 8& 
,;6;=0 $4$1+,758( %-< @?,-< 8<4-#;=: =$; 8& *-##: &*'*&A$. 
 
H+8- .;$ #+.-<) *#$;8'-< &4+) C,&<4(%;=-E ",-.,:11$%-), +8- +15) =$; .;$ #+.-<) -<8'$) =$; &*;A'5B() &4+) 
$B;+#-.-< =$; *,+%<*-< $*-%&#381$%-) <;->&%0>(=&  ( A&E%&,( &*;#-.0. 
 
U%8; $*+ %(4 $B;-#+.(8( %() <*:,@-<8$) =$%:8%$8() *,-3=<X$4 =$; A;$1-,7?>(=$4 -; *;- =:%5 $,@3) 
8@&A;$81-E =$; 8%+@-;: 
 
- R& #&;%-<,.;=+ =$; A-1;=+ &*'*&A-:  
 
C*$4$8@&A;$81+) %-< @?,-< %() *#$%&'$) 8<4-#;=: 3%8; ?8%& 4$ *,-=EX&; 34$) %+*-) $4-;=%+) 8%(4 =-;4+%(%$, 
- -*-'-) 4$ &*;%,3*&; $##: =$; 4$ *,-=$#&' %(4 $4:*%<B( %+8- -,.$4513454 +8- =$; $*,+9#&*%54 @,08&54. 
 
- C;8$.5.0 4354 8<.=&=,;13454 8%-;@&'54 %$ -*-'$ 4$ *,-8A?8-<4 ;A;$'%&,( %$<%+%(%$ =$; &4;$'- @$,$=%0,$ 
8%(4 *#$%&'$. 
 
- C;8$.5.0 *,-%:8&54 .;$ 9;-=#;1$%;=0 $B;-*-'(8( %() (#;$=0) =<,'5) &43,.&;$) 3%8; ?8%& ( *#$%&'$ 4$ 
$*-%&#38&; *,+%<*- -;=-#-.;=-E 8@&A;$81-E, =$; 138- $4:*%<B() -;=-#-.;=0) 8<4&'A(8(). 
 
- C*$4$8@&A;$81+) %-< 75%;81-E 3%8; ?8%& - @?,-) 4$ $*-=%08&; *-;+%(%$, 4$ .'4&; 7;#+B&4-) +#&) %;) ?,&), 
=$; 4$ .'4&; 34$ &'A-) 3,.-< %3@4() 8& 1&.:#( =#'1$=$. 
 
- C*;#-.0 <#;=?4 *-< 4$ $4%$*-=,'4-4%$; 8%;) 8E.@,-4&) $*$;%08&;) -;=-#-.;=-E 8@&A;$81-E, A(#$A0 4$ &'4$; 
7;#;=: *,-) %- *&,;9:##-4, =$; ( 8E8%$8( %-<) 4$ 1(4 A(1;-<,.&' %;) 8<4>0=&) .;$ 8<88?,&<8( >&,1-=,$8;?4. 
 
- C*$4$8@&A;$81+) %() 7E%&<8() 3%8; ?8%& 4$ =$%$8%&' *;- #&;%-<,.;=0, 9;-=#;1$%;=0 =$; 8<4&*0) *,-) %(4 
&##(4;=0 @#5,'A$. 
 
-  F$%$8=&<0 8;4%,;9$4;-E 8%- 4+%;-, %,;.54;=+ %101$. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

"$,$A&'.1$%$ *#$%&;?4 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5. "&,;.,$70 %54 *,-%:8&54 
 
L; *,-%:8&;) *-< =$%$%'>&4%$; @5,'6-4%$; 8& &*' 13,-<) >&1$%-#-.;=3) &4+%(%&) -; -*-'&) $4%;8%-;@-E4 8& 
A;$7-,&%;=3) =$%(.-,'&) &,.$8;?4.  
C4 %-E%-;) +#&) -; &*;13,-<) >&1$%-#-.;=3) &4+%(%&) &4%:88-4%$; 8%(4 .&4;=+%&,( #-.;=0, %-<) 8%+@-<) =$; %- 
*#$'8;- %54 $,@?4 8@&A;$81-E *-< 3@-<4 %&>&'.    
 
L; &4+%(%&) $4%;8%-;@-E4 8%;) &B0) =$%(.-,'&) &,.$8;?4. 
 
5.1 G,@;%&=%-4;=: 
5.2 K5%;81+) 
5.3 D(@$4-#-.;=:/ !#&=%,-#-.;=:  
5.4 K5%-9-#%$V=: 
5.5 KE%&<8( 
 
 
5.1 G,@;%&=%-4;=: 
 
/;&,&<40>(=$4 AE- 8<4>&%;=3) A<4$%+%(%&) $4$8<.=,+%(8() %54 @?,54 %() "#$%&'$). F$; 8%;) AE- $<%3) 
A<4$%+%(%&) <*:,@-<4 =-;4: >&1&#;?A( 8<8%$%;=:. /;$7-,-*-;-E4%$; 1+4-4 8& 8@38( 1& %(4 3=%$8( %-< 
=&4%,;=-E &*;*3A-< %-< @?,-<. 
 
M$8;=0 #&;%-<,.;=0 &*;#-.0 &'4$; ( A(1;-<,.'$ &4+) @?,-< - -*-'-) 4$ &*;A3@&%$; =$; 4$ 1*-,&' 4$ *$,$#:9&; 
A;$7-,&%;=3) @,08&;), .;$ +#&) %;) =$%(.-,'&) @,(8%?4. C;A;=+%&,$ , =$; 3*&;%$ $*+ $4:#<8( %54 *,-9#(1:%54 
%() &<,E%&,() *&,;-@0), >&5,0>(=& 8=+*;1- ( #$V=0 $.-,: *-< 801&,$ .'4&%$; 8& =:*-;-<) $*+ %-<) 
.&;%-4;=-E) A,+1-<) 4$ 1*-,&' 4$ -,.$4?4&%$; 8%(4 "#$%&'$. G<%+ 8(1$'4&; +%; >$ *,3*&; - =&4%,;=+) @?,-) 4$ 
&'4$; &#&E>&,-). ! &#&<>3,58( %-< =&4%,;=-E @?,-< &*;%,3*&; &*'8() %(4 $4:*%<B( 8& $<%+4 *-##$*#?4 
-,.$4513454 0 $<>+,1(%54 A,$8%(,;-%0%54 =$; %(4 &4$##$.0 %-<) 8%- @,+4-. C4A&;=%;=: >$ 1*-,-E8$4 4$ 
A;&,&<4(>-E4 -; *;>$4+%(%&) -,.:458() $4>-=-1;=0) 3=>&8(), 3=>&8() $4%;=?4 0 *$#$;?4 $<%-=;40%54, 
3=>&8() 9;9#'-< 0 -;=-#-.;=?4 *,-V+4%54, >&$%,;=?4 0 1-<8;=?4 &=A(#?8&54 8& +#( %(4 3=%$8( %() *#$%&'$) 
=$; +@; 1+4- 8%-4 @?,- %-< <*$'>,;-< $17;>&:%,-< =.#.*. H$<%+@,-4$ ( $*&#&<>3,58( %-< =&4%,;=-E @?,-< 
$*+ -.=?A&;) 1+4;1&) =$%$8=&<3) &*;%,3*&; %(4 $4:*%<B( -1$A;=?4 *$;@4;A;?4 *-##$*#?4 1-,7?4, '85) 
$=+1( =$; @;-4-A,-1;?4 – *$.-A,-1;?4 0 :##54 A,$8%(,;-%0%54 *-< 4$ 8<4A3-4%$; 1& %;) &*-@;=: 
A;$7-,-*-;-E1&4&) =$;,;=3) 8<4>0=&) %() 2. "&4%3#().   
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

"$,$A&'.1$%$ *#$%&;?4 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.1.1 
RE1754$ 1& %- 8=&*%;=+ $<%+ %- 1&8$'- – =&4%,;=+ &*'*&A- &*;1(=E4&%$; *,-) %-4 @?,- %() *$;A;=0) @$,:), =$; 
$*-1$=,E4-4%$; -; =%;8134&) 6$,4%;4;3,&). 
! &*;10=<48( %-< @?,-< $<%-E =$; $*-1:=,<48( %54 -.=5A?4 =%;8%?4 =$%$8=&<?4, $*&#&<>&,?4-<4 %- 
&*'*&A-, =$; $704-<4 %o4 @?,- &#&E>&,- =$; ;=$4-E 1&.3>-<) .;$ %(4 <*-A-@0 %54 &*;><1(%?4 *-##$*#?4 
@,08&54 (N$V=0, C=>38&;) , C=A(#?8&;) =.#.*.). 
! &*;7:4&;$ %-< =&4%,;=-E @?,-< &*;8%,?4&%$; 1& X<@,+ $4-;@%+@,51- &#$8%-1&,0 #&*%-%:*(%$  ?8%& 4$ &'4$; 
A<4$%+) - $*-%&#&81$%;=+) =$>$,;81+) =$; *#E8;1- %-<. 
W#&) -; :##&) &*;7:4&;&) %() *#$%&'$), %54 *&6-A,-1'54 =$; %54 A,+154 &*;8%,?4-4%$; 1& =<9+#;>-<) %&@4(%0) 
*$#$'58() (13&=.X13&=), X<@,0) 8E8%$8(). 
D& %(4 %&#&<%$'$ $<%0 &*;#-.0 - @?,-) %() *#$%&'$) &4-*-;&'%$; 1& %;) &*;7:4&;&) *-< %(4 *&,;9:##-<4, 
A;&<,E4-4%$) 3%8; %$ +,;$ %().  
5.1.2 
! *$;A;=0 @$,: &*$4$8@&A;:6&%$;. H- *&,'.,$11$ %() *,-%&'4&%$; 4$ .'4&; =<=#;=+ 3%8; ?8%& 4$ $*-=%08&; 
8<.=&=,;134( .&51&%,;=0 1-,70. H- 8%&7:4; *-< A(1;-<,.&'%$; $*+ %( 43$ *&,'7,$B( %-4'6&%$; $*+ .,$11;=+ 
75%;81+ (9#. 1&#3%( 75%;81-E) ?8%& 4$ $*-%&#38&; 34$ 801$ &;8+A-< 8%-4 /01-. ":45 8%(4 *&,'7,$B( 
*,-%&'4&%$; ( $4$,,'@(8( 7<%-E. 
"#(8'-4 %() &;8+A-< %() "$;A;=0) T$,:) %-*->&%&'%$; .#<*%;=0 =$%$8=&<0 ( -*-'$ *&,;#$19:4&; 75%-9-#%$V=+ 
=$; 75%;8%;=+. ! =$%$8=&<0 #&;%-<,.&' 8<19-#;=: 5) $4$7-,: 8%(4 &4&,.&;$=0 *,-83..;8( %-< 8@&A;$81-E, 
=$>?) &*'8() =$; 5) 801$ .;$ %(4 "#$%&'$.  
"&,;1&%,;=:, =$; #+.5 %54 <X-1&%,;=?4 A;$7-,?4 8& 8@38( 1& %$ *&6-A,+1;$ =$%$,.-E4%$; %$ =%;8%: *&6-E#;$ 
=$; *,-9#3*-4%$; *,$40 7<%&134$ 1& >:14-<).  
R%- &85%&,;=+ %() "$;A;=0) T$,:) %$ *$;@4'A;$ &*$4$%-*->&%-E4%$; ?8%& 4$ &4%$@>-E4 8& 34$ %101$ %(), &4? 
%- <*+#-;*- %101$ 134&; &#&E>&,-. ! *&,;-@0 %54 *$;@4;A;?4 A;$8%,?4&%$; 1& %:*(%$, &4? - <*+#-;*-) @?,-) 
*$,$134&; *$%(134- @?1$.  
 
5.1.3 
L @?,-) %-< <*$'>,;-< $17;>&:%,-< &*$4$8@&A;:6&%$; 3%8; ?8%& 4$ $4$9$>1;8%&' #&;%-<,.;=: =$; $;8>(%;=:. 
",-%&'4-4%$; 8<.=&=,;134$ %$ &B0): 
- &*$4$@:,$B( %54 =&,='A54 1& 8<1*#(,?8&;) 3%8; ?8%&  ( 1-,70 %-<) 4$ &'4$; =<=#;=0. 
- *,-8>0=( AE- &*;*#3-4 9$>1'A54 ?8%& 4$ $<B(>&' ( @5,(%;=+%(%$ 8& >38&;), $##: =$; 4$ $*-=%08&; *;- 
-<8;$8%;=0 <*+8%$8( %- =-'#-4. 
- =$%$,.&'%$; %- *,-&B3@-4 %101$ %-< <*+8%&.-< 1*,-8%: $*+ %- "4&<1$%;=+ F34%,- =$; &*$4$8@&A;:6&%$; %- 
<*+#-;*- ?8%& 4$ *$,$#:9&; 75%-9-#%$V=:.  
- 8%- <X(#+%&,- &*'*&A- *:45 $*+ %- "4&<1$%;=+ F34%,- *,-%&'4&%$; ( =$%$8=&<0 43-< <*+8%&.-< %- -*-'- 
&*'8() 8%&.:6&%$; 1& 75%-9-#%$V=:. H- <*+8%&.- #&;%-<,.&' 5) *,-8%$%&<134-) (1;<*$'>,;-) @?,-) 1& *#0,( 
>3$ +#() %() *#$%&'$) $*+ X(#:. R& 8<.=&=,;134&) >38&;) %() =$%$8=&<0) $<%0) >$ 1*-,-E4 4$ 8%&,&5>-E4 -; 
*,-9-#&') .;$ %;) *$,$8%:8&;).  
- 8& 8<.=&=,;134- 8(1&'- %-*->&%&'%$; .#<*%;=0 =$%$8=&<0 ( -*-'$ *&,;#$19:4&; 75%-9-#%$V=: 75%;8%;=: =$;   
8%(4 -*-'$ 1*-,-E4 &*'8() 4$ 8%&,&5>-E4 *,-9-#&') .;$ %;) *$,$8%:8&;).  
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

&#$8%-1&,0) #&*%-%:*(%$) =<9+#;>-) %&@4(%0) *$#$'58() 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
K?%- 1& *,--*%;=: 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.1.4 
H- *&6-A,+1;- =$%: 10=-) %54 +X&54 %-< G4$%-#;=-E -,'-< %() "#$%&'$) A;$*#$%E4&%$; 1& 8=-*+ %(4 
A(1;-<,.'$ @?,-< .;$ %-*->3%(8( %,$*&6-=$>;81:%54 $7’ &4+) $##: =$; @?,-< *,-8%$%&<134() ='4(8() 
*&6?4.  
 
5.1.5 
F$%: 10=-) %54 AE- 1&.:#54 *#&<,?4 %() =$; 8& 1;=,0 $*+8%$8( $*+ %;) *$,&;3) %54 =%;81:%54, 
*,-9#3*-4%$; AE- .,$11;=3) <*+8%&.&) =$%$8=&<3) $*+ 8=&#&%+ $4%;=-##(%0) B<#&'$) =$; &*;=:#<X( &'%& 1& 
@$#=+, &'%& 1& *&,8'A&). D& %;) =$%$8=&<3)  $<%3) &*;%<.@:4-4%$; %$ &B0): 
- A(1;-<,.'$ &4+) 1&%?*-< &4;$'-< @$,$=%0,$ 1&%$BE %() "#$%&'$) =$; %54 =%;81:%54 *-< %(4 *&,;9:##-<4, 
@5,') :##&) &*&19:8&;) 8%;) +X&;) %54 =%;,'54 $<%?4. L @$,$=%0,$) $<%+) &'4$; AE- .,$11;=?4 8%-?4, -; 
-*-'&) -,'6-<4 %;) *#&<,3) %() "#$%&'$), 8<4;8%-E4 %- *,?%- -*%;=+ &*'*&A- =$; %- :1&8- *#$'8;- $4$7-,:) 
%(). 
- A(1;-<,.'$ 1'$) *,-8%$%&<134() ='4(8() =$%: 10=-) %54 *#&<,?4 $<%?4. 
- A<4$%+%(%$ *,-8%$%&<13454 =$>;8%;=?4. 
- $4:,%(8( $*+ %(4 =$%$8=&<0 $<%0 *;4$='A54, 75%;8%;=?4 =$; :##54 34>&%54 8%-;@&'54 %54 -*-'54 %$ 
1&.3>(, ( 1-,70 =$; %$ <#;=: 4$ 3@-<4 &4;$'- @$,$=%0,$, =$; 4$ A;$%(,-E4 %$ 8%-;@&'$ &%$;,;=0) %$<%+%(%$) %54 
A;$7(1;6+1&454 @,08&54 <*+ 8@&%;=+ 3#&.@-. 
- *,-85,;40 $4:,%(8( $*+ %(4 =$%$8=&<0 #$9:,54, *$4+, =#*. 8& *&,;*%?8&;) -,.:458() =:*-;54 
7&8%;9:#, 0 :##54 .&.-4+%54 *&,;-A;=-E @$,$=%0,$. 
 
5.1.6 
F$%$8=&<0 &4+) 1;=,-E @?,-< =<#;=&'-< *#(8'-4 %() "$;A;=0) T$,:) .;$ %(4 &B<*(,3%(8( %54 .-4354 %54 
*$;A;?4. H- =<#;=&'- >$ &'4$; 1'$ 8%-;@&;?A() =$%$8=&<0 $*+ *3%,$, %() -*-'$) %- 1&.$#E%&,- %101$ >$ &'4$; 
@5134- 8%- *,$43) 1& %- -*-'- 9,'8=&%$; 8& &*$70 =$; >$ =$#E*%&%$; 1& 7<%&134- A?1$.  
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

&4$##$=%;=3) *,-%:8&;) 8%-?4 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.1.7 
! %,;.54;=0 *&,;-@0 8%- 2+%;- :=,- &*$4$8@&A;:6&%$; 5) 8;4%,;9:4;.  
 
N+.5 %() &B$;,&%;=0) 8(1$8'$) %-< 5) %- *,?%- 8%-;@&'- *-< 8<4$4%: =$4&') +%$4 *,-8&..'6&; %(4 "#$%&'$, - 
8@&A;$81+) %-< 8;4%,;9$4;-E 3.;4&, 3%8; ?8%& 4$ 3@&; 8<.=&=,;134( *$,-<8'$ @5,') +15) 4$ &*;9:##&%$; 0 4$ 
#&;%-<,.&' $4%$.54;8%;=: 8& 8@38( 1& %(4 "#$%&'$, %$ &*' 13,-<) 8<8%$%;=: =$; %;) $,@3) 8@&A;$81-E %().  
 
U%8; %- 8;4%,;9:4; 8@&A;:8%(=& 5) 1'$ 8<4-#;=0 8E4>&8(, 8%- *4&E1$ 8@&A;$81-E %() <*+#-;*() "#$%&'$). 
"$,$=-#-<>?4%$) %(4 7<8;=0 =#'8( %-< &A:7-<), A;$1-,7?4-4%$; %388&,;) &*;7:4&;&) 4&,-E 8& =#;1$=-E1&4&) 
8%:>1&). H- 4&,+ ,3&; =$; *37%&; 8%$A;$=: $*+ %(4 X(#+%&,( &*;7:4&;$ 8%(4 *;- @$1(#0. R& 8<.=&=,;134&) 
>38&;) *,-9#3*-4%$; AE- 8<8%-;@'&) $*+ *'A$=&), =$>?) &*'8() =$; =-11:%;$ 9,:@54 *-< A(1;-<,.-E4 34$ 
<.,+ %-*'-. 
L; <7;8%:1&4&) >38&;) 8%:>1&<8() =$%$,.-E4%$; =$; 8%(4 >38( %-<) 7<%&E-4%$; @$1(#: A34A,$. 
 
5.1.8 
H$ *#:%( %54 1&.:#54 -A?4 &=$%3,5>&4 %() *#$%&'$), 1&;?4-4%$;, &4? A;$1-,7?4-4%$; %$ *&6-A,+1;$ 1& 
%,+*- *-< 4$ *,-=E*%&; 1'$ &4$##$.0 1&%$BE *&6-A,-1'-<, @?,54 8%:>1&<8() =$; A,+1-<. D& %-4 8@&A;$81+ 
$<%+ &*;%<.@:4&%$; =$%’ $,@:) ( &#:%%58( %() %$@E%(%$) %54 -@(1:%54, =$>?) &*'8() =$; ( $##(#-A;&'8A<8(  
%54 &*;7$4&;?4 %() *#$%&'$) 1& %-<) A,+1-<) =$; %$ *&6-A,+1;$. 
 
5.1.9 
]##&) &*;#-.3): 
O) -<8;$8%;=+ =$; $4$*+8*$8%- %101$ %() 8<4-#;=0) 8<4>&%;=0) *,+%$8() .;$ %-4 @?,- *,-9#3*-4%$; %$ &B0): 

- %-*->3%(8( 9<>;6+1&454 =:A54 $*-,,;11:%54 8& 5 &*;#&.134$ 8(1&'$ %() *#$%&'$). R& =:>& >38( 
*,-%&'4-4%$; %,&;) =:A-;, &= %54 -*-'54 - 34$) >$ &'4$; =:A-) $4$=E=#58(). 

-1;=,0 1&%$%+*;8( %-< <*:,@-4%-) *&,;*%3,-< ?8%& 4$ <*:,@&; 34$) 8%-;@&;?A() @?,-) 1*,-8%: %-< .;$ 
@,08( $*+ %- =-;4+. 

- 1;=,0 1&%$%+*;8( %54 AE- BE#;454 =$>;8%;=?4 ?8%& 4$ $*&#&<>&,5>&' - =&4%,;=+) @?,-) %() *#$%&'$). 
- A;$%0,(8( %54 <7;8%:1&454 1;=,?4 =:A54 =$; &*$4$%-*->3%(80 %-<). 
- *,+9#&X( 801$48() 8%$ 8(1&'$ &;8+A-< 8%(4 *#$%&'$ %54 A$*3A54 .;$ =$>-A0.(8( %54 %<7#?4. 
- $4%;=$%:8%$8( %54 <7;8%$13454 *$.=$=;?4 1& 43$ =$; 8& 43&) >38&;). 
- $4$=E=#58( %54 1$,1:,54 *-< >$ $7$;,&>-E4 $*+ A;:7-,$ =$%$,.-E1&4$ *&6-E#;$ =$; %-*->3%(8( %-<) 
8& +#$ %$ *&6-E#;$ *-< A;$%(,-E4%$; 0 =$%$8=&<:6-4%$;.  

 
5.1.10 
F$%$8=&<0 43-< A;=%E-< 8<##-.0) =$; A;:>&8() %54 -19,'54. ",-%&'4&%$; -; 8@:,&) 4$ &'4$; 1$,1:,;4&).  

 

 
 
 
 
 
 
 
 
 
 
 
 
 

9<>;6+1&4-; =:A-; BE#;4$ *$.=:=;$ 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.2 K5%;81+) 
 
M$8;=+ 8<8%$%;=+ .;$ %(4 #&;%-<,.'$ $##: =$; .;$ %(4 .&4;=+%&,( $;8>(%;=0 =$; %(4 &;=+4$ %() "#$%&'$) $*-%&#&' - 
75%;81+). 
H- 8<8%$%;=+ $<%+ 3@&; $4%;1&%5*;8%&' =$; 8@&A;$8%&' 5) 13,-) %() 8<4-#;=0) 8E4>&8() =$; %() $,@;%&=%-4;=0) 
%-< @?,-< 1& %;) &B0) *$,$A-@3): 
- &4A<4:158( %-< =&4%,;=-E @?,-< =$; %-< =&4%,;=-E :B-4$ *-< &4-*-;&' %$ %,'$ &*'*&A$. 
- %-4;81+) =$; 8(1$8;-A+%(8( %54 &.=:,8;54 =;408&54 1& .,$11;=: 75%;8%;=: A$*3A-<. 
- %-4;81+) =$; $4:A&;B( %-< =<=#;=-E *&,;.,:11$%-) %() "$;A;=0) T$,:). 
- $4:A&;B( %54 &*;*3A54 =$; %54 :##54 8%-;@&'54 %-< 8;4%,;9$4;-E.   
 
! *,+%$8( .;$ %-4 75%;81+ *&,;#$19:4&;: 
- 75%-13%,(8( +#54 %54 @?,54, %54 =$%$8=&<?4 =$; %() 7E%&<8(), =$; $4:A&;B( %54 8%-;@&'54 $<%?4. 
- &*;#-.0 %54 75%;8%;=?4 8E1754$ 1& %(4 75%-13%,(8( =$; %(4 .&4;=+%&,( $;8>(%;=0 =$; %-4 &*;A;5=+1&4- 
@$,$=%0,$ %-< @?,-<. 
 
R%- *$,:,%(1$ &*;8<4:*%&%$; ( *#0,() 1&#3%( .;$ %-4 75%;81+. 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
5.3 D(@$4-#-.;=:/ !#&=%,-#-.;=: 
 
1. H&@4;=0 "&,;.,$70 
 
1.1 "&,'#(X( %-< $4%;=&;134-< %-< 3,.-< 
 
! !#&=%,-1(@$4-#-.;=0 1&#3%( $4$73,&%$; 8%-4 75%;81+ %() *#$%&'$) %-< /01-< 2."&4%3#() =$; %() -A-E 
!,?54 "-#<%&@4&'-< *-< %(4 *&,;9:##&;. M$8;=+) 8%+@-) &'4$; ( $4:A&;B( *&,;9$##-4%;=?4 %&@4-#-.;?4 
1& %(4 &.=$%:8%$8( 75%-9-#%$V=?4 *$43#54 =$; %(4 @,08( 1&>+A54 &B-;=-4+1(8( &43,.&;$). F<,'5) 
=$#E*%&; %;) (#&=%,-#-.;=3) $4:.=&) %-< 75%;81-E %() *#$%&'$) =$; %() =$7&%3,;$) *-< A(1;-<,.&'%$;. 
G*-%&#&' %101$ 1;$) &<,E%&,() 1&#3%() G,@;%&=%-4;=0)-!/D *-< 8=-*+ 3@&; %(4 $4$9:>1;8( %() *#$%&'$), 
@,(8;1-*-;?4%$) 7;#;=3) *,-) %- *&,;9:##-4 %&@4-#-.'&). 
 
1.2. H- U,.- *,-) <#-*-'(8( 
 
H- !#&=%,-1(@$4-#-.;=+ 3,.- *-< >$ &=%&#&8%&' $7-,:: 
! %-4 75%;81+ $4:A&;B() %() *#$%&'$) 8%(4 43$ %() 1-,70, *&,;#$19:4-4%$) =$; %- =-11:%; %() 
*$;A;=0) @$,:) 
! %-4 43- -A-75%;81+ *-< >$ &.=$%$8%$>&' 8%- *&6-A,+1;- *-< *&,;9:##&; %(4 *#$%&'$ 
! %;) (#&=%,-#-.;=3) <*-A-13) *-< $*$;%-E4%$; .;$ %(4 %,-7-A+%(8( %-< 75%;81-E $<%-E 
! %(4 (#&=%,;=0 <*-A-10 %() 8%-:) 8%$ *&6-A,+1;$ $*34$4%; %() *#$%&'$) 
! %(4 (#&=%,;=0 &.=$%:8%$8( %() =$7&%3,;$) *-< >$ =$%$8=&<$8%&' A'*#$ 8%(4 *$;A;=0 @$,: 
! %(4 (#&=%,;=0 *$,-@0 %-< *'4$=$ *-< >$ %,-7-A-%&' %- 8<4%,;9:4; 8%(4 &'8-A- %() *#$%&'$) 
! %(4 (#&=%,;=0 <*-A-10 %-< 1;=,-E >&:%,-< 8%- *:45 13,-) %() *#$%&'$), .;$ %(4 =:#<X( %54 
&=A(#?8&54 *-< >$ *,$.1$%-*-;-E4%$; 8%- @?,- $<%+ 
! %$ 75%-9-#%$V=: *-< >$ &.=$%$8%$>-E4 8%- *4&<1$%;=+ =34%,- =$; 8%- A(1-%;=+ 8@-#&'- =$>?) 
&*'8() =$; %-4 $*$,$'-%(%- &B-*#;81+ .;$ %(4 $B;-*-'(8( %() *$,$.+1&4() ;8@E-) 
! %(4 %-*->3%(8( AE- 1&.:#54 $<%+4-154 =$%$8=&<?4 1& 75%-9-#%$V=$ *$43#$ =$; *,-9-#&') 
&4%+) %() *#$%&'$) 
! %- 8E8%(1$ A;$@&',;8() =$; &4&,.&;$=0) &B-;=-4+1(8() %-< 75%;81-E %() *#$%&'$) =$; %-< 43-< 
-A-75%;81-E 
! %(4 $*-@3%&<8( %54 +19,;54 <A:%54, =$; %54 $4%'8%-;@54 8@$,?4 *,-) %- <*:,@54 A'=%<- 
$*-@3%&<8() %-< /01-< 1& %;) =$%:##(#&) ,08&;) 
 
1.2.1. Q*:,@-<8$ =$%:8%$8( 
 
R01&,$ ( (#&=%,-#-.;=0 &.=$%:8%$8( %() *#$%&'$) *&,;#$19:4&;: 
! %-4 <*:,@-4%$ 75%;81+ %() *#$%&'$), %- $;8>(%;=+ $*-%3#&81$ %-< -*-'-< A&4 &'4$; %- &*;><1(%+ 
! %-4 -A-75%;81+ - -*-'-) &'4$; $4&*$,=0) =$; 9,'8=&%$; 8& A;:7-,$ 8(1&'$ %+8- %() *#$%&'$) +8- 
=$; %-< $*34$4%; *&6-A,-1'-<, $4$,%(134-) 8& *$#;3) =-#?4&) %() /C!, $##: =$; &B:1&%,-<) ;8%-E) $*+ 
%(4 1&,;: %() *#$%&'$), $4&4&,.+) 8& A;:7-,$ 8(1&'$, =$; @5,') =$4-4;=+%(%$ 
! AE- (#&=%,;=-E) *'4$=&) %E*-< *'##$, *-< %,-7-A-%-E4%$; $*+ %(4 /C! 1& B&@5,;8%3) *$,-@3). 
L; *'4$=&) $<%-' %,-7-A-%-E4 %-4 <*:,@-4%$ 75%;81+ %() *#$%&'$) =$; %(4 *$;A;=0 @$,:. 
! %(4 (#&=%,;=0 %,-7-A+%(8( %-< *4&<1$%;=-E =34%,-<, ( -*-'$ A&4 >$ $##:B&; $*+ %(4 *$,-E8$ 
1&#3%( 
 
 
1.2.2. F$4-4;81-'-"$,$A-@3) 1&#3%() 
 
I;$ %(4 &=*+4(8( %() *$,-E8$) 1&#3%() >$ #(7>-E4 <*' +X;4 -; *$,$=:%5 =$4-4;81-': 
 
$. ",+%<*- CNLH HD 384/12-12-02. G*$;%08&;) .;$ !#&=%,;=3) C.=$%$8%:8&;)  
 
9. L; -A(.'&) =$; $*$;%08&;) %() /C! .;$ =$%$4$#5%3) @$1(#0) %:8(). 
 
.. L; I&,1$4;=-' F$4-4;81-' DIN , VDE , IEC =#* ( .;$  >31$%$ *-< A&4 =$#E*%-4%$; $*+ %-<) C##(4;=-E) 
F$4-4;81-E)). 
 
 
 

 
 
 
! A.  I&4;=+) L;=-A-1;=+) F$4-4;81+). 
!  
! &. DIN 5044(TEL 1 =$; HCL 2), .;$ %-<) 75%-%&@4;=-E) <*-#-.;81-E). 
!  
! 6. CPE (COMMISSION INTERNATIONALE DE L' ECLAIRAGE).                      /;:7-,&) &=A+8&;) 
.;$ >31$%$ (#&=%,-75%;81-E -A?4. 
!  
! (.  F$4-4;81-' C85%&,;=?4 (#&=%,;=?4 &.=$%$8%:8&54. 
!     
! >.  LA(.'&) 8E4%$B() 1&#&%?4 3,.54 -A-*-;'$) (L.R.D.C.L), FCK 7. 
!  
! ;. H;) -A(.'&) %-< =$%$8=&<$8%0 .;$ %(4 &.=$%:8%$8( %54 ;8%?4 75%;81-E =$; %-< <*+#-;*-< 
&B-*#;81-E *-< $7-,: %(4 =$7&%3,;$, %(4 A;$@&',;8( %-< 75%;81-E =$; %$ 75%-9-#%$V=:. H-<) =$4+4&) 
%() %3@4() =$; %() &1*&;,'$) .;$ &B$;,&%;=0) *-;+%(%$) &,.$8'$, *-< 4$ $4%$*-=,'4&%$; 8%;) 
A<%;=-&<,5*$V=3) $*$;%08&;). 
!  
! 1.2.3.   "&,;.,$70 %() !#&=%,;=0)  C.=$%:8%$8() %() "#$%&'$) 
!  
! ! (#&=%,;=0 &.=$%:8%$8( %() *#$%&'$) B&=;4: $*+ %-4 "P2GFG 2-1 =$; %-4 "P2GFG 2-2. F$; -; 
AE- *'4$=&) &'4$; %E*-< *'##$, =$; %,-7-A-%-E4%$; $*+ AE- (2) B&@5,;8%3) *$,-@3) %() /C!. H- 
8E4-#- %() &.=$%:8%$8() +*5) *&,;.,:7&%$; *$,$=:%5 7$'4&%$; $4$#<%;=: 8%- $4%'8%-;@- 8@3A;- 
«!1:!#&=%,;=:-K5%;81+) "#$%&'$)» . 
!  
! G*+ %-4 "P2GFG 2-1 B&=;4-E4 11 .,$113) 75%;81-E =$; %,-7-A-%-E4 %-4 -A-75%;81+ 8%(4 
$4$%-#;=0 *#&<,: %() -A-E !,?54 "-#<%&@4&'-<, =$; %-4 75%;81+ %-< $4$%-#;=-E, %-< 9+,&;-< =$; %-< 
=&4%,;=-E =-11$%;-E %() *#$%&'$). C*'8() $*+ %-4 *'4$=$ $<%+ B&=;4-E4 -; .,$113) %,-7-A-8'$) %-< 
*'##$, >&:%,-< =$; %-4 *;4:=54 (#&=%,;=0) %,-7-A-8'$) %() 8%-:) 8%(4 $4%'8%-;@( *#&<,: %-< 
*&6-A,-1'-<. 
!  
! G*+ %-4 "P2GFG 2-2 B&=;4-E4 6 .,$113) 75%;81-E =$; %,-7-A-%-E4 %-4 -A-75%;81+ 8%(4 
A<%;=0 *#&<,: %() -A-E !,?54 "-#<%&@4&'-<, %-4 75%;81+ %() A<%;=0) *#&<,:) %() *#$%&'$), =$; %-4 
75%;81+ %() *$;A;=0) @$,:). C*'8() $*+ %-4 *'4$=$ $<%+ B&=;4-E4 -; .,$113) %,-7-A-8'$) %-< *'##$, 
8;4%,;9$4;-E =$; %-4 *;4:=54 (#&=%,;=0) %,-7-A-8'$) %() 8%-:) 8%(4 $4%'8%-;@( *#&<,: %-< 
*&6-A,-1'-<. 
!   
! L; *'4$=&) (#&=%,;=0) %,-7-A-8'$) %54 8%-?4 A;$>3%-<4 6 .,$113) (#&=%,;=?4 *$,-@?4 .;$ 
%(4 =:#<X( A;:7-,54 $4$.=?4 75%;81-E =$; ,&<1$%-A+%(8() 8& *;>$43) &=A(#?8&;) *-< 1*-,&' 4$ 
A;&B$@>-E4 8%;) 8%-3) $<%3). U@-<4 *,-9#&7>&' %,&;) (3) *'4$=&) 8%(4 $4$%-#;=0 *#&<,: ("1.1, "1.2, 
"1.3) =$; %,&;) (3) *'4$=&) 8%(4 A<%;=0 *#&<,: ("2.1, "2.2, "2.3) %() -A-E !,?54 "-#<%&@4&'-<. 
!  
! G*+ %- *'##$, >&:%,-< B&=;4-E4 4 .,$113) 75%;81-E .;$ %(4 %,-7-A+%(8( 4 *,-9-#354 500W 
3=$8%-). L; AE- *,-9-#&') >$ %-*->&%(>-E4 8& ;8%+ EX-<) 6m (+*5) 7$'4&%$; 8%- 8@3A;-) =$; -; :##-; 
AE- >$ %-*->&%(>-E4 8%- =:%5 13,-) %-< <*+8%&.-< *:45 8%- -*-'- >$ %-*->&%(>-E4 13,-) %54 
75%-9-#%$V=?4 *$43#54 %-< *4&<1$%;=-E =34%,-<. L; *,-9-#&') $<%-' >$ =$#E*%-<4 %;) $4:.=&) 
75%;81-E %-< >&:%,-<. H- *'##$, $<%+ >$ A;$>3%&; &*'8() ,&<1$%-A+%&) =$%:##(#-<) .;$ %(4 
%,-7-A-8'$ 7-,%'54 *-< *;>$4+ $*$;%(>-E4 =$%: %(4 A;$B&.5.0 &=A0#58() 8%-4 @?,- %-< >&:%,-<. 
!  
! L; <*-#-.;81-' %54 *$,-@;=?4 =$#5A'54 %54 *$,$*:45 *;4:=54 %() (#&=%,;=0) 
&.=$%:8%$8() %() *#$%&'$), =$>?) =$; -; <*-#-.;81-' %54 7-,%'54 %-<) 7$'4-4%$; 8%$ "$,$,%01$%$ 
Q*-#-.;81?4. 
!  
! ! &.=$%:8%$8( 75%;81-E *&,;#$19:4&;  A;:7-,-<) %E*-<) 75%;8%;=?4 851:%54 $4:#-.$ 1& 
%(4 *&,;-@0 =$; %(4 &*;A;=?1&4( $4:A&;B( %-< $4%;=&;134-<. ! $4$#<%;=0 *&,;.,$70 %-< 75%;81-E 3@&; 
.'4&; 8%(4 $4%'8%-;@( *$,:.,$7- 5.2. ! $4%'8%-;@( 75%-%&@4;=0 1&#3%( *$,-<8;:6&%$; 8%$ "$,$,%01$%$ 
Q*-#-.;81?4. I;$ %(4 1&#3%( $<%0 @,(8;1-*-;0>(=$4 -; &4A&;=%;=-' %E*-; %54 75%;8%;=?4 851:%54 %54 
-*-'54 -; %&@4;=3) *&,;.,$73)-*,-A;$.,$73) 7$'4-4%$; 8%- *$,:,%(1$ <*-#-.;81?4. 



 
 
";- $4$#<%;=: 3@-<1&: 
- R%(4 $4$%-#;=0 *#&<,: %() *#$%&'$) &.=$>'8%$4%$; 75%;8%;=: 8& ;8%-E) EX-<) 6m, 1& #$1*%0,&) 
1&%$##;=?4 $#-.-4;A'54, ;8@E-) 150W. H$ 75%;8%;=: $4$,%?4%$; 8& 9,$@'-4$ 90cm. R%- 8@3A;- 
8<19-#'6-4%$; 8$4 HX1 
- R%(4 A<%;=0 *#&<,: %() *#$%&'$) &.=$>'8%$4%$; 75%;8%;=: 8& 8%<#+ 6m, 1& AE- #$1*%0,&) 1&%$##;=?4 
$#-.-4;A'54, ;8@E-) 100W =$; 70W, %-*->&%(134-<) $4%'8%-;@$ 8& AE- 8%:>1&) 6m =$; 3.5m. L; 
#$1*%0,&) $4$,%?4%$; 8& 9,$@'-4&) 90cm =$; 60cm $4%'8%-;@$. R%- 8@3A;- 8<19-#'6-4%$; 8$4 !T2. 
- R%- =34%,- %() *#$%&'$) =$; =$%: 10=-) $<%0) &.=$>'8%$4%$; 75%;8%;=: 8& ;8%-E) EX-<) 3.5m, 1& 
#$1*%0,&) 1&%$##;=?4 $#-.-4;A'54, ;8@E-) 100W. R%- 8@3A;- 8<19-#'6-4%$; 8$4 HX3. 
- "&,;1&%,;=: %() *&,'7,$B() %() *$;A;=0) @$,:) =$; 8& EX-) 4m, %-*->&%-E4%$; *,-9-#&') &<,&'$) 
A381() 1& #$1%0,&) 70W. R%- 8@3A;- 8<19-#'6-4%$; 8$4 !T4. 
- R%$ =#$A;: =:*-;54 A34A,54 +*5) 7$'4&%$; =$; 8%- 8@3A;- %-*->&%-E4%$; *,-9-#&') &<,&'$) A381() 1& 
#$1*%0,&) 20W. R%- 8@3A;- 8<19-#'6-4%$; 8$4 !T5. 
- R& 8<.=&=,;134$ 8(1&'$, 8%$ %-;@'$ *-< *&,;=#&'-<4 %$ *$,%3,;$ %() *#$%&'$) %-*->&%-E4%$; @54&<%: 
75%;8%;=: 1& #$1*%0,&) 18W. R%- 8@3A;- 8<19-#'6-4%$; 8$4 FT1. 
- C.=:,8;$ %() *#$%&'$) =$; 8$4 8<43@&;$ %54 -A?4 *-< 9,'8=-4%$; =:>&%&) 8%(4 *#$%&'$ A(1;-<,.-E4%$; 
75%&;43) -A&E8&;) 1& @54&<%: &*;A$*3A;$ 75%;8%;=:, 1& #$1*%0,&) 21W. R%- 8@3A;- 8<19-#'6-4%$; 8$4 
FT2. 
- R%$ =-11:%;$ *,$8'4-< 4+%;$ %() *$;A;=0) @$,:) %-*->&%-E4%$; <*:,@-4%$ 75%;8%;=: %E*-< bollard, %$ 
-*-'$ 801&,$ 9,'8=-4%$; &4%+) %() *$;A;=0) @$,:). R%- 8@3A;- 8<19-#'6-4%$; 8$4 FT3. 
- R%- *&6+A,-1- 8%- 9+,&;- %101$ %() *#$%&'$) @,(8;1-*-;-E4%$; %$ <*:,@-4%$ 75%;8%;=: *-< 9,'8=-4%$; 
801&,$ 8%- &85%&,;=+ %() *#$%&'$). 
C*;8(1$'4&%$; +%; +#-; -; ;8%-' A;$>3%-<4 =$%:##(#$ A;$1-,75134( -*0, .;$ %(4 &'8-A- %-< =$#5A'-< 
%,-7-A-8'$) =$; $=,-=;9?%;- 1& %(4 =$%:##(#( $87$#&;->0=( =$; =#&1-8&;,:. C*'8() %- (#&=%,-4;=+ 
8E8%(1$ 34$<8() &'4$; &4851$%5134- 8%- 75%;8%;=+.  
 
I;$ %-4 75%;81+ %() *#$%&'$) =$; %- -A-75%;81+ &*;#3.&%$; 34$ «3B<*4-» 8E8%(1$ A;$@&',;8(), &#3.@-< 
=$; =<,'5) &B-;=-4+1(8() &43,.&;$). I;$ %- 8E8%(1$ $<%+ .'4&%$; $4$7-,: *$,$=:%5. 
 
! *&,;.,$70 %() &.=$%:8%$8() %54 75%-9-#%$V=?4 8%- *4&<1$%;=+ =34%,- +8- =$; 8%- /(1-%;=+ 8@-#&'- 
.'4&%$; 8%(4 $4%'8%-;@( *$,:.,$7- $4$#<%;=: 5.4. 
 
1.2.4.   "&,;.,$70 %() !#&=%,;=0)  C.=$%:8%$8() %() F$7&%3,;$) 
 
I;$ %(4 =$7&%3,;$ *-< A(1;-<,.&'%$; A'*#$ 8%(4 *$;A;=0 @$,: *,-9#3*&%$; ( (#&=%,;=0 %() %,-7-A+%(8( 
$*+ %-4 "P2GFG FGKCHCJPGR, +*5) 7$'4&%$; =$; 8%- 8@3A;- «!2: !#&=%,;=:-K5%;81+) F$7&%3,;$)». ! 
*$,-@0 %-< *'4$=$ $<%-E &'4$; $*+ %(4 /C!. ! (#&=%,;=0 &.=$%:8%$8( 7$'4&%$; $4$#<%;=: 8%- *$,$*:45 
8@3A;-. 
 
G*+ %-4 "P2GFG FGKCHCJPGR B&=;4-E4 8 .,$113) 75%;81-E *-< %,-7-A-%-E4 A;:7-,$ 0A( 75%;8%;=?4 
.;$ %(4 =:#<X( %54 :1&854 $##: =$; 1&##-4%;=?4 $4$.=?4 @,08() %() =$7&%3,;$). C*'8() $*+ %-4 
*'4$=$ $<%+ *,-9#3*&%$; ( =:#<X( &4+) ;=$4-*-;(%;=-E 8& $,;>1+ =$; ;8@E &B-*#;81-E $4$X<=%(,'-< =$; 
&8%'$8(), ?8%& 4$ &'4$; A<4$%0 ( $B;-*-'(8( %-< @?,-< $*+ %(4 /(1-%;=0 $,@0. 
 

 
 
1.3. F$#?A;$ %,-7-A-8'$) – F$4:#;$ A;3#&<8() 
 
I;$ %$ 75%;8%;=: *-< &'4$; $4$,%(134$ &*' ;8%?4 ( (#&=%,;=0 %,-7-A-8'$ .'4&%$; 1& =$#?A;- 2QQ 
4x4mm2 0 2QQ 3x4mm2 $4:#-.$ 1& %-<) <*-#-.;81-E). 
 
! <*+#-;*( &.=$%:8%$8( 75%;81-E >$ &'4$; 1-4-7$8;=0 0 %,;7$8;=0 $*+ $.5.-E) 2QQ 3x2.5mm2 0 
2QQ 5x2.5mm2 8E1754$ *:4%$ 1& %-<) <*-#-.;81-E).  
L; $.5.-' >$ -A&E-<4 <*+.&;$ 138$ 8& *#$8%;=-E) 85#04&) PC, 6atm =$%:##(#() A;$13%,-<, 138$ 8& 
=$4:#;$ *#:%-<) 50cm =$; 9:>-<) 70cm. 
 
C*'8(), .;$ +#- %- 10=-) %() A;$A,-10) *&,;1&%,;=: %-< @?,-< *-< 1&#&%:%$;, *,-9#3*&%$; 34$) 
&*;*#3-4 &7&A,;=+) 85#04$) PC K90, 6atm, .;$ *;>$40 1&##-4%;=0 @,08(.  
 
I;$ %$ %101$%$ %54 =$4$#;?4 *-< A;$8@'6-<4 &.=:,8;$ %-<) A,+1-<) =$; A3@-4%$; ;8@<,3) =$%$*-408&;) 
#+.5 %() A;3#&<8() -@(1:%54, %$ =$#?A;$  >$ -A&E-<4 138$ 8& *#$8%;=-E) 85#04&) PC, 
&.=;95%;8134-<) 8& 8=<,+A&1$. 
  
R& +#&) %;) $##$.3) A;&E><48() =$; %;) A;$8%$<,?8&;) %54 =$#5A'54, =$; *:4%5) 8& $*+8%$8( +@; 
1&.$#E%&,( %54 30m %- 34$ $*+ %- :##-, >$ <*:,@-<4 7,&:%;$ &*'8=&X(), A;$8%:8&54 40T40cm =$; 
$4$#+.-< 9:>-<). 
 
1.4. I&;?8&;) 
 
F$>' +#- %- 10=-) %() .,$110) %,-7-A-8'$) %54 ;8%?4 75%;81-E =$; A'*#$ 8%- =$4:#; A;3#&<8(), 
-A&E&; .<14+) *-#E=#54-) $.5.+) .&'58() @:#=;4-), A;$%-10) 16mm2. 
 
H- $=,o=;9?%;- =:>& ;8%-E 8<4A3&%$; 1& %-4 $.5.+ .&'58() 1385 .<14-E @:#=;4-< 1-4+=#54-< 
$.5.-E A;$%-10) 6mm2. ! 8E4A&8( %54 AE- $.5.?4  .'4&%$; 1& %( 9-0>&;$ 87;.=%0,54 138$ 8%( 9:8( 
%-< 8;A(,-V8%-E, =:%5 $*+ %(4 -*-'$ *&,4:&; =$; - $.5.+) .&'58(). 
 
L $.5.+) .&'58() 8<4A3&%$; &*'8() *,-) %( 8%&.$40 A;$4-10 138$ 8%-<) *'4$=&) %,-7-A-8'$) 2-1 =$; 
2-2 (%E*-< "PNNGJ). 
 
C*'8() - $.5.+) .&'58() =:>& .,$110) 8<4A3&%$; 8%- %3#-) %() .,$110) 8& *#:=&) .&'58() (0 
(#&=%,+A;$ .&'58()). "#:=&) .&'58() (0 (#&=%,+A;$ .&'58()) *,-9#3*-4%$; =$; 8& =:>& "PNNGJ. 
 
L; *#:=&) .&'58() >$ =$%$8=&<$8>-E4 $*+ *#:=&) @$#=-E A;$8%:8&54 500 x 500 x 5mm =$; >$ 
&.=$%$8%$>-E4 138$ 8%- 3A$7-) 8& 9:>-) 1m. 
 
1.5. C7&A,;=+) 85#04$) .;$ 1&##-4%;=3) &.=$%$8%:8&;) 
 
F$>' +#- %- 10=-) %() +A&<8() %54 .,$11?4 8%$ *&6-A,+1;$ *3,;B %() *#$%&'$) =$>?) =$; 8%- =34%,- 
$<%0) (&=&' *-< &.=$>'8%$4%$; ;8%-' 75%;81-E) >$ <*:,@&; &7&A,;=0 85#04$ JC K90, 6Atm, .;$ %(4 
A;3#&<8( =$#5A'54 *;>$40) 1&##-4%;=0) &.=$%:8%$8().   
 
H- A'=%<- $<%+ %54 85#(4?8&54 &'4$; 8& =-;4+ @$4%:=; 1& &=&'4- %54 %,-7-A-%;=?4 =$#5A'54 %-< 
75%;81-E =$; 8& 9:>-) &*'8()  70cm. 
 
I;$ %(4 &E=-#( A;3#&<8( %54 =$#5A'54 >$ @,(8;1-*-;(>-E4 %$ 7,&:%;$ 3#B() =$#5A'54, A;$8%:8&54 
40T40 cm =$; $4$#+.-< 9:>-<), 8& $*-8%:8&;) %- *-#E 30m. 
 
1.6 RE8%(1$ &#3.@-< =$; &B-;=-4+1(8() &43,.&;$) (&4A. HE*-< SEC ST PLUS %() &%$;,&'$) Reverberi) 
 



 
 
! 9$8;=0 ;A3$ *-< A;3*&; %(4 #&;%-<,.'$ %-< 8<.=&=,;134-< 8<8%01$%-) &'4$; %- .&.-4+) +%; 1&.:#- 13,-) 
%-< @,-4;=-E A;$8%01$%-) =$%: %- -*-'- - 75%;81+) 9,'8=&%$; 8& #&;%-<,.'$, A&4 $*$;%&'%$; ( *#0,() 
75%&;40 $*+A-8( %54 #$1*%0,54. ";- 8<.=&=,;134$ %;) ?,&) &=&'4&) 8%;) -*-'&) ( *<=4+%(%$ %54 
*&,$8%;=?4 8%(4 *#$%&'$ 0 %54 -@(1:%54 8%;) -A-E) *-< %(4 *&,;9:##-<4 1&;?4&%$; 8(1$4%;=: &'4$; 
A<4$%+ 4$ 1&;?8-<1& 8%$A;$=: %(4 75%&;40 ,-0 *-< &=*31*-<4 %$ 75%;8%;=: @5,') =$4 4$ .'4&; $4%;#(*%+ 
$*+ %-<) @,08%&) %() *#$%&'$). 
G<%+ .'4&%$; =$%-,>5%+ 1&;?4-4%$) %(4 %:8( #&;%-<,.'$) %() .,$110) %,-7-A-8'$) %-< 75%;8%;=-E. D& %-4 
%,+*- $<%+ 1&;?4-<1& 8(1$4%;=: %(4 &43,.&;$ *-< =$%$4$#?4&%$; 8%- 75%;8%;=+ $*+ 20 35) =$; 50%. H- 
8<4-#;=+ =3,A-) &'4$; $=+1$ 1&.$#E%&,- $4 8<4<*-#-.;8%&' ( 1&'58( %-< =+8%-<) 8<4%0,(8() =$; ( 
$EB(8( %-< @,+4-< 650) %54 #$1*%0,54 *-< &*;%<.@:4&%$; 1e $*+ %(4 *$,$*:45 #&;%-<,.'$. 
 
RE1754$ 1& %$ *,+%<*$ *-< &'4$; 8& ;8@E 8& *-##3) C<,5*$V=3) @?,&) =$; $7-,-E4 %-4 A(1+8;- 
&B5%&,;=+ 75%;81+, &*;%,3*&%$; ( 1&'58( %-< 75%;81-E $4:#-.$ 1& %(4 ='4(8( *&6?4 =$; -@(1:%54. U%8; 
$4 .;$ *$,:A&;.1$ ( ='4(8( 1&;5>&' =:%5 $*+ %- 50% %() 13.;8%() (.;$ %(4 -*-'$ 3@&; 8@&A;$8%&' %- 
8E8%(1$ 75%;81-E) &*;%,3*&%$; 1;$ 1&'58( %() 75%&;4+%(%$) =$%: 25%. G4%'8%-;@$ .;$ 1&'58( %() ='4(8() 
=:%5 $*+ 75% 1*-,-E1& 4$ 1&;?8-<1& %(4 75%&;4+%(%$ 35) =$; 50%. G<%+ 1$) &*;%,3*&; 4$ &*;%E@-<1& 
8(1$4%;=0 &B-;=-4+1(8( &43,.&;$). R%- *$,$=:%5 A;:.,$11$ 7$'4&%$; ( 9$8;=0 ;A3$ #&;%-<,.'$) %-< 
8<8%01$%-). 
 

 
 
U4$ @$,$=%(,;8%;=+ %-< 8<8%01$%-) &'4$; +%; ( 1&'58( $7-,: %- 8E4-#- %54 75%;8%;=?4 1;$) .,$110) 
75%;81-E =$; A&4 &'4$; $4$.=$'-) 34$) 8@&A;$81+) .;$ %(4 1&'58( %-< $,;>1-E %54 75%;8%;=?4 *-< >$ 
9,'8=-4%$; 8& #&;%-<,.'$ %;) ?,&) %() 1;=,+%&,() ='4(8(). U%8; 3@-<1& 1;=,+%&,- =+8%-) $,@;=0) 
&.=$%:8%$8(). 
 
 

 
 
C*'8() %- 8E8%(1$ #&;%-<,.&' .;$ A;:7-,$ 0A( #$1*%0,54 =$; 1*-,&' 1& 34$4 &#&.=%0 &.=$%&8%(134- 8& 
34$ *'##$, 75%;81-E 4$ &#3.B&; 1-4-7$8;=3) 0 %,;7$8;=3) .,$113) *-< %,-7-A-%-E4 1&.:#- $,;>1+ 
#$1*%0,54. L &#&.=%0) $<%+) 1*-,&' 4$ *,-.,$11$%;8%&' .;$ A;$7-,&%;=-E) =E=#-<) $4:#-.$ 1& %(4 
&*-@0 =$; %(4 ?,$. C*;%<.@:4&; %(4 ,E>1;8( =$; %(4 8%$>&,-*-'(8( %() %:8() 7-,%'-< 1385 8%$%;=-E 
8<8%01$%-) @5,') X$#;A;81+ %() =<1$%-1-,70) =$; @5,') $,1-4;=0 *$,$1+,758(. Q*:,@&; 
A<4$%+%(%$ $70) %-< #$1*%0,$ 8%(4 -4-1$8%;=0 %:8( =$; A;$%0,(80 %() .;$ %-<#:@;8%-4 15 #&*%: 
+*5) 8<8%04-<4 -; =$%$8=&<$8%3) %54 #$1*%0,54. 
K<8;=: <*:,@&; ( A<4$%+%(%$ $*-1$=,<8134-< &#3.@-< =$; *,-.,$11$%;81-E %-< 8<8%01$%-) 1& 
*,-8>0=( %-< $*$,$'%(%-< .;$ $<%+ &B-*#;81-E. 

 
 
 
 
 
 
 
 



 
 
2. H&@4;=3) ",-A;$.,$73) <#;=?4 =$; &,.$8;?4 
 
2.1 K5%;81+) "#$%&'$) - LA-75%;81+) 

2.1.1 Q*-A-10 - -,;81-' 
R%(4 <*-A-10 %-< 75%;81-E *&,;#$19:4-4%$;: 
! ! &=8=$70 =$; &*$4&*'@58( 8=$11:%54 .;$ %(4 %-*->3%(8( %54 85#(4?8&54 A;3#&<8() 
=$#5A'54, %54 7,&$%'54 =$; %() >&1&#'58() %54 ;8%?4 75%;81-E 
! L; 85#04&) A;3#&<8() =$#5A'54 
! ! %-*->3%(8( %54 =$#5A'54 
! L; 9:8&;) 3A,$8() %54 ;8%?4 75%;81-E 
! ! %-*->3%(8( $.5.-E .&'58() 1& %-<) $=,-A3=%&) =$; %;) *#:=&) 
! H$ 7,&:%;$ &*'8=&X() %54 8<4A38&54 %54 =$#5A'54 =$; %$ 7,&:%;$ 3#B() =$#5A'54  
! L; *'4$=&) (#&=%,;=0) A;$4-10) (*'##$,) 

2.1.2. Q#;=: 
H$ @,(8;1-*-;-E1&4$ <#;=: &'4$;: 
(1) R=<,+A&1$ &.=;95%;81-E 85#0454 =$%(.-,'$) C12/15 
(2) R=<,+A&1$ 7,&$%'54 =$; 9:8&54 ;8%?4 =$%(.-,'$) C20/25 
(3) R;A(,-E) -*#;81+) 8=<,-A31$%-) =$%(.-,'$) S500 FHT 
(4) T<%-8;A(,: =$#E11$%$ 7,&$%'54 
(5) T:#=;4-) $.5.+) .&'58() *-#E=#54-) A;$%-10) 16 mm2, 8E1754$ 1& VDE 0251/51 & 52 
(6) R5#04$) PE K110 6 bar 
(7) R5#04$) PE K75 6 bar 
(8) R5#04$) PE K50 6 bar 
(9) I$#9$4;8134- (8E1754$ 1& DIN 50976) 8E,1$ (-A(.+)) A;$%-10) 5 mm2 
(10) "#:=$ .&'58() $*+ (#&=%,-#<%;=+ @$#=+ A;$8%:8&54 500x500x5 mm 
(11) F$#?A;$ %E*-< 2QD -4-1$8%;=0) %:8() 300/500 V (=$%: VDE) @$,$=%(,;6+1&4$ 5) %E*-< 
AO5VV-U 0 R 1& 1+458( $*+ >&,1-*#$8%;=+ <#;=+ PVC, 8E1754$ 1& CNLH 563.4 =$; VDE 0281 
(12) F$#?A;$ %E*-< 2QQ A;$%-10) 4x10 mm2 -4-1$8%;=0) %:8() 600/1000 V (=$%: VDE) 
@$,$=%(,;6+1&4$ 5) %E*-< JIVV-U 0 S 1& 1+458( $*+ >&,1-*#$8%;=+ <#;=+ PVC =$; 1$4AE$ $*+ 
@#5,;-E@- *-#<9;4E#;-, 8E1754$ 1& CNLH 843/85. 
(13) G=,-A3=%() .&'58() (87;=%0,$)) .;$ $.5.+ A;$%-10) 35) 16mm2 
(14) Q#;=: =$%$8=&<0) %-< =;95%'-< (#&=%,;=0) A;$4-10) (*'##$,) 8E1754$ 1& G*+7$8( 
Q"CTO/C C!1/L/481/02.08.86, KCF 573M/09.09.86  
(15) I$#9$4;8134-; (8E1754$ 1& DIN 50976) =-@#'&), *&,;=+@#;$ =$; #-;*: 1;=,-Z#;=: 
(16) ]11-) #$%-1&'-< &.=;95%;81-E 85#(4?8&54 

2.1.3 C,.$8'&) 

2.1.3.1 C=8=$70 =$; &*$4&*'@58( %:7,54 
I;$ %(4 %-*->3%(8( %54 85#0454 A;3#&<8() =$#5A'54 A;$4-'.-4%$; %:7,-; (9:>-<) *&,'*-< 70 cm) 8%;) 
>38&;) *-< *,-9#3*-4%$; $*+ %$ 8@3A;$ %() 1&#3%() 8& 9:>-) 10 cm =:%5 $*+ %(4 *,-9#&*+1&4( 8%:>1( 
%54 85#0454. F:%5 $*+ %-<) 85#04&) =$; 13@,; 10 cm *:45 $*+ $<%-E) ( %:7,-) &*$4&*;@?4&%$; 1& 
:11- &4? %- <*-#&;*+1&4- 9:>-) 13@,; %(4 &*;7:4&;$ 8<1*#(,?4&%$; 1& =$%:##(#$ <#;=: &*;@51:%54 1& 
=-==-A;$9:>1;8( ( -*-'$ A;3,@&%$; 100% $*+ %- =+8=;4- 9,+@-< 25 mm. L; A;$8%:8&;) %() %:7,-< 
=$>-,'6-4%$; $*+ %$ 8@3A;$ %() 1&#3%(), +15) $<%0 A&4 1*-,&' 4$ 3@&; *#:%-) 1;=,+%&,o $*+ 300 mm. H- 
<#;=+ %()  &*$4&*'@58() 8<1*<=4?4&%$;  ?8%& 4$ A3@&%$; %$ 7-,%'$ *-< *,-9#3*-4%$; 8%(4 &*;7:4&;$ 
%() %:7,-<. 
 

 

2.1.3.2 H-*->3%(8( 85#0454 .;$ %( A;3#&<8( =$#5A'54 
L; 85#04&) JC %-*->&%-E4%$; 8%(4 %:7,- =$; 8%&,&?4-4%$; =$%:##(#$ ?8%& 4$ &1*-A'6&%$; ( 
1&%$='4(80 %-<) =$; - $*-@5,;81+) %-<) =$%: %( A;:,=&;$ %54 &,.$8;?4 &*$4&*'@58() 0 &.=;95%;81-E 
8& 8=<,+A&1$. 
W*-< @,(8;1-*-;-E4%$; 8;A(,-85#04&) $<%-' >$ &=%&'4-4%$; =$%: 50 cm *3,$4 %-< $*-#E%5) 
$*$,$'%(%-< 10=-<) (*.@. 8%$ %101$%$ A;3#&<8() $*+ 7-,&') %&@4;=?4 3,.54).  
C7+8-4 A;$=+*%&%$; ( &,.$8'$ %-*->3%(8() %54 85#0454 %+%& %-*->&%&'%$; &*;8%+1;- 8%$ :=,$ %-< 
85#04$. L; 85#04&) *,3*&; 4$ *$,$134-<4 &85%&,;=: =$>$,-' =$; *,;4 4$ %-*->&%(>-E4 %$ =$#?A;$, 
1*-,&' 4$ &#3.@&%$; ( =$%:8%$8( 1& A;3#&<8( 87$',$) A;$13%,-< '8() 1& %- 85% %() A;$13%,-< %-< 
85#04$.  
L; 85#04&) &*;%,3*&%$; 4$ =:1*%-4%$;, @5,') 4$ $##-;?4&%$; ( &85%&,;=0 A;:1&%,+) %-<), 1& &#:@;8%( 
$=%'4$ =$1*<#+%(%$) 12*#:8;$ %() A;$13%,-< %54. 
R%;) A;$9:8&;) =$#5A'54 =:%5 $*+ -A+8%,51$ 0 +*-< $##-E -,'6&%$; 8%$ 8@3A;$ -; 85#04&) 
&.=;95%'6-4%$; 8& 8=<,+A&1$ =$%(.-,'$) C12/15 1& A;$8%:8&;) 8E1754$ 1& %$ 8@3A;$. 

2.1.3.3 U#B( =$#5A'54 
! 3#B( =$#5A'54 .'4&%$; 1& .$#9$4;8134- 8E,1$ -A(.+ *-< %-*->&%&'%$; 8%-<) 85#04&) A;3#&<8() 
=$#5A'54. F$%: %(4 3#B( %54 =$#5A'54 *,3*&; 4$ &1*-A'6&%$; 1& =:>& %,+*- ( &;8$.5.0 <.,$8'$) 
&4%+) %-< 85#04$. 
R%(4 *&,'*%58( *-< ( 3#B( .'4&%$; 1& :##- %,+*-, &=%+) $*+ @&;,54$=%;=:, >$ @,(8;1-*-;&'%$; 
A<4$1+1&%,-. 

2.1.3.4 C.=$%:8%$8( .&'58() 
L $.5.+) .&'58() %-*->&%&'%$; 8%(4 'A;$ %:7,- 1& %-<) 85#04&) A;3#&<8() =$#5A'54. G<%+) 8<4A3&%$; 
1& %-<) $=,-A3=%&) %54 ;8%?4 =$; %- *'##$, 1& $.5.+ A;$%-10) 6 mm2 1385 87;=%0,$. L; *#:=&) 
.&'58() %-*->&%-E4%$; &4%+) %-< &A:7-<) 8& 9:>-) 1,00 m =$; 8<4A3-4%$; 1& %-4 $.5.+ .&'58() 1& 
$.5.+ A;$%-10) 6 mm2. 

2.1.3.5 K,&:%;$ 3#B() =$; &*'8=&X() 8<4A&81-#-.'$) =$#5A'54 
H$ 7,&:%;$ &'4$; *,-=$%$8=&<$8134$ 8E1754$ 1& %$ 8@3A;$ $*+ 8=<,+A&1$ =$%(.-,'$) C20/25 1& 
A;*#+ @<%-8;A(,+ =:#<11$ 1& 8%&.:458( =$; %-*->&%-E4%$; &4%+) %() %:7,-< =$#5A'54 8%;) >38&;) 
*-< -,'6-<4 %$ 8@3A;$. ! &*$4&*'@58( .E,5 $*+ %$ 7,&:%;$ .'4&%$; 1& :11- #$%-1&'-< =$; 
$*-=$>'8%$%$; ( 7<8;=0 0 %&@4;=0 &*;7:4&;$ %-< &A:7-<) 8%(4 $,@;=0 %() =$%:8%$8(. 

2.1.4 K5%;8%;=: 8?1$%$ - ;8%-' 
I;$ %(4 *;8%-*-'(8( %() *-;+%(%$) =$; %54 &*;A+8&54 -*-;-<A0*-%& %101$%-) %-< &B-*#;81-E *-< 
&'4$; 9;-1(@$4;=+ *,-V+4, $*$;%-E4%$; %$ =$%:##(#$ *;8%-*-;(%;=: %-< &,.-8%$8'-< *$,$.5.0), *,;4 
$*+ %(4 &4851:%58( %-< 8%- 3,.-. 
 
2.1.4.1 K5%;8%;=: ;8%-E 
 
H$ 75%;8%;=: &'4$; $*+ @<%-*,&8$,;8%+ $#-<1;434;-. L A;$1-,75134-) 1385 X&=$81-E 
*-#<=$,1*-4;=+) A;$>#$8%0) &'4$; $4>&=%;=+) 8& A-408&;) =$; 8%;) <*&,;?A&;) $=%'4&). L A;$>#$8%0) 
(A;:1&%,-) d=424mm =$; EX-) h=663mm) &'4$; %-*->&%(134-) 8& =-<%' 8%&,358() 1385 =-<1*5%0) 
9:8() =$; %&88:,54 9;A?4 $4-B&'A5%-< @:#<9$. H$ A;$=-81(%;=: &#:81$%$ %-< A;$>#$8%0 &'4$; $*+ 
@<%-*,&8$,;8%+ $#-<1'4;-. C'4$; 8%&,&5134$ 8%- 75%;8%;=+ 8?1$ =$; A&4 @,&;:6&%$; 4$ 1&%$=;4(>-E4 
=$%: %( A;:,=&;$ %() &.=$%:8%$8() 0 %() 8<4%0,(8(). H- 75%;8%;=+ 8?1$ =$; ( =$#5A'58( &'4$; 
*,-8%$%&<134$ 1385 1;$) 8;#;=-4-E@$) %8;1-E@$). W#&) -; &B5%&,;=3) 9'A&) &'4$; $*+ $4-B&'A5%- 
@:#<9$. ! $4$1-40, - &=='4(%(), - 8%$>&,-*-;(%0) =$; - *<=45%0) &'4$; 8%&,&5134$ 8& 1'$ 
$*-8*5134( <*-8%(,;=%;=0 9:8( &85%&,;=: %-< 8?1$%-) 1385 9;A?4. U4$) A;$=+*%() $*-8E4A&8() 
1& $87:#&;$ 1*-,&' 4$ %-*->&%(>&' &7+8-4 6(%(>&'. ! $*-8*5134( 9:8( 1*-,&' 4$ $4%;=$%$8%$>&' 
B&87'..-4%$) AE- 9'A&) =$; $*&#&<>&,?4-4%$) AE- .,0.-,-<) 8<4A381-<) *-< &B$87$#'6-<4 %( 
8E4A&8( 1&%$BE %-< 8?1$%-) =$; %-< =$#5A'-< %,-7-A-8'$) +*5) =$; 1&%$BE %-< 75%;8%;=-E 8?1$%-) 
=$; %-< 8<8%01$%-) 34$<8(). H- =$#?A;- %,-7-A-8'$) 8<4A3&%$; 8%- 1*#-= %&,1$%;81-E &85%&,;=: %-< 
=-<%;-E  *,-8%$8'$) =$; 8%&,&?4&%$; 1385 9;A?4 .;$ 4$ &..<(>&' %(4 D+458( F#:8() PP. L 
8%$>&,-*-;(%0) &'4$; 1-45134-) =$; %$ &B$,%01$%$ =$#E*%-4%$; 1385 &4+) =$%:##(#$ A;$1-,75134-< 
*#$8%;=-E =$#E1$%-). 
 



 
 
T- 75%;8%;=+ 8?1$ %-*->&%&'%$; *,-) %$ &*:45 8%(4 =-,<70 %-< ;8%-E 0 1385 9,$@'-4$. C.=$>'8%$%$; 
1385 %&88:,54 A;$8<4A&%;=?4 *<,?4 $4-B&'A5%-< @:#<9$. ! %-*->3%(8( %-< &'4$; :1&8( 8& 34$ ;8%+ 1& 
ø60mm &4? @,(8;1-*-;&' 34$ A;$8<4A&%0 @<%-E $#-<1;4'-< .;$ ;8%-E) 1& ø76mm =$; ø102mm. L 
A;$8<4A&%0) @,(8;1-*-;&' 87;.=%0,$ =$#5A'-<  PG  .;$ *$,-@0 %-< (#&=%,;=-E ,&E1$%-).  L 1-4+) =$; 
A;*#+) 9,$@'-4$) &'4$; A;$>38;1-) 8& A;$7-,&%;=: 10=(. 
H- 8E8%(1$ 34$<8() 9,'8=&%$; &85%&,;=: %-< 75%;8%;=-E 8?1$%-) 
HE*-) N$1*%0,$: !PH (CDO-TT) 
P8@E): 150Watt H:8(: 230 Volt  
/&'=%() @,51$%;=0) $*+A-8(): 85Ra =$; K5%&;40 ,-0 13500Lm 
/;:,=&;$ 650): 6000h 
S&,1-=,$8'$ @,?1$%-) 2800-F   
M$>1+) *,-8%$8'$): IP 66 F$%(.-,'$ D+458() PP =$; 8<11-,7?4&%$; 1& EN60598-1 =$; 8@&%;=-E) 
=$4-4;81-E)  
$4%'8%$8( 8& @%<*01$%$ :IK09 
C4A&;=%;=+) %E*-): FLAMINIA D (M106) %() &%$;,&'$) iGuzzini. 
 
D& %$ 'A;$ @$,$=%(,;8%;=: 3@-<1& $=+1$ %$ 75%;8%;=: ;8%-E: 
HE*-) N$1*%0,$: !PH (CDO-TT) 
P8@E): 100Watt H:8(: 230 Volt  
/&'=%() @,51$%;=0) $*+A-8(): 85Ra =$; K5%&;40 ,-0 8700Lm 
/;:,=&;$ 650): 8000h 
C4A&;=%;=+) %E*-): FLAMINIA D (M101) %() &%$;,&'$) iGuzzini. 
=$; 
HE*-) N$1*%0,$: !PH (CDO-TT) 
P8@E): 70Watt H:8(: 230 Volt  
/&'=%() @,51$%;=0) $*+A-8(): 40Ra =$; K5%&;40 ,-0 6500Lm 
/;:,=&;$ 650): 9000h 
C4A&;=%;=+) %E*-): FLAMINIA D (M099) %() &%$;,&'$) iGuzzini. 
 
2.1.4.2 K5%;8%;=: A$*3A-< 
 
K5%;8%;=-E @54&<%+ 8%- 3A$7-), 1& 8?1$ $*+ @<%+ $#-<1'4;- (C2 GM-44100) =$; $*+ &B5>(134- 
$#-<1'4;- (C2 AW-6060) @5,') *,-81'B&;) @$#=-E. H- 1*,-8%;4+ *#$'8;- &'4$; $*+ $4-B&'A5%- $%8:#; 
AISI 316L *:@-<) 3mm. /;$>3%&; >&,1-$4>&=%;=+ =:#<11$ $*+ $11-9-#(134- .<$#' *:@-<) 10mm. L 
$4%$<.$8%0,$) &'4$; $*+ $#-<1'4;- <X(#0) =$>$,+%(%$) 99,98%. D&%$BE %-< .<:#;4-< =$#E11$%-) =$; 
%-< 8?1$%-) %-< 75%;8%;=-E <*:,@&; *$,319<81$ 8;#;=+4(). C'4$; 9$1134- 1& 9$70 A;*#0) *-EA,$) =$; 
.;$ $<%+ ;A;$'%&,$ $4>&=%;=0 8%(4 A;:9,58( =$; %(4 <*&,;?A( $=%;4-9-#'$. R<4-A&E&%$; $*+ =<%'- 
&.=;95%;81-E $*+ $4-B&'A5%- $%8:#;. /;$>3%&; &*'8() 8E8%(1$ :1&8() 8E4A&8() IP68. H- 13.;8%- $4&=%+ 
9:,-) 8%- 75%;8%;=+ &'4$; 5000kg. ]##$ @$,$=%(,;8%;=:: =#:8( 1+45)() IP, A&'=%() 8%&.$4+%(%$) IP67 =$; 
A&'=%() $4%-@0) 8& =,-E8( PF09. 
H- 75%;8%;=+ A'4&; 8<11&%,;=0 &<,&'$ A381( 75%+) =$; &*;A3@&%$; #$1*%0,&) 21W T16 1& %$ $4%'8%-;@$ 
(#&=%,;=: +,.$4$ 34$<8(). 
C4A&;=%;=+) %E*-): Line E910 %() ZUMTOBEL 
 
2.1.4.3 K5%;8%;=: &*'%-;@$ 
 
K5%;8%;=+ 8?1$ =$%:##(#- .;$ &*'%-;@( %-*->3%(8( 8& &B5%&,;=-E) @?,-<). H- 8?1$ &'4$; 
=$%$8=&<$8134- $*+ @<%+ $#-<1'4;- &*&B&,.$8134- =$%: EN AB-47100 @5,') *,-81'B&;) @$#=-E. L; 
*&,8'A&) 3@-<4 =#'8( 45- =$; &'4$; $*+ @<%+ $#-<1'4;- =$; $<%3). L A;$@E%() &'4$; $*+ >&,1-$4>&=%;=+ 
-*:# .<$#'. /;$>3%&; *$,319<81$ 8;#;=+4(). C'4$; 9$1134- 1& A;*#0 *-EA,$ *-< %- =:4&; ;A;$'%&,$ 
$4>&=%;=+ 8%(4 A;:9,58( =$; 8%( <*&,;?A( $=%;4-9-#'$. H- 75%;8%;=+ 8<4-A&E&%$; $*+ =;%'- &.=;95%;81-E 
$*+ *-#<*,-*<#34;-. C*'8() 73,&; AE- 8%<*;->#'*%&) .;$ &'8-A- =$; 3B-A- %-< =$#5A'-< %,-7-A-8'$). 
]##$ @$,$=%(,;8%;=:: =#:8( 1+458() P =$; A&'=%() $4%-@0) 8& =,-E8( PF06. 
H- 75%;8%;=+ A'4&; $8E11&%,( A381( 75%+) =$; &*;A3@&%$; #$1*%0,&) TC-D 18W G24d-2, 1200lm, 1& %$ 
$4%'8%-;@$ (#&=%,-4;=: +,.$4$ 34$<8(). 
C4A&;=%;=+) %E*-): Brque rectangular %() &%$;,&'$) SIMES. 
 

 
 
2.1.4.4  ",-9-#&') &B5%&,;=0) %-*->3%(8() 
 
",-9-#3$) 8@&A;$8134-) .;$ @,08( #$1*%0,54 1&%$##;=?4 $#-.-4;A'54 (!PH 20W) &<,&'$) A381(). H- 
=<,'5) 8?1$ $*-%&#&'%$; $*+ @<%-*,&88$,;8%+ $#-<1'4;- =$; 1;$ 9:8( *-< %-< &*;%,3*&; %(4 
*,-8$,1-.0 8%- 3A$7-), 8& %-'@- 0 8& -,-70 . H- 75%;8%;=+ &'4$; &7-A;$8134- 1& A$=%E#;- 87,:.;8() 
=$; *,-8%$%&<%;=+ .<$#' 1& &#$8%;=+ *$,319<81$ 34$4%; %() A;&'8A<8() <.,-E. H- -*%;=+ 13,-) 1*-,&' 
4$ ,<>1;8%&' 8%-4 =$%$=+,<7- :B-4$ 1385 &4+) =<#;4A,;=-E 1&4%&83 1& 1(@$4;81+ *-< &B$87$#'6&; %( 
8%$>&,+%(%$ %() ,E>1;8(). ! -,;6+4%;$ *&,;8%,-70 .'4&%$; 1& 1;$ ,<>1;6+1&4( ,:9A- 8%&,&5134( 8%- 
*:45 13,-) %() #+.@(). 
C4A&;=%;=+) %E*-): Miniwoody %() iGuzzini 
 
2.1.4.5 P8%+) 75%;81-E 6m 
 
L ;8%+) &'4$; =$%$8=&<$8134-) $*+ .$#9$4;8134- @:#<9$ EN 10025 S 235JR  (&#:@;8%( 138( %;10 
*:@-<) &*'8%,58() 70 1;=,?4) 8E1754$ 1& %$ *,+%<*$ UNI EN 40-5 =$; UNI EN ISO 1461. O ;8%+) 
&'4$; =$%$8=&<$8134-) 1385 =$%&,.$8'$) &4 >&,1? =$; 3@&; &#:@;8%- *:@-) 4mm. ! A;:1&%,-) %() 
9:8() &'4$; 133mm 1& %( 1&.$#E%&,( 8%$ 168mm,  =54;=0 %-10 1& A&81+ 102mm.  ! @54&<%0 ><,'A$ 
&#3.@-< 400x120mm 9,'8=&%$; 1105mm $*+ %- 3A$7-). ! .&'58( %-< ;8%-E 8%( *&,;-@0 %() ><,'A$) 
&*;%<.@:4&%$; 1385 &4+) @:#=;4-< 8E,1$%-) *-< 9,'8=&%$; 8& @$#<9A5134- %&,1$%;=+ 8%&,&5134- 8& 
9'A&) $4-B&'A5%-< @:#<9$ D8x12. 
 
2.1.4.6 P8%+) 75%;81-E 3.5 m 
 
F<#;4A,;=+) ;8%+) =$%$8=&<$8134-) $*+ .$#9$4;8134-< @:#<9$, 1& *:@-) &*'8%,58() 701;=,?4, 
8E1754$ 1& %- *,+%<*- UNI 5744-66. L ;8%+) &'4$; =$%$8=&<$8134-) $*+ =$%&,.$8134- 7E##- 
@:#<9$. ! A;$%-10 =$; %- *:@-) %-< A$=%<#'-< 8<1754-E4 1& %;) C<,5*$V=3) ",-A;$.,$73) UNI EN 
40. R%(,'6&%$; 8& 1'$ -,>-.54;=0 9:8( =$; 8%&,&?4&%$; 8%- 3A$7-) 1& 4 $.=E,;$ $*+ .$#9$4;8134- 
8'A(,-, %$ -*-'$ &19$*%'6-4%$; 8%- 8=<,+A&1$ =$%: %( @E%&<80 %-<. 
 
2.1.4.7 G=,-=;9?%;$ ;8%?4 
 
D38$ 8& =:>& ;8%+ >$ &.=$%$8%$>&' 34$ $=,-=;9?%;- .;$ %(4 %,-7-A+%(8( %54 75%;8%;=?4 851:%54, 
=$%$8=&<$8134- $*+ =,:1$ $#-<1;4'-<, %- -*-'- >$ 73,&; 8%- =:%5 13,-) %-< A;$;,-E1&4- *-%0,; 1& 
%,&;) %,E*&) .;$ =$#?A;- 13@,; 2QQ 4x10mm2. R%- *:45 A& 13,-) >$ 73,&; A<- %,E*&) .;$ A;3#&<8( 
=$#5A'54 13@,; 2QQ 4x2,5 mm2 =$; 1&%$##;=-E) 8%<*;->#'*%&). 
 
D38$ 8%- $=,-=;9?%;- >$ <*:,@-<4 A;$=#$A5%0,&) 9$,35) %E*-<               *,-=&;134-< 4$ 
&B$87$#;8>&' 8%$>&,0 &*$70 %54 $.5.?4. L; A;$=#$A5%0,&) >$ &'4$; 8%(,;.134-; *:45 8%(4 9:8( =$; 
1&%$BE $<%?4 =$; %-< 8?1$%-) %-< $=,-=;95%'-< >$ 1&8-#$9&' =$%:##(#( 1+458(. C*'8() >$ 
<*:,@-<4 $87:#&;&) %E*-< %$1*$=;3,$) *#0,&;) =$>?) =$; =-@#'&) -,&;@:#=;4-;, -; -*-'-; >$ 
=-@#;-E4%$; 8& 8*&',51$ *-< >$ <*:,@&; 8%- 8?1$ %-< $=,-=;95%'-<. L; =-@#'&) $<%-' >$ 73,-<4 
*$B;1:A;$, ,-A3##&) =#*, .;$ %(4 *,+8A&8( %-< @$#=-E .&'58() =$; %() .&'58() %-< 75%;8%;=-E 
8?1$%-). 
 
H- +#- =;9?%;- *-< 8%(,'6&%$; 8& =$%:##(#( 9:8( *:45 8%-4  ;8%+ 1& %(4 9-0>&;$ AE- =-@#;?4 =$; >$ 
=#&'4&; 1& *?1$ %- -*-'- >$ 8%(,'6&%$; 8%- 8?1$ %-< =;95%'-< 1& %(4 9-0>&;$ AE- -,&;@:#=;454 
=-@#;?4. H- *?1$ >$ 73,&; *&,;7&,&;$=+ 8%&.$4-*-;(%;=+ >E#$=$ 1& &#$8%;=0 %$;4'$, 8%$>&,: 
8<.=-##(134( 8’ $<%+4 .;$ %(4 *#0,( &7$,1-.0 %-< *?1$%-). 
 
2.1.5  !#&=%,;=+ A'=%<- 75%;81-E *#$%&'$) =$; -A-75%;81-E 
 
H- (#&=%,;=+ A'=%<- $*+ %- "INNGJ 13@,; %$ 75%;8%;=: 8?1$%$ *-< %,-7-A-%&' >$ &'4$; <*+.&;-. H$ 
<*+.&;$ =$#?A;$ >$ *,-8%$%&E-4%$; 1& %(4 %-*->3%(80 %-<) 138$ 8& 85#04&). 
 



 
 
L; 85#04&) A;3#&<8() %54 =$#5A'54 >$ &'4$; $*+ JC &B5%&,;=0) A;$13%,-< $4$#+.5) %() A;$%-10) %-< 
=$#5A'-< -4-1$8%;=0) *'&8() 6atm, 8& 9:>-) 70cm *&,'*-<. L; 8<4A38&;) %54 85#0454 1&%$BE %-<) >$ 
.'4&%$; 1& -1-.&40 8<.=+##(8( 0 1& 1-<7:,;81$, 3%8; ?8%& ( &*;%<.@$4+1&4( 8E4A&8( 4$ &'4$; ( 8%&.$40, 
#&'$ &85%&,;=:, @5,') $*-1&'58( %() A;$%-10) =$; @5,') 1&'58( %() $4%-@0) %54 %-;@51:%54. R& =:>& 
85#04$ >$ &.=$>'8%$%$; &B’ $,@0) .$#9$4;8134- 8E,1$ 0 @:#=;4- K2mm2 .;$ %(4 3#B( %54 =$#5A'54 8%- 
13##-4. I&4;=: %- A'=%<- %54 85#(4?8&54 >$ &'4$; 8& +#- %- 10=-) %-< 8%&.$4+ =$; 1& #&'&) &85%&,;=3) 
&*;7:4&;&). 
 
R%;) &.=:,8;&) A;$9:8&;) %54 A,+154 *,-9#3*&%$; -; 85#04&) 4$ &'4$; &.=;95%;8134-; 8& 8=<,+A&1$, %$ A& 
:=,$ %54 85#0454 $<%?4 >$ =$%$#0.-<4 *:4%$ 8& 7,&:%;- =$#5A'54. C*'8() &.=;95%;8134- 8& 
8=<,+A&1$ >$ &'4$; -; 85#04&) *-< 73,-<4 %- (#&=%,;=+ A'=%<- %-< 75%;81-E 8%- 138- %() *#$%&'$) =$; 
8%- =-11:%; &=&'4- 8%- -*-'- >$ A;&B:.&%$; ( #$V=0. 
 
L; 8<4A38&;) %54 %,-7-A-%;=?4 =$#5A'54 >$ .'4-4%$; $*-=#&;8%;=: 8%$ $=,-=;9?%;$ %54 ;8%?4, A(#$A0 %- 
=$#?A;- >$ 1*$'4&; 8& =:>& ;8%+, >$ 8<4A3&%$; 8%- $=,-=;9?%;- =$; >$ 1*$;4-9.$'4&; .;$ %(4 %,-7-A+%(8( 
%-< &*+1&4-< ;8%-E. ! %,-7-A+%(8( =:>& 75%;8%;=-E 8?1$%-) -A;=-E 75%;81-E $*+ %- $=,-=;9?%;- 
(=-7,3) %-< ;8%-E, >$ .'4&%$; 1& =$#?A;- %E*-< 2QD A;$%-10) 3 x 1,5 mm2. 
 
2.1.6  K,&:%;$ 
 
I;$ %- %,:9(.1$ %54 =$#5A'54 8%- <*+.&;- A'=%<- *,-9#3*-4%$; 7,&:%;$.  
W#$ %$ 7,&:%;$ =$%$8=&<:6-4%$; 1& 1( <A$%-*&,$%+ -*#;8134- 8=<,+A&1$ *:@-<) %-;@51:%54 100mm 
%-<#:@;8%-4. 
 
H$ 7,&:%;$ >$ 73,-<4 *&,;1&%,;=+ *#$'8;- =$; A;*#+ =$*:=;. H- *&,;1&%,;=+ *#$'8;- >$ &'4$; @<%-8;A(,+ 
&.=;95%;8134- 8%- @&'#-) %-< 7,&$%'-< =$; >$ A;$>3%&; A;*#0 <*-A-@0 .;$ %( 8%0,;B( %54 =$*$=;?4. H- 
&85%&,;=+ =$*:=; >$ &'4$; @<%-8;A(,+ 0 8'A(,- 1& >&,1+ .$#9:4;81$, &#$7,-E %E*-< =$; >$ &7$,1+6&; 
8%&.$4: 8%- *&,;1&%,;=+ *#$'8;-. H- &B5%&,;=+ =$*:=; >$ &'4$; 9$,35) %E*-< =$; >$ &7$,1+6&; &*'8() 8%- 
*&,;1&%,;=+ *#$'8;-.  
 
! =$%$8=&<0 %-< >$ $4%3@&; 8& 8%$%;=+ 7-,%'- 9:,-<) 500kg &7$,1-6+1&4( 8%- =34%,-. C*'8() >$ 
A;$>3%&; AE- #$93) 1( *,-&B3@-<8&)=$; 8%(4 :45 &*;7:4&;: %-< >$ &'4$; =$%:##(#$ A;$1-,75134- .;$ 
.31;81$ 1& <#;=+ $4:#-.- %() 8%,?8() %-< A,+1-< ?8%& 4$ &*;%<.@:4&%$; %- =$#E%&,- A<4$%+ $;8>(%;=+ 
$*-%3#&81$. 
 
H$ 7,&:%;$ >$ &'4$; 8%&.$4: 8& +#( %(4 &*;7:4&;$ =$; >$ A;$>3%-<4 &*'8() 85#04$ PVC K50mm 8%-4 
*<>134$ .;$ $*-8%,:..;8(. 
 
2.1.7  D&%$##;=: F;9?%;$ "'##$, 
 
L; &'4$; *'4$=&) 2-1 =$; 2-2 >$ &'4$;  *'##$, 9;-1(@$4;=-E %E*-< 8%&.$4+, *,-8%$8'$) PP54 .;$ 
%-*->3%(8( 8& &B5%&,;=+ @?,-, =$%$8=&<$8134- $*+ #$1$,'4$ 4%&=$*3, *:@-<) 2mm. 
 
L; &B5%&,;=3) 573#;1&) A;$8%:8&;) %-<) >$ &'4$; *#:%-) 1.45m, EX-) 1.30m, =$; 9:>-) 0.36m, >$ 
$*-%&#&'%$; $*+ AE- 13,( %$ -*-'$ >$ =#&'4-<4 1& @5,;8%3) >E,&) =$; &B5%&,;=?) >$ A;$;,&'%$; 1& 
#$1$,'4$ *:@-<) 2mm, 8& AE- @?,-<). L 34$) *,-) %$ $,;8%&,: >$ 3@&; *#:%-) 0.60m =$; >$ *,--,'6&%$; 
.;$ %-4 1&%,(%0 %() /.C.!. =$; - :##-) *#:%-<) 0.85m .;$ %(4 (#&=%,;=0 A;$4-10. ! A;$@5,;8%;=0 #$1$,'4$ 
>$ 73,&; 4 -*3) 26mm 8%- :45 13,-) .;$ A;3#&<8( =$#5A'54. 
 
H- @$,$=%(,;8%;=: %-< "'##$, R;4%,;9$4;-E >$ *,-8A;-,;8%-E4 $7-E $*-7$8;8%-E4 -; (#&=%,;=3) 
$*$;%08&;) %-< 8;4%,;9$4;-E. 
 
H$ "'##$, S&:%,-< >$ &'4$; 9;-1(@$4;=-E %E*-< 8%&.$4+, *,-8%$8'$) PP54 .;$ %-*->3%(8( 8& &B5%&,;=+ 
@?,-, =$%$8=&<$8134- $*+ #$1$,'4$ 4%&=$*3, *:@-<) 2mm. L; &B5%&,;=3) 573#;1&) A;$8%:8&;) %-<) >$ 
&'4$; *#:%-) 0.6m, EX-) 0.50m, 9:>-) 0.36m  =$; >$ $*-%&#&'%$; $*+ 34$ 13,-).  
 
L; *+,%&) %54 "PNNGJ >$ &7:*%-4%$; *-#E =$#: =$; 87;=%: 8& +#$ %$ 8(1&'$ 1& %- =E,;- 8?1$ %-< 
"PNNGJ ?8%& 4$ $*-7&E.&%$; ( &'8-A-) 9,-@0) 8%- &85%&,;=+ %-<. 
 

 
 
H- =:>& "PNNGJ >$ &A,:6&%$; 8& 9:8( $*+ 8=<,+A&1$ M.300 =$; 8%- 8(1&'- &*$70) %-< 1& %( 9:8( >$ 
73,&; *&,;7&,&;$=0 8;A&,-.54;: *:@-<) 3.5mm =$; *#:%-<) 40mm. R%;) %388&,;) .54'&) >$ <*:,@&; 
8<.=-##(134( 8%( 8;A&,-.54;: %,;.54;=0 #:1$ 8%(4 -*-'$ >$ $4-;@>-E4 %,E*&) .;$ 4$ 9;A5>-E4 %$ 
1*-<#+4;$ *-< >$ &'4$; &4851$%5134$ 8%( 9:8( $*+ 8=<,+A&1$. H- "PNNGJ *,3*&; 4$ 1*-,&' 4$ 
$7$;,&>&' 1& &*;=-@#'58(. 
 
H- "PNNGJ >$ &'4$; 8<4$,1-#-.(134- 8%- &,.-8%:8;- =$%$8=&<0) %-< =$; >$ *$,3@&; :4&8( @?,-< .;$ 
%(4 &'8-A- =$#5A'54 =$; %( 8E4A&8( %54 =$#5A'54 1&%$BE %54 -,.:454 #&;%-<,.'$) %-< A;=%E-<. S$ 
A->&' 1&.:#( 8(1$8'$ 8%( =$#0 =$; 8E11&%,( &17:4;8( %-<. 
 
R%-4 @?,- *-< *,--,'6&%$; .;$ %(4 /.C.!. =$; 8%(4 ,:@( %-< "PNNGJ 1 >$ &'4$; 8%&,&5134( 1& =-@#'&) 
=$; *&,;=+@#;$ &*:45 8& -A(.-E) $*+ .54'&) 8@01$%-) " (*-< >$ =$%$8=&<$8>-E4 $*+ 8%,$%6$,;8%0 
#$1$,'4$ A;$8%:8&54 30 x 20 x 2mm) 8%,$%6$,;8%0 .$#9$4;8134( #$1$,'4$ *:@-<) 2mm .;$ %(4 &*’ 
$<%0) 8%&,358( %54 -,.:454 %() /.C.!. 
 
F$%$8=&<$8%;=3) #&*%-13,&;&) >$ *,-8A;-,;8%-E4 8& &*+1&4( 7:8( %-< 3,.-<.  
 
H$ "PNNGJ 1& +#$ %$ &B5%&,;=: &B$,%01$%$ >$ 9$7%-E4 1& @,?1$, $7-E *,?%$ >$ 3@&; <*-8%&' 
$11-9-#0 8E1754$ 1& %$ *,+%<*$ SVENSK STANDARD SIS 055900 %-< 1967 9$>1-E SA - 3, =$; 
*&,$8%&' 1& 1;$ 8%,?8( $4%;A;$9,5%;=0) &*-B&;A5%;=0) $8%:,;  (PRIMER) =$; AE- 8%,?8&;) &*-B&;A;=-E 
@,?1$%-), %- 8<4-#;=+ *:@-) 9$70) A&4 >$ &'4$; 1;=,+%&,- $*+ 0.4mm. 
 
F:>& "PNNGJ >$ 8%(,'6&%$; 8& 9:8( $*+ 8=<,+A&1$ 300Kg               -*#;8134-< ( -*-'$ >$ 3@&; 
*#:%-) 50cm, 10=-) +8$ =$; $<%: %-< "PNNGJ =$; EX-) 1,10m $4:#-.$ 1& %- *'##$,, $*+ %$ -*-'$ %$ 
0,3m >$ &B3@-<4 $*+ %(4 &*;7:4&;$ %-< &A:7-<). ! 9:8( >$ 73,&; 4 =-@#'&) K20 (1*-<#+4;$) 
*$=%5134-<), ?8%& 4$ *,-8%&>&' =:>& "PNNGJ 8’ $<%-E) 1& *&,;=+@#;$. 
 
 
2.1.8  !#&=%,-#-.;=+ <#;=+ *'##$,  
 
 H$ &.=$%&8%(134$ +,.$4$ =$; - (#&=%,-#-.;=+) &B-*#;81+) %54 *'##$,  >$ *,3*&; 4$ *#(,-E4 
%;) .&4;=3) *,-A;$.,$73) %() &*+1&4() *$,$.,:7-< .;$ %(4 (#&=%,;=0 &.=$%:8%$8( 
 
2.1.9 RE8%(1$ &#3.@-< =$; &B-;=-4+1(8() &43,.&;$) (&4A. HE*-< SEC ST PLUS %() &%$;,&'$) Reverberi) 
 
",+=&;%$; .;$ 8E8%(1$ *-< &*;%<.@:4&; %-4 3#&.@- %() =$%$4$#;8=+1&4() ;8@E-) =$; %(4 8%$>&,-*-'(8( 
=$; 1&'58( %() %:8() (%,;7$8;=0) & 1-4-7$8;=0)) %,-7-A-8'$). 
 
CNCIFH!R PRTQLR 
TGJGFH!JPRHPFG HLQ "PNNGJ 
! "-#<&8%&,;=+ &4;8@<134- 1& <$#-^4&) (SMC) 

! /&'=%() 8%&.$4+%(%$) IP44 (8<11+,758( 1& %- standard IEC 529/89) 

! T,?1$: RAL 7032-7035 

FQJPG HCT2PFG TGJGFH!JPRHPFG 
! D;=,-&*&B&,.$8%0) .;$ %-4 3#&.@- %54 *,-.,$11$%;813454 =E=#54, =$%$8=&<$8134-) $*+ 
<X(#0) *-;+%(%$) <#;=: =$; =$%:##(#-) .;$ #&;%-<,.'$ 8& >&,1-=,$8'&) $*+ -20 35) +70°C. H<*5134$ 
=<=#?1$%$ 1& .$#9$4;=0 1+458( %54 .,$11?4. 

! JE>1;8( =$; 8%$>&,-*-'(8( %() %:8() 7-,%'-< 1385 8%$%;=-E 8<8%01$%-) @5,') X$#;A;81+ %() 
=<1$%-1-,70) (( =<1$%-1-,70 *$,$134&; %&#&'5) (1;%-4-&;A0)) 

! C#:@;8%( &..<(134( $*+A-8( 98% 1& 7-,%'- $*+ 20%  35) =$; 100% %() -4-1$8%;=0) ;8@E-) 

 



 

! F$1'$ *$,$.5.0 $,1-4;=?4 8%- ,&E1$ *-< $*-,,-7:%$; $*+ %- 8E8%(1$, &;A;=+%&,$ - &#&.=%0) 
;8@E-) A&4 &;8:.&; $,1-4;=3) *$,$1-,7?8&;), +@; *&,;88+%&,- $*+ 0,2% 

! /<4$%+%(%$ $70) %-< #$1*%0,$ 8%(4 -4-1$8%;=0 %:8( =$; A;$%0,(80 %() .;$ %-<#:@;8%-4 15 
#&*%:, +*5) 8<8%04-<4 -; =$%$8=&<$8%3) #$1*%0,54 

! ",-.,$11$%;6+1&4-) 1& *#(=%,-#+.;- =$; ->+4( <.,?4 =,<8%:##54 (LCD) 1& ,<>1;6+1&4( 
$4%'>&8( 

! C4A&;=%;=: LED: FE,;$ %:8( ON, &#&.=%0) L2, &4&,.-*-'(8( *$,:=$1X() 8<8%01$%-) (By-pass) 

! R%$%;=+ By-Pass, $4&B:,%(%- .;$ =:>& 7:8(, FGDPG /PGFL"! (8& 8<4>0=&) by-pass o &#&.=%0) 
&..<:%$; 1;$ 1&;5134( %:8( %,-7-A-8'$) %-< 7-,%'-<, &4? &*;%,3*&; =$; 1;$ -,;8134( &B-;=-4+1(8( 
&43,.&;$)). U4$ 87:#1$ 8& 1'$ 7:8( &4&,.-*-;&' by-pass %-< 8<8%01$%-) 1+4- 8%( 7:8( $<%0 

! G<%+1$%- by-pass 8& *&,'*%58( 8<4$.&,1-E, 1& $<%+1$%- 8E8%(1$ &*$4$7-,:) &,.-8%$8;$=?4 
,<>1'8&54 

! CB-;=-4+1(8( &43,.&;$) 13@,; =$; 40% $4:#-.$ 1& %-4 %E*- %54 #$1*%0,54 

! H-,-&;A&') 1&%$8@(1$%;8%3) .;$ %(4 A;$87:#;8( &#:@;8%54 $*5#&;?4 =$; $*+A-8() 98,5% 

! R%$>&,-*-'(8( %() %:8() &B+A-< 1& $=,'9&;$  ±1% 1& %:8( &;8+A-< $*+ 200 – 245V 

! S&,1-=,$8'$ #&;%-<,.'$):  -30 35) +60°C 

! R%$>&,-*-'(8( %54 A;$=<1:48&54 %() =E,;$) %:8() 8& *-#E 1;=,: @,-4;=: A;$8%01$%$ 

! JE>1;8( %54 *$,$=:%5 *$,$13%,54 *-< 1*-,-E4 4$ A;$7-,-*-;-E4%$; .;$ =:>& 7:8(: %:8( 
&=='4(8(), %:8( *#0,-<) 75%;81-E, %:8( 1&;5134-< 75%;81-E, @,+4-) *,->3,1$48(), %$@E%(%$ $EB(8() 
%() %:8() =$; %$@E%(%$ 1&'58() %() %:8() 

! JE>1;8( %54 *$,$=:%5 *$,$13%,54 *-< &'4$; =-;43) =$; .;$ %;) %,&;) 7:8&;): @,+4-) 
&*$4$#$19$4+1&4-< A&'.1$%-) 1&%,08&54, 9$8;=-' 0 *,-8$,1-8134-; 8<4$.&,1-'. 

! D&4-E *,-.,$11$%;81-E 8<4$.&,1?4 .;$ %;13) *:45 0 =:%5 $*+ %$ *,-=$>-,;8134$ +,;$ %() 
%:8() &;8+A-< =$; &B+A-<, %-< ,&E1$%-) &B+A-<, %() &4&,.0) ;8@E-) =$; %-< 8<4%&#&8%0 ;8@E-) (cos7). 

! C*;#-.0 %54 *-8-8%?4 1&'58() %() 75%&;4+%(%$) =$; %54 $4%'8%-;@54 @,-4;=?4 A;$8%(1:%54 
=$%: %( A;:,=&;$ %() 4E@%$), 1& 13@,; =$; 10 A;$7-,&%;=3) 9$>1'A&). 

! /;$>&8;1+%(%$ %,;?4 &%(8'54 =E=#54 *,-=$>-,;813454 $*+ %- &,.-8%:8;- =$%$8=&<0), $##: 1& 
=E=#-<) &=='4(8() =$; #&;%-<,.'$) *-< 1*-,-E4 4$ A;$1-,75>-E4 $4:#-.$ 1& &*-@;=-E) *$,:.-4%&) =$; 
%(4 %-*->&8'$ %() =:>& *&,;-@0) 

! /;$>&8;1+%(%$ &4+) *,-8$,1+8;1-< &%08;-< =E=#-< 1& A;$7-,&%;=3) ,<>1'8&;) .;$ =:>& &*-@0 =$; 
%( A<4$%+%(%$ *,-.,$11$%;81-E 13@,; =$; 10 A;$7-,&%;=?4 9$>1'A54 =$%: %( A;:,=&;$ %() 4E@%$) 

! /;$>&8;1+%(%$ &4+) =E=#-< &#&.@+1&4-< $*+ $4$#-.;=0 &'8-A- (4-20 mA) =$%:##(#( .;$ ,E>1;8( 
75%&;4+%(%$) 1385 801$%-) *-< A3@&%$; $*+ 34$4 $;8>(%0,$ 75%&;4+%(%$) 0 :##( $4%'8%-;@( 8<8=&<0. 

! /<4$%+%(%$ $4:.458() %54 *$,$=:%5 (#&=%,;=?4 1&.&>?4 8& =$%:##(#( ->+4(: 

- H:8( &;8+A-< %() =:>& 7:8() 

- H:8( &B+A-< %() =:>& 7:8() 

- J&E1$ &B+A-< %() =:>& 7:8() (+2 *,-$;,&%;=:) 

 

 
 
- C4&,.0 ;8@E) *-< $*-,,-7:%$; 8& =:>& 7:8( 

- ]&,.( ;8@E) *-< $*-,,-7:%$; 8& =:>& 7:8( 

- R<4%&#&8%0 ;8@E-) %() =:>& 7:8() 

- R<@4+%(%$  %() =:>& 7:8() 

- H;10 $4$#-.;=0) &;8+A-< 8& mA 

- H;10 $4$#-.;=0) &B+A-< 8& mA 

! G*->0=&<8( %54 *$,$=:%5 8%$%;8%;=?4 A&A-13454: 

- _,&) #&;%-<,.'$) “on line” 

- _,&) #&;%-<,.'$) 8& =$%:8%$8( “by-pass” 

- G,;>1+) =<=#;=?4 &4$##$.?4 %54 ,&#3 &#3.@-< 

- R%$>&,+%(%$ %() =E,;$) %,-7-A-8'$) (901$%$ / #&*%+) 

- C4&,.&;$=0 =$%$4:#58( 

- G,;>1+) %54 black-out 

- G,;>1+) &*$4$7-,?4 &,.-8%$8;$=?4 ,<>1'8&54 

! /<4$%+%(%$ =$%&9:81$%-) %54 8%$%;8%;=?4 A&A-13454 *-< &'4$; $*->(=&<134$ 8%-4 &#&.=%0, 
1385 7-,(%-E <*-#-.;8%0 0 1+4%&1 

! ",-=$>-,;81+) .;$ 8E4A&8( 8& $*-1$=,<8134- A'=%<- &#3.@-< 8@&A;$8134- .;$ A;:.458( =$; 
3#&.@- -#+=#(,-< %-< 8<8%01$%-) 

! H$#$4%5%0) Quartz .;$ @,-4-A;$=+*%( (0 .;$ $8%,-4-1;=+ ,-#+;, $4 <*:,@&;) 1& $=,'9&;$ ±4 
#&*%: / 3%-) 8& &E,-) 0-70°C 0 &4$##$=%;=: %$#$4%5%0) <X(#0) $=,'9&;$) ±1 #&*%+ / 3%-) 8& &E,-) 0-
70°C. 

! /<4$%+%(%$ &,?%(8()-$*:4%(8() 1385 SMS: - &#&.=%0) 8%3#4&; $*&<>&'$) %(4 $*:4%(8( 1& 
SMS 8%- =;4(%+ %(#3754- *-< 3=$4& %(4 &,?%(8( (%- =34%,- &#3.@-< A&4 &1*#3=&%$; 8& $<%0 %( 
#&;%-<,.'$). C'4$; A<4$%+ 4$ 6(%08&%& *#(,-7-,'&)  8@&%;=3) 1& 1&%,08&;), =$%:8%$8( &;8+A54 / &B+A54, 
8<4$.&,1-E) 8& &B3#;B(, 4$ &4&,.-*-;08&%& 0 4$ $*&4&,.-*-;08&%& %- 8E8%(1$ =$; 4$ $##:B&%& %(4 
=$%:8%$8( 1;$) &;8+A-< 0 &B+A-<. 

  !"#$%&'$%!"(# )*"&+&# ,*&"(%-# 
! F&4%,;=+) %&%,$*-#;=+) / %,;*-#;=+) 1$.4(%->&,1;=+) A;$=+*%(), 1& %E#;.1$ 9,$@<=E=#58() 

! J&#3 .;$ 87:#1$%$ .&'58() 1& ,<>1;6+1&4- ,&E1$ 9,$@<=E=#58(), @,-4-=$><8%3,(8( =$; 
$<%+1$%- reset 13@,; =$; %,&;) 7-,3). /E- ,&#3 (1& &*$70 =$; :4-;.1$ =&4%,;=-E A;$=+*%( +%$4 %- 
87:#1$ 8<4&@'6&%$;), 1*-<%+4 test, 1*-<%+4 .;$ @&;,-='4(%- reset. 

! H&%,$*-#;=0 / %,;*-#;=0 &*$70 .,$110) 

! /;*-#;=+ 1$.4(%->&,1;=+ A;$=+*%( .;$ *,-8%$8'$ %54 9-(>(%;=?4 =<=#51:%54 

! T&;,-='4(%-/G<%+1$%- A;$=+*%( on/off 

! D$.4(%->&,1;=-E) A;$=+*%&) .;$ *,-8%$8'$ %() .,$110) &B+A-<.  

 



 
 
2.2 !#&=%,;=0 &.=$%:8%$8( 
 
R%(4 *$,:.,$7- $<%0 >$ $4$7&,>-E1& 8%$ <#;=:, 8%;) &,.$8'&) =$; %-4 &4A&A&;.134- %,+*- =$%$8=&<0) 
%() (#&=%,;=0) &.=$%:8%$8() 8%- 8<.=&=,;134- 3,.-. ! $4$7-,: 8& $<%0 %(4 7:8( %() 1&#3%() >$ &'4$; 
.&4;=0 *,-8*$>?4%$) 4$ &B$87$#'8&; =<,'5) 1;$ &#:@;8%( *-;+%(%$ 8%- $*-%3#&81$. 
 
2.2.1 L,;81-' 
! &.=$%:8%$8( ;8@<,?4 ,&<1:%54  $*-%&#&'%$; $*+: 
-G.5.-E) - R5#04&) 
-/;$=+*%&)-,&<1$%-A+%&) 
-R<8=&<3) 
-K5%;8%;=: 
-"'4$=&) 
-R%-;@&'$ A;$=-*0) @$1(#0) %:8(). 
-M-(>(%;=: =<=#?1$%$ &#3.@-<-$<%-1$%;81-E 
-/;:7-,$ &B$,%01$%$ 
 

2.2.2 Q#;=: 

2.2.2.1 G.5.-' - R5#04&) 
a. HE*-; $.5.?4 =$; 85#0454 
! G.5.-' 1&%: >&,1-*#$8%;=0) 1-4?8&5) H07V-U 0 H07V-R (NYA) 8<17?45) *,-) %-4 "'4$=$ PPP 
:,>,- 135, KCF 59M/55 =$%(.-,'$ (P) ($), CNLH 563.3, 563.4, 563.5, VDE 0281. 
! "-#<*-#;=: $A;:9,5%$ =$#?A;$ 1&%: >&,1-*#$8%;=0) &*&4AE8&5) H05VV-Un 0 HO5VV-R 
(2QD), 8<17?45) *,-) "'4$=$ PPP, :,>,- 135, KCF 59M/55, =$%(.-,'$ (PPP) ($), VDE 0281, CNLH 563.3, 
563.4, 563.5. 
! Q*+.&;$ *-#<*-#;=: =$#?A;$ (2QQ) 1-4?8&5) >&,1-*#$8%;=0) =$; 1$4AE$ >&,1-*#$8%;=-E 
8<17?45) *,-) VDC 0271, CNLH 843/85. 
R5#04&) 
i. R5#04&) *#$8%;=-' &.=&=,;134-< %E*-< $*+ %-< Q*-<,.&'-< M;-1(@$4'$) 8*;,:# 0 &<>&'). 
ii. T$#<9A-85#04&) 8<.=&=-##(134() ,$70), =-@#;-%-1(134-; 1&%: 1-45%;=0) &*&4AE8&5), +*5) %- 
:,>,- 146, *$,$.,. 4, KCF 59M/55. 
iii. R;A(,-85#04&) 8<.=&=-##(134() ,$70), =-@#;-%-1(134-; @5,') 1-45%;=0 &*34A<8(, .$#9$4;8134-;. 
L; A;A+1&4&) A;$8%:8&;) %54 85#0454 $<%?4 $4$73,-4%$; 8%(4 -4-1$8%;=0 A;:1&%,+ %-<). ":@-) 
%-;@51:%54 8<17?45) *,-) %-<) =$4-4;81-E) &85%&,;=?4 QA,$<#;=?4 &.=$%$8%:8&54 (KCF 
270G/23.6.1936, M./. 13.5.36) "'4$=$) PP. 
iv. "#$8%;=-' 85#04&) =$%:##(#-; .;$ &4851:%58( 8%- 1*&%+4. 
v. R5#04&) *#$8%;=-' $*+ 8=#(,+ PVC, :=$<8%-;, .;$ 8%&.$40 -,$%0 &.=$%:8%$8(, 1&.:#() 1(@$4;=0) 
$4%-@0) 8& =,-E8(. 
vi. W#-; -; 85#04&) >$ 8<4-A&E-4%$; 1& %$ $4%'8%-;@$ &B$,%01$%: %-<) (=$1*E#&), .54;3), =-<%;: 
A;$=#:A58(), =#*), &*'8() :=$<8%$. 
b. R%(,'.1$%$ F$#5A'54 
H$ 8%(,'.1$%$ =$#5A'54 >$ &'4$; A;1&,0 ;8@<,:) =$%$8=&<0) $*+ 8<4>&%;=0 ,(%'4( 0 $*+ $4>&=%;=+ 
*#$8%;=+, =$%:##(#$ .;$ 8%&,358( 8& 8;A(,-%,-@;3). L; =-@#'&) 8E87;.B() %54 AE- %1(1:%54 %54 
8%(,;.1:%54 =$; -; =-@#'&) 8%&,358() >$ &'4$; &*;4;=&#5134-; 0 &*;=$A1;5134-; 0 $*+ $4-B&'A5%- @:#<9$. 
 

 
 
c. F-<%;: A;$=#:A58() 
H$ =-<%;: A;$=#$A?8&54 >$ &'4$; =<=#;=: 0 %&%,$.54;=: 0 -,>-.54;=: =$; =$%:##(#$ .;$ %-4 %E*- %-< 
85#04$ 0 %-< =$#5A'-<, .;$ %-4 -*-'- @,(8;1-*-;-E4%$;. 
H$ *#$8%;=: =-<%;: >$ &'4$; $*+ :=$<8%- <#;=+. 

2.2.2.2 /;$=+*%&)-,&<1$%-A+%&) 
a. /;$=+*%&) - J&<1$%-A+%&) 
L; A;$=+*%&) *-< >$ @,(8;1-*-;(>-E4 >$ &'4$; .&4;=: 1& *#0=%,-, =$; >$ &'4$; ;=$4+%(%$) A;$=-*0) 
%-<#:@;8%-4 10 G =$; 9$>1-E 8%&.$4+%(%$) +*5) $*$;%&'%$; $*+ %(4 @,08( %-< @?,-<. /(#$A0 8%-<) 
@?,-<) *-< $40=-<4 =$%: %-<) =$4-4;81-E) 8%(4 =$%(.-,'$ %54 B(,?4, -; A;$=+*%&) >$ &'4$; @54&<%-', 
#&<=-', %&%,:.54-;, =$; 8%-<) @?,-<) %() =$%(.-,'$) %54 *,+8=$;,$ 0 1+4;1$ <.,?4, -; A;$=+*%&) >$ 
&'4$; 8%&.$4-', (1& *#0=%,- &*'8()). 
L; ,&<1$%-A+%&) *-< >$ @,(8;1-*-;(>-E4 >$ &'4$; .&4;=: 34%$8() #&;%-<,.'$) 16 G.  
R%-<) @?,-<) .,$7&'54, =#*. -; ,&<1$%-A+%&) >$ &'4$; @54&<%-', %&%,:.54-;, #&<=-', %E*-< RLQFL. 
R&  @?,-<) *-< *,3*&; ( &.=$%:8%$8( 4$ &'4$; 8%&.$40, -; ,&<1$%-A+%&) >$ &'4$; 8%&.$4-', %&%,:.54-;, 
#&<=-', RLQFL. 
b. J&<1$%-A+%&) %,;7$8;=-' 
L; %,;7$8;=-' ,&<1$%-A+%&) >$ &'4$; &*'8() 8%&.$4-', 8& @<%-8;A&,34;$ >0=(, %&%,$*-#;=-', 9;-1(@$4;=-E 
%E*-< 25G/380V =$%:##(#-; .;$ &*'%-;@( @,08(. L; ,&<1$%-A+%&) >$ 8<4-A&E-4%$; $*+ %-<) 
$4%'8%-;@-<) ,&<1$%-#0*%&) %-<). 

2.2.2.3 R<8=&<3) 
a. R%&.45%0,&) @&,;?4 
S$ &'4$; (#&=%,;=-', =$%$8=&<0) .458%-E &,.-8%$8'-<, , 8<4;8%:1&4-;  $*+ 34$ >&,1$4%;=+ 8%-;@&'- 
((#&=%,;=0 $4%'8%$8() %54 2 KW =$; &4+) 7<8(%0,$ 1& *$,-@0 $3,$ 2 m3/min =$%: 13.;8%-. 
! 34$,B( #&;%-<,.'$) >$ .'4&%$; 1& *'&8( &4+) =-19'-< 0 @&;,;81-E &4+) 1-@#-E, &*$4&,@+1&4-< 8%(4 
$,@;=0 %-< >38( $<%+1$%$, 1&%: *:,-A- *,-=$>-,;8134-< @,-4;=-E A;$8%01$%-), -*+%& &*3,@&%$; 
=,:%(8( %-< 8%&.45%0,$. H- @,-4;=+ $<%+ A;:8%(1$ >$ 1*-,&' 4$ ,<>1'6&%$;. 
b. T$@<>&,1-8'754&) 
L %$@<>&,1-8'754$) >$ &'4$; 8<4&@-E) ,-0) %-< <.,-E, %,;7$8;=+) 3 T 380V, ;8@E-) 2.5kW, 1& +#$ %$ 
+,.$4$ *,-8%$8'$) %-< =$; ,E>1;8( %() >&,1-=,$8'$) %-< 4&,-E. L %$@<>&,1-8'754$) >$ &'4$; 
&*'%-;@-). 

2.2.2.4 K5%;8%;=: 
H$ 75%;8%;=: 8?1$%$ >$ &'4$; =$%:##(#$ .;$ %-*->3%(8( =$; 8<4&@0 #&;%-<,.'$ 8& &85%&,;=-E) =$; 
&B5%&,;=-E) @?,-<) =$%: *&,'*%58( =$; >$ *$,3@-<4 %( A<4$%+%(%$ $4:,%(8() 0 %-*->3%(8() &*' 
-,-70) 0 %-'@-<. S$ &'4$; =$%:##(#$ .;$ %,-7-A-8'$ 220 V 8%$ 50 Hz. 
R& .&4;=3) .,$113) %$ 75%;8%;=: =$; -; #$1*%0,&) *,3*&; 4$ &'4$; 8E1754$ 1& %;) *,-A;$.,$73) =$; %$ 
+,;$ *-< >3%&; ( 43$ C<,5*$V=0 2-1->&8'$ 8@&%;=: 1& %(4 &B-;=-4+1(8( &43,.&;$). U%8; >$ A;$>3%-<4 
(#&=%,-4;=: +,.$4$ 34$<8() +*-< $*$;%-E4%$; =$; >$ &'4$; @$1(#0) &4&,.&;$=0) =$%$4:#58(). 

2.2.2.5 "'4$=&)  
D&%$##;=: 13,( 
'W#$ %$ 1&%$##;=: 13,( %54 *;4:=54 >$ 9$7-E4 1& AE- 8%,?8&;) (#&=%,-8%$%;=0) 9$70)  
W#$ %$ <#;=: =$; 1;=,-Z#;=: 8%0,;B() (@$#E9A;4$ &#:81$%$, 8;A(,-%,-@;3), =-@#'&) =#*.) >$ *,3*&; 4$ 
&'4$; $4-B&'A5%$ 0 4$ 3@-<4 <*-8%&' &;A;=0 $4%;A;$9,5%;=0 *,-8%$8'$ (*.@. .$#9:4;81$). 
C;A;=: .;$ %;) &B5%&,;=3) 9'A&) 8%&,358() 1&%$##;=?4 *#$=?4 >$ *,3*&; 4$ &'4$; &*;4;=&#5134&). 
 



 
 
I&4;=3) $*$;%08&;) 
! =$%$8=&<0 %54 *;4:=54 *,3*&; 4$ &'4$; %3%-;$, ?8%& %$ A;:7-,$ +,.$4$ =$; 8<8=&<3) 4$ &'4$; &E=-#$ 
*,-8;%: 1&%: %(4 $7$',&8( %54 =$#<11:%54 =$; %-*->&%(134$ 8& =$4-4;=3) $*-8%:8&;) 1&%$BE %-<), 
?8%& 4$ &B$87$#'6&%$; ( :4&%( $7$',&8(, &*;8=&<0 =$; &*$4$%-*->3%(80 %-<) @5,') 4$ 1&%$9:##&%$; ( 
=$%:8%$8( %54 .&;%-4;=?4 -,.:454. 
! &85%&,;=0 A;$4-10 >$ .'4&%$; 1& 1*:,&) $*+ (#&=%,-#<%;=+ @$#=+ =$%:##(#() -,>-.54;=0) A;$%-10) 
=$; &*;%,&*+1&4() 34%$8() 8<4&@-E) #&;%-<,.'$) %-<#:@;8%-4 '8() 1& %(4 -4-1$8%;=0 34%$8( %-< .&4;=-E 
A;$=+*%(. S$ <*-#-.;8>-E4 8& >&,1-=,$8'$ *&,;9:##-4%-) 45"C =$>?) =$; %$ =$#?A;$ &85%&,;=0) 
8<4A&81-#-.'$). 
L; 1*:,&) %54 %,;?4 7:8&54 >$ &'4$; 8%- *:45 13,-) %54 *;4:=54 &4? %-< -<A3%&,-< =$; %() ".()" 8%- 
=:%5 13,-) %54 *;4:=54 =$; >$ 3@-<4 A;$%-10 %(4 1;80 &=&'4() %54 7:8&54. 
R& 8%:>1( 9,$@<=<=#?1$%-) %-<#:@;8%-4 '8( 1& %(4 $4$.,$7+1&4( 8& =:>& *'4$=$ =$; *:4%5) +@; 
1;=,+%&,( $*+ 6 FG, ( $4EX58( >&,1-=,$8'$) %54 6<.?4 =$; ( 1(@$4;=0 %-<) $4%-@0 8<4A<$6+1&4( =$; 
1& &=&'4( %54 1-45%0,54 8%0,;B() >$ *,3*&; 4$ 9,'8=&%$; 8%$ +,;$ *-< *,-9#3*-<4 -; =$4-4;81-' VDC. 
! 8<4$,1-#+.(8(, ( &85%&,;=0 8<4A&81-#-.'$ =$; ( A-=;10 %54 *;4:=54 >$ *,3*&; $*$,$'%(%$ 4$ 
-#-=#(,5>&' 8%- &,.-8%:8;- =$%$8=&<0) %-<). R%-4 %+*- %-< 3,.-< $*$.-,&E&%$; 4$ .'4&; -*-;$A0*-%& 
&,.$8'$ 8@&%;=: 1& %;) *$,$*:45.  
L; 8<4A38&;) %54 A;$7+,54 =$#5A'54 0 $.5.?4 1& %$ +,.$4$ %-< *'4$=$ >$ .'4&; 1& %( 9-0>&;$ %54 
=$%:##(#54 .;$ =:>& *&,'*%58( $=,-A&=%?4. 
! 8E4A&8( %54 $4$@5,08&54 8%;) 1*:,&) >$ .'4&; 1& &;A;=-E) 87;.=%0,&) 0 &;A;=: &B$,%01$%$. 
! 8E4A&8( %54 &;8&,@+1&454 =$; $*&,@+1&454 .,$11?4 >$ .'4&; 8& =$%:##(#&) $,;>1(134&) =#311&) 
(%,&;) 7:8&;), -<A3%&,-) =$; .&'58().  
! &.=$%:8%$8( %54 =#&11?4 >$ *,3*&; 4$ &'4$; %3%-;$ ?8%& 4$ &B$87$#'6&%$; =$; .; $<%3) - 'A;-) 9$>1+) 
*,-8%$8'$) *-< *,-A;$.,:7&%$; .;$ %$ <*+#-;*$ 13,( %-< *'4$=$. 
I;$ %;) %,&;) 7:8&;) >$ *,3*&; *:4%$ 4$ ;8@E&; 34$ -,;8134- 8E8%(1$ 801$48(), ?8%& ( =:>& 7:8( 4$ 
3@&; *:4%$ %(4 'A;$ >38( =$; %- 'A;- @,?1$. 
R%(4 1*,-8%;40 *#&<,: %-< *'4$=$ >$ <*:,@-<4 =$#$'8>(%&) 1+4;1&) *;4$='A&) 1& %(4 $4$.,$70 %54 
%1(1:%54 =$; %54 =<=#51:%54 =:>& *'4$=$ (+*5) $4$73,-4%$; 8%- $4%'8%-;@- =&7:#$;-). 
L; =#311&) >$ &'4$; %E*-< 8;A(,-%,-@;:) =$; 8%- &85%&,;=+ %-<) >$ 73,-<4 .#588'A$ *,-8%$8'$) %-< 
$.5.-E $*+ %( 9'A$ 8E87;.B(). 
W#$ %$ <#;=: 8%0,;B() %54 -,.:454 %54 *;4:=54 >$ &'4$; &*;4;=&#5134$ 0 &*;7587$%5134$ 0 $*+ 
$4-B&'A5%- @:#<9$. 
! =$%$8=&<0 =$; A;$1+,758( %54 *;4:=54 >$ &'4$; 8E1754( *,-) %-<) &B0) F$4-4;81-E) =$; 
",-A;$.,$73):  
C##(4;=-E) F$4-4;81-E) 
VDC 0100, 0110, 0660 
PCC. F$4-4;81-' .;$ %-4 (#&=%,;=+ &B-*#;81+ =%;,'54 (14( 3=A-8() 
PCC 439. ",-=$%$8=&<$8134-; *'4$=&) T.H. 
W#-; -; *'4$=&) T.H. >$ &'4$; &*;8=3X;1-; =$; &*;>&5,08;1-; $*+ 1*,-8%:. 
W#-; -; A;$=+*%&) 1& @&;,;8%0,;$ >$ &'4$; $;5,-E1&4-< %E*-< A(#. @5,;8%: %- 8?1$ %-< A;$=+*%( 1& %-4 
1-@#+ @&;,;81-E =$; @5,;8%: ( @&;,-#$90, ?8%& +%$4 $4-'.-<1& %(4 *+,%$ %-< *'4$=$ 0 $7$;,-E1& %- 
=:#<11$ &4+) =;95%'-< %-< *'4$=$ 4$ 1(4 @,&;:6&%$; =$1'$ &*319$8( 8%-4 A;$=+*%(. 
R& $<%0 %(4 *&,'*%58( ( @&;,-#$90 %-< A;$=+*%( *$,$134&; *:45 8%(4 *+,%$ 0 8%- =:#<11$ %-< 
=;95%'-< %-< *'4$=$. 
L; 1;=,-$<%+1$%-; >$ &'4$; &*;8=3X;1-; 1385 &;A;=?4 ><,'A54 *-< >$ &B$87$#'6-<4 %-4 'A;- 9$>1+ 
*,-8%$8'$) 1& %-4 <*+#-;*- *'4$=$. 
 

 
 
L; *+,%&) =$; -; 1&%5*;=3) *#:=&) %54 *;4:=54 >$ &'4$; 1&%$##;=3) %() $<%0) =$%$8=&<0) 1& %- 
<*+#-;*- 8?1$ %-< *'4$=$ =$; >$ 73,-<4 : 
F#&'8%,- &;A;=+ .;$ *'4$=&) (1&%$##;=+) %- -*-'- >$ &'4$; +1-;- .;$ +#-<) %-<) *'4$=&) %-< 3,.-< (PAS 
PARTOUT). 
C;A;=-E) 1&4%&83A&) (1&%$##;=-E)) .;$ *'4$=&). 
F$%:##(#( >0=( $*+ A;$7$43) *#$8%;=+ 8%(4 &85%&,;=0 *#&<,: %() *+,%$) .;$ %(4 %-*->3%(8( %54 
8@&A'54 %-< *'4$=$. 
G=,-A3=%( .&'58(). 
F:>& *'4$=$) >$ 3@&; &7&A,;=+ @?,- =$; <#;=: .;$ 20% %54 $*$;%08&54 %() 1&#3%() .;$ 1&##-4%;=0 
&*3=%$8(. 
! &'8-A-) 8%-4 *'4$=$ =:>& =$#5A'-< >$ .'4&%$; 1& 1&%$##;=-E) 8%<*;->#0*%&) =$%:##(#() A;$13%,-<. 
F:>& *'4$=$) >$ 8<4-A&E&%$; =$; $*+ %$ *$,$=:%5 9-(>(%;=: &B$,%01$%$, $4%$##$=%;=:, 8@3A;$ =#*. 
%$ -*-'$ >$ *$,$A->-E4 *,;4 %( 9&9$'58( *&,:%58()  
D;$ *#0,( 8&;,: A;$.,$11:%54, #&;%-<,.;=?4 =$; =$%$8=&<$8%;=?4 8@&A'54 %-< *'4$=$. 
F$%:#-.- $4%$##$=%;=?4 =$; =$%$#+.-<) %54 =$%$8=&<$8%?4 %54 A;$7+,54 8<8=&<?4 %-< *'4$=$. 
LA(.'&) #&;%-<,.'$), ,E>1;8() =$; 8<4%0,(8(). 
 
D&%$##;=-' *'4$=&) 75%;81-E - J&<1$%-A-%?4 1( 8%&.$4-'  
L; *'4$=&) %-< %E*-< $<%-E >$ &'4$; (#&=%,;=?) $='4A<4-;, &1*,+8>;$) +X(), %E*-< &,1$,'-<, 1&%: 
&1*,+8>;$) *+,%$) *,-8%$8'$) PJ40 =$%: DP2 40050. 
! A;:%$B( =$; 8<4$,1-#+.(8( %54 -,.:454 &4%+) $<%?4 >$ .'4&%$; 1& *,-&%-;1$8134$ 8%-;@&'$ 6<.?4 
=#*. 
L; *'4$=&) $<%-' >$ $*-%&#-E4%$; $*+ %$ *$,$=:%5 8%-;@&'$: 
"#$'8;- &*' %-< -*-'-< >$ 8<4$,1-#-.(>-E4 %$ A;:7-,$ +,.$4$. 
D&%$##;=+ &1*,+8>;- =:#<11$ %-< *#$;8'-< ((#&=%,;=: $='4A<4-) 1&%5*;=0  
D&%$##;=+ =#&;8%+ &,1:,;- &4%+) %-< -*-'-< %-*->&%&'%$; %- *#$'8;-. 
D&%$##;=0 >E,$. 
H- &,1:,;- =$; ( 1&%$##;=0 *+,%$ >$ $*-%&#-E4%$; $*+ #$1$,'4$ ;=$4-*-;(%;=-E *:@-<), =$%'&#:@;8%- 
1.5 mm   =$; >$ 3@-<4 *,-8%$8'$ 34$4%; A;:9,58(). 
L; &B5%&,;=3) &*;7:4&;&) %-< *'4$=$ >$ 73,-<4 %&#;=0 9$70 (#&=%,-8%$%;=0, $*+@,58() %() $,&8=&'$) 
%() &*'9#&X(). 
R%- &85%&,;=+ %101$ %() *+,%$) >$ <*:,@&; =$,%3#$ *,-8%$%&<134( $*+ A;$7$43) *#$8%;=+, &*' %() 
-*-'$) >$ $4$.,:7-4%$; +#$ %$ =<=#?1$%$. 
 
D&%$##;=-' *'4$=&) 75%;81-E - J&<1$%-A-%?4  R%&.$4-' 
G<%-' >$ &'4$; %-< 'A;-< %E*-< 1& %-<) 1&%$##;=-E) *'4$=&) 1& %( A;$7-,:, +%; $<%-' >$ &'4$; 
*,-8%$8'$) PJ54 =$%: DP2  40050. 
! *,-8%$8'$ PJ54 >$ &*;%<.@:4&%$; 1& 8%&.$4-*-'(8( %-< &,1$,'-< =$; %() *+,%$) $<%-E. L; 8%&.$4-' 
1&%$##;=-' *'4$=&) >$ &'4$; =$%:##(#-; .;$ &*'%-;@( %-*->3%(8(. 
 
 



 
 
Q#;=: *;4:=54 
G87:#&;&) 
(. /01234.45 6/. 7. 8204.5 /9:;< =/ 4></. ?./ 4<:204.5 @A5 6/. 32& /BC B7D0432<E, 09<:E6:.6@5, 67F3.A:G5 820E5 
6/. B;H/:75, 6/:2 D*" 49360 6/. 49515. 
(. /01234.45 /9:@5 =/ 4></. :/F4>/5 :GI4A5 46:C5 42< 233A5 DE:;5 /</1@D4:/.. 
D;=,-$<%+1$%-; 
J/ BD@B4. </ 46B3ED;<79< :.5 /B/.:G04.5 :A< +/<7<.0H;< VD! 0641 6/. C!! 19. 
(. H.6D7/9:CH/:7. 4></. 417K./0H@<7. H4 =4DH.62 6/. H/?<E:.62 0:7.F4>/, ;0:4 /9:CH/:/ </ K./6CB:79< H@045 
9B4D17D:>04.5 0F4:.62 H4?23E5 K.2D64./5 6/. 8D/F96963;H/:/.  
(. H.6D7/9:CH/:7. B79 =/ FDE0.H7B7.E=7L< =/ BD@B4. </ @F79< .0FL K./67BG5 H4?/3L:4DE G >0E /BC :E 0:2=HE 
8D/F96963;H/:75 0:7< B></6/ B79 FDE0.H7B7.7L<:/. 6/. 6/:’432F.0:7< 6 +&, =/ 4></. :LB79 ")4D.7D.0H7L 
@<:/0E5"  6/. CF. "HEK4<.67L 0EH4>79". 
C*;#-.;=0 #&;%-<,.'$ 1&%$BE 1;=,-$<%+1$%54 =$; $87$#&;?4  
#:E< B4D>B:A0E B79 =/ BD7:/F=7L< /01234.45 BD.< /BC :795 H.6D7/9:CH/:795 =/ BD@B4. H4:/IL :A< KL7 /9:;< 
0:7.F4>A< </ 9B2DF4. 4B.37?.6G 34.:79D?>/ H4 :.5 B/D/62:A /B/.:G04.5. 
- R& *&,'*%58( 87:#1$%-) *.@. 9,$@<=E=#51$ >$ *,3*&; 4$ $*-8<4A&>&' %- 1;=,+%&,- 13,-) %-< 
8<8%01$%-). 
- C:4 $*-%E@&; 4$ B&=$>$,'8&; %- 9,$@<=E=#51$ - 1;=,-$<%+1$%-) %+%& $<%+ %- $4$#$19:4&; %- 
*,-(.-E1&4- 8%-;@&'- *,-8%$8'$), ( 8<4%(=%;=0 $87:#&;$, =$; 1:#;8%$ 1& %-4 &#$@;8%+%$%- ='4A<4- .;$ 
*,+=#(8( 9#:9() 8%- 8E8%(1$. 
C*;#-.;=0 #&;%-<,.'$ 1&%$BE 1;=,-$<%+1$%54 
- R%(4 *&,'*%58( *-< *,-%$@>-E4 1;=,-$<%+1$%-; >$ *,3*&; 1&%$BE %54 AE- $<%?4 8%-;@&'54 4$ 
<*:,@&; &*;#-.;=0 #&;%-<,.'$ 1& %;) *$,$=:%5 $*$;%08&;): 
- R& *&,'*%58( 87:#1$%-) *.@. 9,$@<=E=#51$ >$ *,3*&; 4$ $*-8<4A&>&' %- 1;=,+%&,- 13,-) %-< 
8<8%01$%-). 
- C:4 $*-%E@&; 4$ B&=$>$,'8&; %- 9,$@<=E=#51$ - 1;=,-$<%+1$%-) %-< 1;=,+%&,-< 8%-;@&'-< %+%& $<%+ %- 
$4$#$19:4&; - 1;=,-$<%+1$%-) %-< 1&.$#E%&,-< 8%-;@&'-< =$; 1:#;8%$ 1& %-4 &#$@;8%+%$%- ='4A<4- .;$ 
*,+=#(8( 9#:9() 8%- 8E8%(1$. 
G1*&,+1&%,$ – M-#%+1&%,$ 
- HE*-): 8%,&7+1&4-< 8;A0,-< .;$ &4$##$88+1&4- ,&E1$ 15-60 !Y 1& -,>-.54;=0 *#:=$ A;$8%:8&54 
96 x  96. 
- F#:8(: 1,5. 
- UA,$8(: 1385 (1;$B+454. 
- PA;-=$%$4:#58(: $1*&,+1&%,$ 0.1 35) 1 VG 9-#%+1&%,$ 1 35) 5 VG. 
- Q*&,7+,%;8(:  8<4&@?) 20% %-< -4-1$8%;=-E ,&E1$%-) 0 %:8(), $1*&,+1&%,$: 50*#0  &*' 15, 4*#0 
&*' 2-3 min, 2*#0 &*' 10 min, 9-#%+1&%,$:   2*#0 &*'  1  min. 
- "&,;-@0 13%,(8(): $4:#-.$ 1& %( @,08(. 
- H$ 9-#%+1&%,$ >$ 8<4-A&E-4%$; $*+ 1&%$.5.;=+ A;$=+*%( &*%: >38&54. 
- H$ $1*&,+1&%,$ >$ &'4$; =$%:##(#$ .;$ $*&<>&'$) 8E4A&8( 0 1385 1&%$8@(1$%;8%0 /5G .;$ *&,;-@0 
1&%,08&54 *:45 $*+ 60G. 
 

 

2.2.2.6 R%-;@&'$ A;$=-*0) @$1(#0) %:8(). 
G<%+1$%-; A;$=+*%&) ;8@E-) 
L; $<%+1$%-; A;$=+*%&) ;8@E-) 8%( >38( *-< %-*->&%-E4%$; 3@-<4 8=-*+ %(4 *,-8%$8'$ %54 
1&%$8@(1$%;8%?4, .,$11?4, =;4(%0,54 =#*. "&,;#$19:4-<4 >&,1;=: =$; 1$.4(%;=: 8%-;@&'$, $*+ 34$ 8& 
=:>& *+#-, ,<>1;6+1&4$ .;$ %(4 *,-8%$8'$ 34$4%; <*&,>3,1$48() =$; 9,$@<=<=#?1$%-) (#&=%,-4;=-E 
%E*-< 1& ,<>1'8&;) $*+ 0,4 Pn 35) 1,0 In. L; &4A&'B&;) >$ &'4$; 1& ->+4( <.,?4 =,<8%:##54. 
S$ &'4$; 8E1754-; 1& %-<) F$4-4;81-E) VDC 0660 =$; VDC 0113 IEC 439  =$; >$ 3@-<4 %$ *$,$=:%5 
%&@4;=: @$,$=%(,;8%;=:: 
- %:8( 1+458() 1000 V ~ 
- -4-1$8%;=0 %:8( #&;%-<,.'$) : %-<#:@;8%-4 500V, 50!Y. 
- =#:8( 1+458() C 8E1754$ 1& VDC 0110 
- -4-1$8%;=0 34%$8( %(4 $4$.,$7+1&4( 8%$ 8@3A;$ 
- ;=$4+%(%$ A;$=-*0) : %-<#:@;8%-4 %- ,&E1$ %() 8%:>1() 9,$@<=<=#?1$%-) *-< $4%;8%-;@&' 8%-4 
*'4$=$ *-< $40=&; =$; 1:#;8%$ 8E1754$ 1& %-4 =E=#- %() A-=;10) 0 - H - C/0 - H - C/0 =$%: VDC 
0660/PCC 157. 
- A;:,=&;$ 650) : %-<#:@;8%-4 10.000 @&;,;81-' 8& 7+,%;8( GC1 - 13.;8%( >&,1-=,$8'$ #&;%-<,.'$) : 
40°9$>1-' C 
- >$ 3@-<4 %( A<4$%+%(%$ 4$ &B-*#;8>-E4 1& *(4'$ &,.$8'$) 0 3##&;X() %:8() 0 =;4(%0,$ 
%(#&@&;,;81-E. 
- L A;$=+*%() >$ 3@&; %,&;) >38&;) : "G2LPFHLR", "FNCPRHLR", "HRPJ" *#0,5) A;$=&=,;134&), =$; 
8(1&;-E1&4&) 8%(4 1*,-8%;40 %-< &*;7:4&;$. 
F:>& #&;%-<,.;=0 >38( %-< A;$=+*%( A&'@4&%$; =$>$,: $*+ %( >38( @&;,-#$90). 
! @&;,-#$90 >$ 3@&; %( A<4$%+%(%$ .;$ $##(#-1$4A:#58( %-< A;$=+*%( 8%( >38( "FNCPRHLR" 1& %(4 
*+,%$ 0 %- =:#<11$ %-< *'4$=$ =$; 4' $87$#;8>&' 1&  #-<=3%-. 
 
G*#-' A;$=+*%&) 7-,%'-< 
W#-; -; A;$=+*%&) 5) 100G >$ &'4$; %%:8() 500V, 34%$8() 8<4&@-E) ,-0), ;8@E-) 6&EB() =$; $*+6&<B() 
=$%' &#:@;8%-  '8() *,-) %(4 $4%;8%-;@-E8$ 8%(4 -4-1$8%;=0 34%$8( 8<4&@-E) ,-0) <*+ %:8( 
220V/380V, $,;>1-E @&;,;81?4 &#:@;8%- =$%: VDC. 
! =$%$8=&<0 %-<) =$; %$ %&@4;=: %-<) @$,$=%(,;8%;=: &'4$; +1-;$ *,-) &=&'4$ %54 $<%+1$%54 A;$=-*%?4 
;8@E-), &=%+) $*+ %;) *$,$=:%5 A;$7-,3): 
- L A;$=+*%() 3@&; AE- A;$=&=,;134&) >38&;) #&;%-<,.'$) "FNCPRHLR" - "G2LPFHLR". 
- /&4 *&,;#$19:4&; >&,1;=: =$; 1$.4(%;=: 8%-;@&'$. 
- /&4 *&,;#$19:4&; *(4'- &,.$8'$) 0 *(4'$ 3##&;X() %:8(). 
- ! ;=$4+%(%$ A;$=-*0) %54 8%$ 380V >$ &'4$; %-<#:@;8%-4 3B; 7-,3) %- -4-1$8%;=+ %-<) ,&E1$. 
- "$,$%0,(8(: L; *$,$*:45 A;$=+*%&) >$ 3@-<4 ;=$4+%(%$ 6&EB() %-<#:@;8%-4 %- ,&E1$ 
9,$@<=E=#58() 8%- %101$ %-< A;=%E-< +*-< %-*->&%-E4%$;. 
 
/;$=+*%&) A;$,,-0) 
S$ &'4$; =$%$8=&<$8134-; 8E1754$ 1& VDC 0660 =$; >$ x,(8;1-*-;-E4%$; .;$ *,-8%$8'$ $*+ ,&E1$ 
A;$,,-0) 8E1754$ 1& VDC 0100. H- -4-1$8%;=+ ,&E1$ A;$,,-0) >$ &'4$; 301G.  
2$ *,-9#&7>&' *,-8%$8'$ 9,$@<=<=#?1$%-) $4:#-.( 1& %(4 8%:>1( %-< *'4$=$ *-< >$ 
@,(8;1-*-;(>-E4. 
 



 

2.2.3. C=%3#&8( C,.$8;?4 

2.2.3.1 C.=$%:8%$8( !#&=%,;=?4 I,$11?4 
I&4;=: 
 W#&) -; .,$113) (@54&<%3) 0 -,$%3) 1& 85#04&) 0 @5,') 85#04&)) >$ %-*->&%(>-E4 *$,:##(#$ 0 =:>&%$ 
1& %;) *#&<,3) %54 %-'@54 =$; %54 -,-7?4. N-B3) A;$A,-13) .,$11?4 .&4;=: $*$.-,&E-4%$;. W*-< .;$ 
#+.-<) $4:.=() >$ *,3*&; 4$ %-*->&%(>-E4 %101$%$ .,$11?4 8& $*'>$4&) >38&;) 0 #-B: $<%+ >$ .'4&%$; 
1+4- 1&%: %(4 3.=,;8( %-< &*;9#3*-4%$ 1(@$4;=-E. R%(4 *&,'*%58( $<%0 -; .,$113) >$ %-*->&%-E4%$; 
$*$,$'%(%$ 138$ 8& @$#<9A-85#04&). 
W#$ %$ =$%$=+,<7$ %101$%$ %54 .,$11?4 *-< A;$*&,4-E4 %$ A:*&A$, >$ *,-8%$%&E-4%$; 13@,; 34$ EX-) 
1,60 1. 1& @$#<9A-85#04&) 9$,35) %E*-<. C*'8() 1& @$#<9A-85#04&) >$ *,-8%$%&E-4%$; =$; +#$ %$ 
-,;6+4%;$ %101$%$ %54 .,$11?4 *-< %-*->&%-E4%$; 8& @$1(#+%&,- EX-) $*+ %- 8<4(>;8134-. 
 
C.=$%:8%$8( 85#(4?8&54 
I&4;=: 
- H- 8E8%(1$ %54 85#(4?8&54 %() (#&=%,;=0) &.=$%:8%$8() >$ =$%$8=&<$8>&' 3%8; ?8%& 4$ &'4$; 
A<4$%0 ( 1&%3*&;%$ %-*->3%(8( 0 =$; $7$',&8( %54 =$#5A;?8&54 =$; 8<,1$%?8&54 &E=-#$ =$; @5,') 
%,$<1$%;81-E) %() 1+458() %-<). 
- ! A;:1&%,-) %54 85#0454 >$ &'4$; +*5) A&'@4&%$; 8%$ 8@3A;$ =$; >$ %(,(>-E4 -; 8@&%;=3) A;$%:B&;) %54 
=$4-4;81?4. W*-< -; =$4-4;81-' A&4 *,-9#3*-<4 A;:1&%,- 85#04$, >$ &*;#3.&%$; =$%:##(#( A;:1&%,-) 
.;$ %(4 &E=-#( 3#B( %54 $.5.?4 0 =$#5A'54. 
- L; $=,;9&') >38&;) =$; %$ EX( $*+ %- A:*&A- %54 =-<%;?4 8E4A&8() %54 A;$7+,54 -,.:454, 8<8=&<?4 
=#*. <*-A&;=4E-4%$; $*+ %(4 C*'9#&X(, %(4 -*-'$ - G4:A-@-) *,3*&; 4$ 8<19-<#&E&%$; 8& +#( %(4 
A;:,=&;$ %54 &,.$8;?4. 
- L; 85#(4?8&;) >$ %-*->&%-E4%$; 1& &#$7,: =#'8( *,-) %$ =-<%;: A;$=#:A58(), >$ &'4$; $*$##$.134&) 
$*+ 8;7?4;$, *,-) $*-7<.0 &4A&@-134() 8<.=34%,58() 4&,-E 138$ 8' $<%3) =$; >$ 8<4$4%-E4 %$ =-<%;: 
A;$=#:A58() =:>&%$. 
- L; &*;%,&*+1&4&) =$1*<#?8&;) @5,') 1&8-#:9(8( =-<%;-E A;$=#:A58() >$ &'4$; =$%' $4?%$%- +,;- 
%,&;). L; 85#(4?8&;) A&4 *,3*&; 4$ 3@-<4 *&,;88+%&,&) $*+ AE- &4?8&;) =:>& %,'$ 13%,$, -E%& >$ 3@-<4 
3458( +%$4 ( $*+8%$8( %54 &=$%3,5>&4 =-<%;?4 A&4 <*&,9$'4&; %- 34$ 13%,-. C4?8&;) 138$ 8%- *:@-) 
%54 %-'@54 0 %54 A$*3A54 $*$.-,&E-4%$;. 
- L; =$1*E#&) %54 85#(4?8&54 -*-E A&4 @,(8;1-*-;-E4%$; &;A;=: 8%-;@&'$ 3#B() >$ 3@-<4 $=%'4$ =$%' 
&#:@;8%- '8( 1& -=%? 7-,3) %(4 A;:1&%,- %-< 85#04$. 
- L; 8<4A38&;) %54 *#$8%;=?4 85#0454 1& %$ =-<%;: >$ &'4$; *&,$8%3) &4? %54 <*-#-'*54 85#0454 >$ 
&'4$; =-@#;5%3). 
- H$ :=,$ %54 85#0454 >$ 3@-<4 *,-8%+1;$ .;$ *,-8%$8'$ %54 $.5.?4 =$; %54 =$#5A'54. L; =&4-' 
85#04&) >$ *51$%'6-4%$; =$; 138$ 8' $<%-E) >$ %-*->&%-E4%$; -A(.-'. 
 
T54&<%3) R5#(4?8&;) 
- G4:#-.$ 1& %(4 =$%(.-,'$ %54 @?,54 >$ @,(8;1-*-;(>-E4: 
vii. R=#(,-' *#$8%;=-' 85#04&) (&<>&') 0 8*;,:#) 8& +#-<) %-<) B(,-E) @?,-<). 
viii. CE=$1*%-; @$#<9A-85#04&) (8*;,:#) 0 @$#<9A-85#04&) &<>&') 8& +#-<) %-<) B(,-E) @?,-<) .;$ %$ 
%101$%$ %54 .,$11?4 *-< $*$;%-E4 1'$ $<B(134( 1(@$4;=0 $4%-@0. 
 

 
 
ix. T$#<9A-85#04&) &<>&') 8& +#-<) %-<) <.,-E) @?,-<) =$; 8%;) @54&<%3) 85#(4?8&;) 8& 
8=<,+A&1$. R%;) @54&<%3) 85#(4?8&;) 8& 8=<,+A&1$ ( @,(8;1-*-'(8( &E=$1*%54 @$#<9A-85#0454 
&*;%,3*&%$; 1+4- 1&%: $*+ 3.=,;8( %-< &*;9#3*-4%$ 1(@$4;=-E 8%;) *&,;*%?8&;) *-< A&4 <*:,@&; 
=$434$) ='4A<4-) 4$ <*-8%-E4 -; 85#04&) $<%-' =$=?8&;) 0 *$,$1-,7?8&;) $*+ %(4 =$%$8=&<0 %-< 
1*&%+4. 
x. R%;) *&,;*%?8&;) *-< <*:,@-<4 @?,-; 1& &;A;=3) $*$;%08&;), -; @54&<%3) .,$113) >$ 
=$%$8=&<$8>-E4 8E1754$ 1& %;) -A(.'&) *-< $4$.,:7-4%$; 8%$ 8@3A;$ (.&4;=: 0 #&*%-1&,&;?4). ! 
=$%$8=&<0 @54&<%?4 .,$11?4 1& =$#?A;$ *-< >$ %-*->&%(>-E4 $*' &<>&'$) 138$ 8%- &*'@,;81$ A&4 
>$ .'4&; A&=%0. 
- ! $*+8%$8( 1&%$BE AE- *$,$##0#54 85#0454 >$ &'4$; =$%: &#:@;8%- '8( 1& %(4 13.;8%( %54 
A;$13%,54 %54 85#0454. 
- ! &#:@;8%( $*+8%$8( $*+ 85#04&) >&,1-E 4&,-E (*.@.   >3,1$48()) >$ &'4$; 30 cm =$; $*+ 
85#04&) =,E-< 4&,-E 15cm. 
- L; @54&<%-' 85#04&) =$; %$ =-<%;: A;$=#:A58(), -,.:454 A;$=-*0), ,&<1$%-A-%?4 =#*., >$ 
%-*->&%-E4%$; 1&%: %(4 B0,$48( %() A&E%&,() 8%,?8() %-< &*;@,'81$%-) =$; 8& %3%-;- 9:>-) ?8%& 1&%: 
%(4 %&#;=0 8%,?8(, -; 85#04&) 4$ 9,'8=-4%$; %-<#:@;8%-4 12@#8. =:%5 $*+ %(4 %&#;=0 &*;7:4&;$ %-< 
%-'@-< &4? %$ @&'#( %54 =-<%;?4 4$ &'4$; 8%- 'A;- &*'*&A- 1& $<%+. 
- H$ $<#:=;$ .;$ %-4 &4%-;@;81+ %54 85#0454 >$ $4-'.-4%$; 1& =:>& &*;13#&;$ ?8%& 4$ *&,;-,'6-4%$; 
8%- &#:@;8%- -; 7>-,3) %54 =-4;$1:%54 =$; %54 %-'@54. ! #:B&<8( =$%$8=&<?4 $*+ 8=<,+A&1$ (%-;@'$, 
<*-8%<#?1$%$, A-=-' =#*.) @5,') %(4 :A&;$ %-< &*;9#3*-4%$ 1(@$4;=-E $*$.-,&E&%$;. 
- ! 8%&,358( %54 85#0454 =$; =-<%;?4 8%-<) %-'@-<) >$ .'4&%$; $*-=#&;8%;=: 1& %8;1&4%-=-4'$ 
%$@&'$) *0B(). G*$.-,&E&%$; ( @,(8;1-*-'(8( .EX-<. 
- W#&) -; &.=$%$8%:8&;) 85#(4?8&54 &4%+) -*#;8134-< 8=<,-A31$%-) *,3*&; 4$ .'4-4%$; =$%: %,+*- 
*-< A&4 >$ &*(,&:6&; %(4 8%$%;=0 $4%-@0 %() =$%$8=&<0). >$ =$%$9:##&%$; *,-8*:>&;$ ?8%& -; 
85#(4?8&;) 4$ -A&E-<4 8%- 138- *&,'*-< %54 *#$=?4 =$; ( &B5%&,;=0 %-<) A;:1&%,-) A&4 >$ *,3*&; 
4$ <*&,9$'4&; %- 1/3 %-< *:@-<) %() *#:=$). R& *&,;*%?8&;) -A&E8&54 AE- 0 *&,;88+%&,54 
*$,:##(#54 85#(4?8&54 >$ <*:,@&; $*+8%$8( 1&%$BE %54 '8( 1& %- %,;*#:8;- %() A;$13%,-< %54 .;$ 
%(4 &;8@?,(8( &4A;:1&8$ %-< 8=<,-A31$%-). R5#(4?8&;) 1&.3>-<) *:45 $*+ 23 @;#. >$ -A&E-<4 
*$,:##(#$ 0 =:>&%$ *,-) %-4 =E,;- -*#;81+ %() *#:=$) 
 
 



 
 
L,$%3) R5#(4?8&;) 
- L; -,$%3) 85#(4?8&;) >$ $*-%&#-E4%$; $*+ @$#<9A-85#04&). 
- H$ $*$;%-E1&4$ &B$,%01$%$ .;$ %(4 8%&,358( %54 85#(4?8&54 8%;) &*;7:4&;&) %-< =%;,'-< 
(8%(,'.1$%$ %-'@-<, $4$,%0,&) -,-70), &#:81$%$ $4:,%(8() =#*.) >$ &'4$; $*+ .$#9$4;8134- 8'A(,- 1& 
A;*#0 8%,?8( $4%;8=5,;=0) 9$70). 
- H$ &B$,%01$%$ $<%: >$ 8%&,&5>-E4 1& &.=:,8;$ 8%&#3@( $*+8%$8(). R& -*%-*#;4>-A-10 1& =-@#'&) 
=$; *:=%58( 8%- &*'@,;81$, 8& %-;@-*-;'$ $*+ 8=<,+A&1$ 1& =-@#'&) 1&%:##-< =$; 8& BE#;4&) &*;7:4&;&) 
1& =-@#'&) BE#-<. T,08( .EX-< .;$ %(4 8%&,358( &B$,%(1:%54 $*$.-,&E&%$;, @,08( %8;134%-< &'4$; 
$*-A&=%0. 
- R%0,;B( -,$%0) 85#0458() *,-9#3*&%$; =:>& 1,21 0 #;.+%&,- =$; =$%: %,+*- %3%-;- ?8%& -; 85#04&) 
4$ $*3@-<4 $*+ %-<) %-'@-<) =$%' &#:@;8%- 20 .*.*. R& *&,'*%58( -1$A;=0) 8%0,;B() 85#0454 >$ 
@,(8;1-*-;(>-E4 1&%$##-=$%$8=&<3) $*+ 1-,7-8'A(,- (.54'&) =$; *;) *#&<,:) 50mm =$%' &#:@;8%-. H- 
8E8%(1$ %54 -,$%?4 85#(4?8&54 >$ &'4$; <A$%-8%&.$4+. 
- L; 85#(4?8&;) >$ %-*->&%(>-E4 *$,:##(#$ *,-) %;) *#&<,3) %54 %-'@54 =$; 3%8; ?8%& ( 1&%$BE A<- 
8<4A,-1;=?4 85#0454 $*+8%$8( 4$ &'4$; *&,'*-< '8( *,-) %(4 13.;8%( %54 A;$13%,54 %54 85#0454 ( 
A& $*+8%$8( 85#04$ (#&=%,;=0) &.=$%:8%$8() $*+ 85#04$ >&,1-E 4&,-E (*.@. >3,1$48()) >$ &'4$; =$%' 
&#:@;8%- 30cm =$; $*+ 85#04&) =,E-< 4&,-E 15cm. 

2.2.3.2 C.=$%:8%$8( G.5.?4 =$; F$#5A'54 
I&4;=: 
L $.5.+) .&'58() =$; - -<A3%&,-) =:>& =<=#?1$%-) >$ &'4$; %() ;A'$) 1+458() 1& %-<) <*+#-;*-<) 
$.5.-E) %-< =<=#?1$%-) =$; >$ %-*->&%(>-E4 138$ 8%-4 'A;- 85#04$ 1& %-<) <*-#-'*-<) $.5.-E) &=%+) 
$4 A&'@4&%$; A;$7-,&%;=: 8%$ 8@3A;$. 
! $*+8%$8( %54 $.5.?4 =:>& =<=#?1$%-) >$ &'4$; 'A;$ 8& +#- %- 10=-) %-<. G*$.-,&E&%$; ( 1&%$9-#0 
%() A;$%-10) %-<) @5,') *$,&19-#0 8%-;@&'54 $87:#&;$). C#:@;8%( A;$%-10 $.5.?4 8%$ =<=#?1$%$ 
75%;81-E >$ &'4$; 1,5 mm² =$; 8%$ =<=#?1$%$ ='4(8() 2,5 mm2.  
L; $.5.-' >$ &4?4-4%$; =$; A;$=#$A'6-4%$; 138$ 8& =-<%;: 1& A;$=#$A5%0,&) *-,8&#:4() 0 8E87;.B(). 
F$%: %(4 $*-.E1458( %54 $=,?4 %54 $.5.?4 $*+ %- 1-45%;=+ %-<) *&,'9#(1$, >$ A'4&%$; 1&.:#( 
*,-8-@0 ?8%& 4$ 1(4 A(1;-<,.-E4%$; &.=-*3) 8%-4 $.5.+ =$; 4$ 1(4 *,-=$#&'%$; 6(1;: 8%(4 <*+#-;*( 
1+458(. 
F$#?A;$ @54&<%: 8& %-'@-<) 0 -,-73) A&4 >$ .'4-4%$; A&=%:. 
 

 
 
L,$%3) .,$113) =$#5A'54 
L,$%3) .,$113) =$#5A'54 @5,') 85#04&) >$ 8%(,'6-4%$; 8%$ -;=-A-1;=: 8%-;@&'$ =:>& 300mm 1& 
A;1&,0 *#$8%;=: 8%(,'.1$%$ $*+8%$8() 0 1& 87;.=%0,&) $*+ .$#9$4;8134- @:#<9$ >&,10) &19:*%;8(). 
I,$113) AE- 0 *&,;88-%3,54 8<4A,-1;=?4 -A&<+4%54 =$#5A'54 >$ 8%(,'6-4%$; 1& 8%(,'.1$%$ 
9,;8=+1&4$ 8%(4 'A;$ &<>&'$ =$; 8%&,&-E1&4$ 8& 1&%$##;=0 =$%$8=&<0 (8;A(,+A,-1-). 
"&,;88+%&,$ =$#?A;$ 1*-,&' 4$ 73,-4%$; =$; 8& =$4:#;$ $*+ .$#9$4;8134( #$1$,'4$ *:@-<) 0,8 @#8. 
1& 4&<,?8&;) *-< >$ 8%(,'6-4%$; =:>& 1,21 0 #;.+%&,- 0 8& &;A;=3) 8@:,&) 
H$ =$#?A;$ ;8@E-) A&4 >$ %-*->&%(>-E4 *:45 8& 8@:,&) 8%0,;B() =$#5A'54 *-< *,-9#3*&%$; 4$ 
@,(8;1-*-;(>-E4 .;$ =$#?A;$ %(#&*;=-;454;?4 =$; (#&=%,-4;=-E &B-*#;81-E. 
H$ =$#?A;$ >$ *,3*&; 4$ %-*->&%-E4%$; *,-8&=%;=: 8%( >38( %-<) 8%;) 8@:,&) 0 8=:#&) 8%0,;B() 
=$#5A'54 @5,') 4$ %&>-E4 <*+ 3#B(. >$ %-*->&%-E4%$; '8;$ =$>' +#- %- 10=-) %() 8@:,$) =$#5A'54 =$; 
>$ 8%&,&?4-4%$; $4: A;$8%01$%$ 3-4 &.=$,8'54 9$>1'A54. R%$ 8(1&'$ *-< 34$ =$#?A;- &.=$%$#&'*&; 
1;$ 8@:,$ 0 +%$4 *&,4:&; $*+ 1;$ 8@:,$ 8& :##( 8@:,$ =$#5A'54 %- =$#?A;- >$ *&,;%<#'.&%$; 1& 
8<4A&%0,&) %$;4'&) $*+ =$#<1134- 1& *#$8%;=+, 1$#$=+ @$#E9A;4- 8E,1$ 0 87;.=%0,&) $*+ @:#<9$ 
>&,10) &19:*%;8(). 
L; =$#5A;?8&;) .&4;=: >$ *,3*&; 4$ &=%&#&8%-E4 =$%: %&@4;=: :,%;- %,+*- 4$ *,-8%$%&<>-E4 $*+ 
7<8;=3) 6(1;3) =$; 4$ A,-1-#-.(>-E4 3%8; ?8%& 4$ 1(4 <*+=&;4%$; 8& >&,1-=,$8'&) 1&.$#E%&,&) 
&=&'454 .;$ %;) -*-'&) 3@-<4 &.=,;>&'. L; <*-A&'B&;) %-< =$%$8=&<$8%0 +8-4 $7-,: %(4 &#:@;8%( $=%'4$ 
=:1X() *,3*&; 4$ %(,(>-E4. 
 
R01$48( =$#5A'54 
I;$ %(4 &*;801$48( %-< $,;>1-E =<=#?1$%-) *-< $4%;8%-;@&' 8& =:>& =$#?A;- >$ %-*->&%(>-E4 &;A;=: 
$<%-=+##(%$ =-#:,$ $*+ *#$8%;=0 E#( ='%,;4-< @,?1$%-) 1& 1$E,$ .,:11$%$ =$; $,;>1-E) .;$ %-4 
@$,$=%(,;81+ %-< =<=#?1$%-) 8E1754$ 1& %$ 8@3A;$. 
",-=&;134-< .;$ &<>&'&) A;$A,-13) -,$%?4 =$#5A;?8&54, ( &*;801$48( >$ %-*->&%&'%$; =:>& %,'$ 
13%,$ 0 #;.+%&,-. R& =:>& :##( $##$.0 A;&E><48() =$#5A'58() >$ %-*->&%&'%$; 43$ &*;801$48(. R& 
*&,'*%58( 1( -,$%?4 A;$A,-1?4 ( &*;801$48( >$ %-*->&%&'%$; *:45 8%$ =$#?A;$ 138$ 8%$ =-<%;: 
3#B() 0 A;$=#:A58(). 
 
2.2.3.3 C.=$%:8%$8( K5%;8%;=?4 R51:%54 
H$ 75%;8%;=: 8?1$%$ >$ %-*->&%(>-E4 8E1754$ 1& %;) -A(.'&) %-< =$%$8=&<$8%0 =$; 8%(4 A;:%$B( =$; 
>38( *-< $4$73,&%$; 8%$ 8@3A;$. H$ $=,;90 8(1&'$ %-*->3%(8() %54 75%;8%;=?4 >$ &.=,'4-4%$; $*+ 
%(4 &*'9#&X(, &*' %+*-< %-< 3,.-<, $4:#-.$ 1& %;) 8<4>0=&) *-< &*;=,$%-E4. R& *&,;*%?8&;) 
@54&<%?4 75%;8%;=?4 &4%+) X&<A-,-70) ( $.='8%,58( %-<) >$ .'4&%$; &*' %-< 73,-4%-) -;=-A-1;=-E 
8=&#&%-E =$; +@; &*' %() <*:,@-<8$) X&<A-,-70). H-<#:@;8%-4 AE- 8%(,'.1$%$ $4: 75%;8%;=+ *,3*&; 
4$ *,-9#3*-4%$;. 
R%;) *&,;*%?8&;) +*-< %$ =$>-,;6+1&4$ 75%;8%;=: 8?1$%$ &'4$; 1;=,+%&,$ %-< =$4:9-< %() 
X&<A-,-70), >$ 8%(,'6-4%$; =$; *:#; $4&B:,%(%$ &*' %-< -;=-A-1;=-E 8=&#&%-E. H$ &*;%-'@;$ =$; 
@54&<%: 75%;8%;=: 8?1$%$ *,3*&; 4$ 3@-<4 %(4 A<4$%+%(%$ $##$.0) %54 #$1*%0,54 $*+ %- 
&1*,+8>;- %101$ %-<). 
 
2.2.3.4 C.=$%:8%$8( !#&=%,;=?4 ";4:=54 
! %-*->3%(8( %54 *;4:=54 8%( >38( %-<) =$; ( 8E4A&8( 1&%$BE %-<) =$; 1& %$ &;8&,@+1&4$ =$; 
$*&,@+1&4$ =$#?A;$ >$ .'4&; $*+ &B&;A;=&<134- *,-85*;=+ =:%5 $*+ %(4 &*'9#&X( /;*#51$%-E@-< 
D(@$4;=-E. L; 8<4A38&;) %54 &;8&,@+1&454 =$; &B&,@+1&454 .,$11?4 %54 *;4:=54 >$ .'4-<4 +*5) 
$4$73,&%$; 8%;) *,-A;$.,$73). 
L; *'4$=&) >$ &.=$%$8%$>-E4 &*'%-;@-; 0 @54&<%-' +*5) A&'@4&%$; 8%$ 8@3A;$ =$; =$%: %,+*- %3%-;- 
?8%& %- *:45 13,-) %-<) 4$ 9,'8=&%$; %- *-#E 1,90m $*+ %(4 8%:>1( %-< A$*3A-<. 
 



  
 
5.4 K5%-9-#%$V=: 
 
C;8$.5.0  
 
R%- *#$'8;- %() $4$1+,758() =$; %-< 9;-=#;1$%;=-E 8@&A;$81-E %() "#$%&'$) !,?54 "-#<%&@4&'-< %-< 
/01-< 2. "&4%3#(), 34$ *,?%- K/M 8E8%(1$ >$ &.=$%$8%$>&' 8%;) A;$>38;1&) &*;7:4&;&) %54 8%&.:8%,54 
%-< "4&<1$%;=-E F34%,-< %-< /01-<, -; -*-'&) =$; $4&1*+A;8%&) $*+ *$,$=&'1&4&) A-13) *-< >$ 
1*-,-E8$4 4$ &*;73,-<4 8='$8( 8%-<) K/M 8<##3=%&). 
 
F$%:##(#-) @?,-) .;$ %(4 &.=$%:8%$8( &4+) A&E%&,-< K/M 8<8%01$%-) >&5,0>(=& %- =%0,;- %-< 
/(1-%;=-E R@-#&'-< *-< 9,'8=&%$; 8%( 4+%;$ *#&<,: %() "#$%&'$). R& $<%0 %( >38( 1&#&%0>(=& ( 
&.=$%:8%$8( K/M 8<##&=%?4 5) 8<43@&;$ %() 8%3.(), =$>?) =$; 8%(4 *,+8-X( %() 4-%;-$4$%-#;=0) 
*#&<,:) %-< =%(,'-<, .;$ #+.-<) &*;A&;=%;=-E). H- 8<.=&=,;134- 8E8%(1$, &=%+) $*+ %(4 &=1&%:##&<8( %() 
*$,$.+1&4() &43,.&;$), >$ 3@&; =$; ,+#- &=*$;A&<%;=+.  
 
R%- *$,+4 =&7:#$;- &B&%:6&%$; ( $4:*%<B( %54 &4 #+.5 K/M 8<8%(1:%54 1& #&*%-1&,0 *$,-<8'$8( %54 
*,-%&;4+1&454 A;$1-,7?8&54 =:>& K/M 8<8%-;@'$). I;$ %( 1&#3%( >&5,0>(=& 5) &4A&;=%;=+) %E*-) K/M 
*#$;8'-< %- Conergy PowerPlus 220P, %- -*-'- &'4$; *#$'8;- *-#<=,<8%$##;=-E Si 1& %$ $=+#-<>$ =E,;$ 
@$,$=%(,;8%;=:: 
 

 
H$ %&@4;=: @$,$=%(,;8%;=: %-< &4A&;=%;=-E *#$;8'-< *$,-<8;:6-4%$; 8%- $4%'8%-;@- *$,:,%(1$ 1& 
*&,;88+%&,&) #&*%-13,&;&).  ! $*+A-8( %-< K/M *#$;8'-< &'4$; 13,51%. ! $4-@0 ;8@E-) &'4$; 1+4- >&%;=0 
=$; $43,@&%$; 8& +2,5%. /'4&%$; &..E(8( $*+A-8() 12 &%?4 8%- 92% %() -4-1$8%;=0) ;8@E-) =$; 25 &%?4 
8%- 80 %. ! &..E(8( *,-V+4%-) &'4$; 5&%0) 1& A<4$%+%(%$ &*3=%$8() 8%$ 10 3%(. H$ K/M *#$'8;$ &'4$; 
*;8%-*-;(134$ 8E1754$ 1& %$ *,+%<*$ IEC/EN 61215 =$; IEC/EN 61730.  
 
C*;*#3-4, *,-%&'4&%$; ( &.=$%:8%$8( %,'%-< K/M 8<8%01$%-), *#(8'-4 %() *$;A;=0) @$,:), %- -*-'- 
8E8%(1$ >$ 8%(,'6&%$; 8& *,-8@&A;$8134( A-10 1-4%3,4$) $;8>(%;=0) =$; >$ 8<4A<:6&%$; 1& 75%;8%;=+ 
&B5%&,;=-E @?,-<. 

 
 

 

L4-1$8%;=0 ;8@E) 
/;$8%:8&;) (Dx"xQ) mm 
J&E1$ 9,$@<=<=#?8&5) 
H:8( $4-;=%-=<=#?8&5) 
H:8( 8%- 8(1&'- 13.;8%() ;8@E-) (MPP) 
U4%$8( 8%- 8(1&'- 13.;8%() ;8@E-) (MPP) 

220 W 
1651x986x46 mm 
8,15 G 
36,23 V 
29,01 V 
7,65 A 

 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.4.1 C.=$%:8%$8( K/M 8<8%01$%-) 35) 15,4 kW 8%(4 "#$%&'$ !,?54 "-#<%&@4&'-< %-< /01-< 23$) 
"&4%3#()  
 
R%(4 *$,-E8$ &4+%(%$ &B&%:6&%$; ( $4:*%<B( K/M 8<8%01$%-) &*' %54 8%&.:8%,54 %-< "4&<1$%;=-E F34%,-<, 
+*5) $<%: >$ A;$1-,75>-E4 1&%: %(4 $4:*#$8( %() =&4%,;=0) *#$%&'$) %-< A01-< 23$) "&4%3#() (R@. 1). H- 
.&5.,$7;=+ *#:%-) =$; 10=-) %() %-*->&8'$) &.=$%:8%$8() %-< K/M 8<8%01$%-) &'4$; 38- 03` =$; 23- 
51`$4%'8%-;@$.  
 

 
 

 
R@.1 R%3.$8%,$ "4&<1$%;=-E F34%,-< 8%- A01- 2. "&4%3#(). 

 
H- K/M 8E8%(1$ *,-9#3*&%$; 4$ &.=$%$8%$>&' 8%( 8%3.( *-< =$#E*%&; %(4 &'8-A- %-< "4&<1$%;=-E F34%,-< 
1& 8<4-#;=0 &*;7:4&;$ 79,8 m2 =$; =#'8( 8- (R@. 1 - H101$ 1) =$>?) =$; 8%- 8%3.$8%,- *-< 9,'8=&%$; 8%( 
9-,&;40 *#&<,: %() *#$%&'$) &*' %() -,-70) %-< "4&<1$%;=-E F34%,-< 1& &*;7:4&;$ *&,' %$ 57 m2 =$; =#'8( 
27- (R@. 1 - H101$ 2). L *,-8$4$%-#;81+) %54 AE- &*;7$4&;?4 &'4$; 9+,&;-–A<%;=+), 1& $6;1-E>;$ .54'$ *&,' 
%;) 35-. L; &*;7:4&;&) %54 &4 #+.5 8%&.?4 &'4$; A;$>38;1&) 8%- 8E4-#+ %-<), &7+8-4 A&4 *,-=E*%&; 60%(1$ 
8=;:8&54 $*+ *$,$=&'1&4$ &1*+A;$.  
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

!"#"$ 1

!"#"$ 2 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
T,(8;1-*-;?4%$) K/M *#$'8;$ =,<8%$##;=-E %E*-<, ( 13.;8%( A<4$%+%(%$ $4:*%<B() K/M 8%- %101$ 1 &'4$; 
8,8 kW, &4? 8%- A&E%&,- %101$ 6,6 kW. R<4-#;=: #-;*+4 &.=$>'8%$%$; K/M 8E8%(1$ ;8@E-) 15,4 kW, %- -*-'- 
8<4A3&%$; 1& %- A'=%<- %() /C! 1385 %() <7;8%:1&4() *$,-@0) %-< "4&<1$%;=-E F34%,-< (&4A&@-1345) 1& 
&*$EB(80 %(), &7+8-4 $<%+ $*$;%(>&').  
 
RE1754$ 1& %-<) *-#&-A-1;=-E) +,-<) .;$ %(4 &.=$%:8%$8( K/M 8& 8%3.&) =$; A?1$%$, *,3*&; 4$ %(,&'%$; 
$*+8%$8( 0.5 m $*+ %- *&,'.,$11$ %() 8<4-#;=0) &*;7:4&;$) %() 8%3.() (KCF 344/20.07.2009). ! $*$'%(8( 
$<%0 $7-,: 8& 8%3.&) =%(,'54. R& *&,'*%58( *-< %$ &4 #+.5 8%3.$8%,$ =,;>&' +%; <*+=&;4%$; 8& $<%3) %;) 
$*$;%08&;), ( A;$>38;1( &*;7:4&;$ $4:*%<B() %-< 8<8%01$%-) 1&%$9:##&%$;, 1& &*'*%58( 8%( 8<4-#;=0 
&.=$%&8%(134( ;8@E %-< K/M 8<8%01$%-).  
 
R%( 8<43@&;$ 1&#&%?4%$; %,&') *&,;*%?8&;) +8-4 $7-,: %- A;$1-,7-E1&4- K/M 8E8%(1$, -; -*-'&) 
A;$7-,-*-;-E4%$; $4:#-.$ 1& %;) %(,-E1&4&) $*-8%:8&;) $*+ %$ +,;$ %54 8%&.:8%,54. R%(4 *,?%( 
*&,'*%58( (R@. 2-1) &B&%:6&%$; ( A<4$%+%(%$ =:#<X() +#() %() A;$>38;1() &*;7:4&;$) 1& 8<4-#;=0 
&.=$%&8%(134( ;8@E K/M 15,4 kW. ! A&E%&,( *&,'*%58( (R@. 2-2) $7-,: 8& %0,(8( %54 $*$;%-E1&454 
$*-8%:8&54 1+4- 8%- %101$ 1, %- -*-'- 1*-,&' 4$ >&5,(>&' 5) 8%3.( %-< "4&<1$%;=-E F34%,-<. ! 8<4-#;=0  
&.=$%&8%(134( ;8@E) &'4$; 13,6 kW. C:4 *,3*&; 4$ %(,(>-E4 $*-8%:8&;) $*+ %$ +,;$ =$; %54 AE- %1(1:%54, ( 
8<4-#;=0 &.=$%&8%(134( ;8@E) %-< K/M 1&;?4&%$; 8%$ 10,3 kW (R@. 2-3). 
 
! A;:%$B( %54 K/M *#$;8'54 =$; 8%;) %,&') *&,;*%?8&;) &'4$; 8& landscape (1& %( 1&.:#( %-<) A;:8%$8( 
*$,:##(#$ *,-) %- &*'*&A- %-< &A:7-<)). ! A;:%$B( $<%0 &*;#3.&%$; .;$%' &*;%,3*&; %(4 13.;8%( $B;-*-'(8( 
%-< 8<4+#-< %() A;$>38;1() &*;7:4&;$) $*+ *#&<,:) &.=$%&8%(134() ;8@E-). R%(4 *&,'*%58( *-< A&4 
$*$;%&'%$; ( %0,(8( 8<.=&=,;13454 $*-8%:8&54, 1& A;:%$B( landscape *,-=E*%&; K/M 8E8%(1$ 15,4 kW &4? 
1& A;:%$B( portrait %54 K/M *#$;8'54 ( 13.;8%( ;8@E) &'4$;  14,96 kW. C*'8(), $4 $*$;%(>&' %0,(8( $*+8%$8() 
0,5 m $*+ %$ +,;$ %-< 8%&.:8%,-< %-< %101$%-) 2, ( %-*->3%(8( %54 *#$;8'54 8& A;:%$B( portrait &'4$; 
$=$%:##(#(.  
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.4.1.1 "#0,() =:#<X( %54 A;$>38;154 &*;7$4&;?4 
 
D& %(4 *#0,( =:#<X( %54 A;$>38;154 &*;7$4&;?4 *,-=E*%&; ( $4:*%<B( K/M 8<8%01$%-) 1& 8<4-#;=0 
&.=$%&8%(134( ;8@E 15,4 kW (R@. 2). ! A;:%$B( %() K/M 8<8%-;@'$) 8%- %101$ 1 *&,;#$19:4&; *34%& 8&;,3) %54 
8 K/M *#$;8'54 3=$8%( (8<4-#;=: 40 K/M *#$'8;$ 1& 220 W/ *#$'8;- = 8,8 kW). ! A;:%$B( %54 K/M *#$;8'54 
&'4$; %E*-< landscape. ! K/M .&440%,;$ 8%- %101$ 1 =$%$#$19:4&; 8<4-#;=0 &*;7:4&;$ 5 m x 13,2 m = 66 m2. 
R%- %101$ 2 &.=$>'8%$4%$; 8<4-#;=: 30 K/M *#$'8;$ 8& AE- 8&;,3) %54 15, 1& 8<4-#;=0 ;8@E 6,6  kW =$; 
&*;7:4&;$ 2 m x 24,8 m = 49,5 m2.  
 
G*+ (#&=%,-#-.;=0) *#&<,:), ( K/M .&440%,;$ *&,;#$19:4&; 3B; 1-4-7$8;=-E) $4%;8%,-7&'), ?8%& ( ;8@E) *-< 
&.=$>'8%$%$; 8& =:>& %101$ 4$ A;$1-;,:6&%$; 8<11&%,;=: 8%;) %,&;) 7:8&;). ! 8<8%-;@'$ %-< %101$%-) 1 
8<4A3&%$; 8%- A'=%<- %() /C! 1385 %,;?4 $4%;8%,-7354 &4A&;=%;=-E %E*-< SMA Sunny Boy 3000. R& =:>& 
$4%;8%,-73$ 8<4A3&%$; 1'$ 8%-;@&;-8&;,: %54 K/M *#$;8'54, 8%-<) AE- *,?%-<) 1& 13 *#$'8;$ =$; 8%-4 %,'%- 
1& 14 *#$'8;$  (2,86 kW =$; 3,08 kW K/M $4: $4%;8%,-73$ $4%'8%-;@$). ! 8<8%-;@'$ %-< %101$%-) 2 8<4A3&%$; 
8%- A'=%<- 1& %,&;) $4%;8%,-7&') &4A&;=%;=-E %E*-< SMA Sunny Boy 2100TL. R& =:>& $4%;8%,-73$ 8<4A3&%$; 
1'$ 8%-;@&;-8&;,: %54 10 *#$;8'54 (2,2 kW K/M $4: $4%;8%,-73$). H$ @$,$=%(,;8%;=: %:8() =$; ,&E1$%-) %54 
8%-;@&;-8&;,?4 *-< A;$1-,7?4-4%$; &'4$; %$ $=+#-<>$: 
 

T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 10 K/M *#$;8'54 
 

 
T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 13 K/M *#$;8'54  

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

302 V 
259 V 
235V 
405 V 
7.65 A  

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

393 V 
337 V 
306 V 
527 V 
7.65 A  

 
!"#$% 2-1. &'%()*% +,-./ &0'1()"/)*01, 23% &)/(3'4: 567%(89(%94 :/; 919(#$%(0< 9(4 9(364 (01 &/)1$%(=70> ?3/(,01 
 
 
 
 
 
 
 
 
 
 
 
 

%&'( 1 - )*+,!)'!(-).( /'0&' 15,4 kW 

!"#$%!"&' ()#*+%",-'* 
-#)"&'* – "+.+% 1 
! 2/ *,-8$4$%-#;81+) ($6;1-E>;$ 
.54'$ 35-) 1& =#'8( 8-. 

! C.=$%:8%$8( 40 K/M *#$;8'54  
Conergy Power plus 220P (1.65m x 
0.98m) 

! C.=$%&8%(134( ;8@E) 8,8 kW 
! T,08( 3 $4%;8%,-7354 SMA SB 3000 

(1x13, 1x13 =$; 1x14) 

!"#$%!"&' (/%"#,%! – "+.+% 2 
! 2/ *,-8$4$%-#;81+) ($6;1-E>;$ 
.54'$ 35-) 1& =#'8( 27-. 

! C.=$%:8%$8( 30 K/M *#$;8'54  
Conergy Power plus 220P (1.65m x 
0.98m)  

! C.=$%&8%(134( ;8@E) 6,6 kW 
! T,08( 3 $4%;8%,-7354 SMA SB 

2100TL (10 *#$'8;$ / $4%;8%,-73$)  



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 14 K/M *#$;8'54 
 

 
! 8<4-#;=0 ;8@E) %() K/M 8<8%-;@'$) A;$1-;,:6&%$; 8<11&%,;=: 8%;) %,&;) 7:8&;) (AE- $4%;8%,-7&') - 34$) %54 
2,1 kW =$; 34$) %54 3 kW, 8<4-#;=: *&,'*-< 5 kW K/M *#$;8'54 $4: 7:8(), &*-1345) A&4 <7'8%$%$; =$434$ 
60%(1$ $8<11&%,'$). L; 3B-A-; %54 3B; 1-4-7$8;=?4 $4%;8%,-7354 -A(.-E4%$; 8& *'4$=$ TH =$; $=-#-E>5) 
8<4A3-4%$; 1385 1&%,(%0 (#&=%,;=0) &43,.&;$) 8%(4 *$,-@0 %() /C!, ( -*-'$ >$ =$%$8=&<$8%&' $*+ %( /C!. 
D-4-.,$11;=+ A;:.,$11$ %() (#&=%,-#-.;=0) &.=$%:8%$8() A'4&%$; 8%- 8@3A;- 2"/"-1.  
 
L *'4$=$) T.H. *&,;#$19:4&; %-4 $4%;8%,-73$ DC/AC, %- A;$=-*%;=+ <#;=+ =$; %;) A;$%:B&;) *,-8%$8'$). 
",-%&'4&%$; ( %-*->3%(80 %-< *'4$=$ 8& &;A;=: A;$1-,75134- &,1:,;-, &4%+) %-< =%(,'-< %-< "4&<1$%;=-E 
F34%,-<, *#(8'-4 %-< =&4%,;=-E *'4$=$ TH. ! &.=$%:8%$8( %-< *'4$=$ &'4$; &*'8() A<4$%+ 4$ .'4&; =$; 8%-4 
&B5%&,;=+ @?,- %-< "4&<1$%;=-E F34%,-<. 
 
! 8E4A&8( %() K/M 8<8%-;@'$) 1& %(4 &'8-A- DC %54 $4%;8%,-7354 .'4&%$; 1& &;A;=: =$#?A;$  .;$ K/M 
8<8%01$%$, %E*-< TECSUN(PV) S1ZZ-F 0,6/1,0 kV %$ -*-'$ &'4$; $4>&=%;=: 8& <*&,;?A( (UV) $=%;4-9-#'$ =$; 
#&;%-<,.-E4 8& *&,;-@3) >&,1-=,$8;?4 $*+ -40°C 35) +120°C. W*5) *,-=E*%&; $*+ %-<) <*-#-.;81-E) %54 
*%?8&54 %:8() &*;#3.-4%$; =$#?A;$ A;$%-10) 6 mm2 

 

H$ %&@4;=: 7<##:A;$ %54 $4%;8%,-7354 Sunny Boy 2100 TL =$; Sunny Boy 3000 %() &%$;,&'$) SMA, -; -*-'-; 
@,(8;1-*-;-E4%$; &4A&;=%;=: 8%( 1&#3%(, *$,-<8;:6-4%$; 8%- *$,:,%(1$ 1& %$ %&@4;=: @$,$=%(,;8%;=:. L 
$4%;8%,-73$) Sunny Boy 2100 TL A&4 *&,;#$19:4&; 1&%$8@(1$%;8%0 8%(4 %-*-#-.'$ %-< =$; - &<,5*$V=+) 
9$>1+) $*+A-80) %-< (euro efficiency) 7%:4&; %- 95,2 %. L $4%;8%,-73$) Sunny Boy 3000 *&,;#$19:4&; 
1&%$8@(1$%;8%0 @$1(#0) 8<@4+%(%$) =$; *$,-<8;:6&; &<,5*$V=+ 9$>1+ $*+A-8() 93.6%. G=-#-E>5) .'4&%$; 
1'$ 8E4%-1( $4$7-,: 8%$ =<,;+%&,$ @$,$=%(,;8%;=: %-<). 
 

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

423 V 
363 V 
329 V 
567 V 
7.65 A  

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

H&@4;=: @$,$=%(,;8%;=: %54 $4%;8%,-7354 
Sunny Boy 2100 TL =$; Sunny Boy 3000 %() SMA 

 

 
! 8<4-#;=0 &4&,.&;$=0 $*+A-8( %-< K/M 8<8%01$%-) <*-#-.'6&%$; 21 MWh/3%-) (*&,'*-< 1353 kWh $4: 
&.=$%&8%(134- kWp K/M 8<##&=%?4 .;$ %- %101$ 1 =$; 1386 kWh/kWp .;$ %- %101$ 2). L #+.-) $*+A-8() 
(performance ratio) %-< 8<8%01$%-) $43,@&%$; 8& 77%. ! &4&,.&;$=0 $4:#<8( %-< K/M 8<8%01$%-) 
*$,-<8;:6&%$; 8%- $4%'8%-;@- *$,:,%(1$. 
 
! 8%0,;B( %54 K/M *#$;8'54 &*' %() 8%3.() >$ *,$.1$%-*-;(>&' 1& @,08( &;A;=?4 8<8%(1:%54 8%0,;B() K/M 
*#$;8'54 .;$ $4:#-.-< %E*-< &7$,1-.3). C4A&;=%;=: $4$73,&%$; %- 8E8%(1$ 8%0,;B() SunTop %() &%$;,&'$) 
Conergy, %- -*-'- &'4$; =$%:##(#- .;$ &*;=#;4&') 8%3.&). G*-%&#&'%$; $*+ 8%$>&,3) =$; %(#&8=-*;=3) ,:.&) 
(8%$ :=,$ %() 8<8%-;@'$)), -; -*-'&) 3@-<4 %( A<4$%+%(%$ =:>&%() ,E>1;8() $<B:4-4%$) %(4 &<&#;B'$ %-< 
8<8%01$%-). H- 8E8%(1$ 8%0,;B() SunTop &'4$; =$%:##(#- .;$ 8@&A+4 +#-<) %-<) %E*-<) &*34A<8() %() 
8%3.(). C*'8() 1*-,&' 4$ @,(8;1-*-;(>&' .;$ K/M *:4&# 1& 0 @5,') *#$'8;-, A;$%&%$.134$ 8& portrait 0 
landscape. Q#;=: =$%$8=&<0) %-<) &'4$; %- A;<#;8134- $#-<1'4;- =$; - $4-B&'A5%-) @:#<9$). ! 13.;8%( 
&*;%,&*+1&4( $*+8%$8( 1&%$BE %() 9:8() 8%0,;B() =$; %-< &*;*3A-< %() 8%3.() A&4 <*&,9$'4&; %$ 38 mm. ! 
$*+8%$8( 1&%$BE %54 8(1&'54 8%0,;B() %54 ,$.?4 A&4 *,3*&; 4$ B&*&,4: %$ 2 m. ! &..E(8( *-< A'4&%$; .;$ 
%- 8E8%(1$ 8%0,;B() &'4$; 10 3%(.  
 
L; 1&%$##;=3) ,:.&) %-*->&%-E4%$; =:>&%$ *,-) %(4 1&.:#( A;:8%$8( %54 K/M *#$;8'54 =$; 8%(,'6-4%$; 8%( 
1&%$##;=0 =$%$8=&<0 %54 8%&.:8%,54 1& =$%:##(#$ 9E81$%$. H- *,+8>&%- 9:,-) *-< &*;9:##&%$; 8%( 8%3.( 
#+.5 %() &.=$%:8%$8() %-< K/M 8<8%01$%-) &=%;1:%$; *&,' %$ 15 kg/m2.  
 

 

 Sunny Boy 2100 TL Sunny Boy 3000 

D3.;8%( ;8@E) DC 
D3.;8%( ;8@E) AC 
G*+A-8( Euro Eta 
D3.;8%( $*+A-8( 
H:8( A;=%E-< 
R<@4+%(%$ A;=%E-< 
HE*-) *,-8%$8'$) 

2.2 kW 
2.1 kW 
95.2 % 
96 % 

198 - 260 V 
49.8 - 50.2 Hz 

IP 65 

3.2 kW 
3 kW 

93.6 % 
95 % 

198 - 260 V 
49.8 - 50.2 Hz 

IP 65 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.4.1.2 H0,(8( $*-8%:8&54 $*+ %$ +,;$ %-< *,?%-< %101$%-) 
 
C:4 A;$%(,(>&' $*+8%$8( 0,5 m $*+ %$ +,;$ %() 8%3.() %-< *,?%-< %101$%-) *,-=E*%&; K/M 8<8%-;@'$ 1& 
%388&,;) 8&;,3) %54 8 *#$;8'54 (8<4-#;=: 32 K/M *#$'8;$ 1& 220 W/ *#$'8;- = 7,04 kW).  ! A;:%$B( %54 K/M 
*#$;8'54 &'4$; %E*-< landscape. ! K/M .&440%,;$ 8%- %101$ 1 =$%$#$19:4&; 8<4-#;=0 &*;7:4&;$ 4 m x 13,2 m 
= 53 m2. R%- %101$ 2 &.=$>'8%$4%$;, +*5) 8%(4 *,-(.-E1&4( *&,'*%58(, 8<4-#;=: 30 K/M *#$'8;$ 8& AE- 
8&;,3) %54 15, 1& 8<4-#;=0 ;8@E 6,6  kW =$; &*;7:4&;$ 2 m x 24,8 m = 49,5 m2. ",-=E*%&; #-;*+4 K/M 8E8%(1$ 
8<4-#;=0) ;8@E-) 13,64 kW. 
 
! 8@&A'$8( 1&%$9:##&%$; =$; $*+ (#&=%,-#-.;=0) *#&<,:). ! K/M .&440%,;$ *&,;#$19:4&; 3B; 1-4-7$8;=-E) 
$4%;8%,-7&') SMA Sunny Boy 2100TL, ?8%& ( ;8@E) *-< &.=$>'8%$%$; 8& =:>& %101$ 4$ A;$1-;,:6&%$; 
8<11&%,;=: 8%;) %,&;) 7:8&;). ! 8<8%-;@'$ %-< %101$%-) 1 8<4A3&%$; 8%- A'=%<- %() /C! 1385 %,;?4 
$4%;8%,-7354 =$; 8& =:>& $4%;8%,-73$ 8<4A3&%$; 1'$ 8%-;@&;-8&;,: K/M *#$;8'54, 8%-<) AE- *,?%-<) 1& 11 
*#$'8;$ =$; 8%-4 %,'%- 1& 10 *#$'8;$  (2,42 kW =$; 2,2 kW K/M $4: $4%;8%,-73$ $4%'8%-;@$). ! 8<8%-;@'$ %-< 
%101$%-) 2 8<4A3&%$; 8%- A'=%<- 1& %,&;) $4%;8%,-7&') Sunny Boy 2100TL. R& =:>& $4%;8%,-73$ %() 8<8%-;@'$) 
%-< %101$%-) 2 8<4A3&%$; 1'$ 8%-;@&;-8&;,: %54 10 *#$;8'54 (2,2 kW K/M $4: $4%;8%,-73$). H$ 
@$,$=%(,;8%;=: %:8() =$; ,&E1$%-) %54 8%-;@&;-8&;,?4 *-< A;$1-,7?4-4%$; &'4$; %$ $=+#-<>$: 
 

T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 10 K/M *#$;8'54 
 

 
T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 11 K/M *#$;8'54 

 

 
 

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

302 V 
259 V 
235V 
405 V 
7.65 A  

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

332 V 
285 V 
446 V 
527 V 
7.65 A  

 
!"#$% 2-2. &'%()*% +,-./ &0'1()"/)*01, 23% &)/(3'4: 567%(89(%94 :/; 919(#$%(0< 9(4 9(364 (01 &/)1$%(=70> ?3/(,01 
 
 
 
 
 
 
 
 
 
 
 
 

!"#$%!"&' ()#*+%",-'* 
-#)"&'* – "+.+% 1 
! ", BD70/</:73.0HC5 (/M.H7L=./ 
?A<>/ 357) H4 63>0E 87. 

! !?6/:20:/0E 32 N/O B3/.0>A<  
Conergy Power plus 220P (1.65m 
x 0.98m) 

! !?6/:40:EH@<E .0FL5 7 kW 
! PDG0E 3 /<:.0:D71@A< SMA SB 

2100TL (1x11, 1x11 6/. 1x10) 

!"#$%!"&' (/%"#,%! – "+.+% 2 
! 2/ *,-8$4$%-#;81+) ($6;1-E>;$ 
.54'$ 35-) 1& =#'8( 27-. 

! C.=$%:8%$8( 30 K/M *#$;8'54  
Conergy Power plus 220P (1.65m x 
0.98m)  

! C.=$%&8%(134( ;8@E) 6,6 kW 
! T,08( 3 $4%;8%,-7354 SMA SB 

2100TL (10 *#$'8;$ / $4%;8%,-73$)  

%&'( 2 - )*+,!)'!(-).( /'0&' 13,64 kW 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

! 8<4-#;=0 ;8@E) %() K/M 8<8%-;@'$) A;$1-;,:6&%$; 8<11&%,;=: 8%;) %,&;) 7:8&;) (AE- $4%;8%,-7&') %54 2,1 
kW, ~ 4,5 kW K/M *#$;8'54 $4: 7:8(), &*-1345) A&4 <7'8%$%$; =$434$ 60%(1$ $8<11&%,'$). L; 3B-A-; %54 3B; 
1-4-7$8;=?4 $4%;8%,-7354 -A(.-E4%$; 8& *'4$=$ TH =$; $=-#-E>5) 8<4A3-4%$; 8%(4 *$,-@0 %() /C!, 1385 
1&%,(%0 (#&=%,;=0) &43,.&;$), ( -*-'$ >$ =$%$8=&<$8%&' $*+ %( /C!. D-4-.,$11;=+ A;:.,$11$ %() 
(#&=%,-#-.;=0) &.=$%:8%$8() A'4&%$; 8%- 8@3A;- 2"/"-2. W8$ $4$73,>(=$4 8%(4 *$,:.,$7- 5.4.1.1 .;$ %(4 
&*;#-.0 %54 =$#5A'54 dc, %(4 &.=$%:8%$8( %-< *'4$=$ TH %-< K/M 8<8%01$%-) =$; %-<) <*-#-.;81-E) 
*%?8&54 %:8() =$; $*5#&;?4 ;8@E-<4 =$; 8%(4 &4 #+.5 *&,'*%58(.  
 
! 8<4-#;=0 &4&,.&;$=0 $*+A-8( %-< K/M 8<8%01$%-) &=%;1:%$; 8& 18,6 MWh/3%-) (*&,'*-< 1353 kWh $4: 
&.=$%&8%(134- kWp K/M 8<##&=%?4 .;$ %- %101$ 1 =$; 1386 kWh/kWp .;$ %- %101$ 2). L #+.-) $*+A-8() 
(performance ratio) %-< 8<8%01$%-) $43,@&%$; 8& 77%. ! &4&,.&;$=0 $4:#<8( %-< K/M 8<8%01$%-) 
*$,-<8;:6&%$; 8%- $4%'8%-;@- *$,:,%(1$. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.4.1.3 H0,(8( $*-8%:8&54 $*+ %$ +,;$ =$; %54 AE- 8%&.?4 
 
C:4 A;$%(,(>&' $*+8%$8( 0,5 m $*+ %$ +,;$ %() 8%3.() =$;  %-< A&E%&,-< %101$%-), *,-=E*%&; K/M 8<8%-;@'$ 
1& 1'$ 8&;,: %54 15 *#$;8'54 (8<4-#;=: 15 K/M *#$'8;$ 1& 220 W/ *#$'8;- = 3,3 kW), ( -*-'$ =$%$#$19:4&; 
&*;7:4&;$ 1 m x 24,8 m = 24,8 m2. ! A;:%$B( %54 K/M *#$;8'54 &'4$; %E*-< landscape. ! K/M .&440%,;$ 8%- 
%101$ 1 *&,;#$19:4&; 8<4-#;=: 32 K/M *#$'8;$ (1& 220 W/ *#$'8;- = 7,04 kW) 1& 8<4-#;=0 &*;7:4&;$ 4 m x 
13,2 m = 53 m2. ",-=E*%&; #-;*+4 K/M 8E8%(1$ 8<4-#;=0) ;8@E-) 10,34 kW. 
 
! 8@&A'$8( 1&%$9:##&%$; =$; $*+ (#&=%,-#-.;=0) *#&<,:). ! K/M .&440%,;$ *&,;#$19:4&; %,&;) 1-4-7$8;=-E) 
$4%;8%,-7&') SMA SB 3300TL-HC, ?8%& ( ;8@E) *-< &.=$>'8%$%$; 8& =:>& %101$ 4$ A;$1-;,:6&%$; 8<11&%,;=: 
8%;) %,&;) 7:8&;). ! 8<8%-;@'$ %-< %101$%-) 1 8<4A3&%$; 8%- A'=%<- %() /C! 1385 AE- $4%;8%,-7354, 8& =:>& 
34$4 $*+ %-<) -*-'-<) 8<4A3&%$; 1'$ 8%-;@&;-8&;,: 16 K/M *#$;8'54 (3,52 kW K/M $4: $4%;8%,-73$), &4? ( 
8<8%-;@'$ %-< %101$%-) 2 8<4A3&%$; 8%-4 %,'%- $4%;8%,-73$ 5) 8%-;@&;-8&;,: %54 15 *#$;8'54 (3,3 kW K/M 
8%-4 %,'%- $4%;8%,-73$), &*-1345) A&4 <7'8%$%$; =$434$ 60%(1$ $8<11&%,'$). H$ @$,$=%(,;8%;=: %:8() =$; 
,&E1$%-) %54 8%-;@&;-8&;,?4 *-< A;$1-,7?4-4%$;, =$>?) =$; %-< *,-%&;4+1&4-< $4%;8%,-73$  &'4$; %$ 
$=+#-<>$: 
 

T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 15 K/M *#$;8'54 
 

 
T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 16 K/M *#$;8'54 

 

 

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

453.6 V 
389 V 
352.1 V 
608 V 
7.65 A  

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

484 V 
415 V 
376 V 
562 V 
7.65 A  

 
!"#$% 2-3. &'%()*% +,-./ &0'1()"/)*01, 23% &)/(3'4: 567%(89(%94 :/; 919(#$%(0< 9(4 9(364 (01 &/)1$%(=70> ?3/(,01 
 
 
 
 
 
 
 
 
 
 
 
 

!"#$%!"&' ()#*+%",-'* 
-#)"&'* – "+.+% 1 
! 2/ *,-8$4$%-#;81+) ($6;1-E>;$ 
.54'$ 35-) 1& =#'8( 8-. 

! C.=$%:8%$8( 32 K/M *#$;8'54  
Conergy Power plus 220P (1.65m x 
0.98m) 

! C.=$%&8%(134( ;8@E) 7 kW 
! T,08( 3 $4%;8%,-7354 SMA SB 

2100TL (1x11, 1x11 =$; 1x10)

!"#$%!"&' (/%"#,%! – "+.+% 2 
! 2/ *,-8$4$%-#;81+) ($6;1-E>;$ 
.54'$ 35-) 1& =#'8( 27-. 

! C.=$%:8%$8( 15 K/M *#$;8'54  
Conergy Power plus 220P (1.65m x 
0.98m)  

! C.=$%&8%(134( ;8@E) 3,3 kW 

%&'( 3 - )*+,!)'!(-).( /'0&' 10,34 kW 

! T,08( 3 $4%;8%,-7354 SMA SB 
3300TL  - HC (1x15, 1x16 =$; 1x16) 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
H&@4;=: @$,$=%(,;8%;=: %-< $4%;8%,-73$ 

Sunny Boy 3300TL-HC %() SMA 
 

 
L; 3B-A-; %54 1-4-7$8;=?4 $4%;8%,-7354 -A(.-E4%$; 8& *'4$=$ TH =$; $=-#-E>5) 8<4A3-4%$; 8%(4 *$,-@0, 
1385 1&%,(%0 (#&=%,;=0) &43,.&;$), ( -*-'$ >$ =$%$8=&<$8%&' $*+ %( /C!. D-4-.,$11;=+ A;:.,$11$ %() 
(#&=%,-#-.;=0) &.=$%:8%$8() A'4&%$; 8%- 8@3A;- 2"/"-3. W8$ $4$73,>(=$4 8%(4 *$,:.,$7- 5.4.1.1 .;$ %(4 
&*;#-.0 %54 =$#5A'54 dc, %(4 &.=$%:8%$8( %-< *'4$=$ TH %-< K/M 8<8%01$%-) =$; %-<) <*-#-.;81-E) 
*%?8&54 %:8() =$; $*5#&;?4 ;8@E-<4 =$; 8%(4 &4 #+.5 *&,'*%58(.  
 
! 8<4-#;=0 &4&,.&;$=0 $*+A-80 %-< &=%;1:%$; 8& 14 MWh/3%-) (*&,'*-< 1353 kWh $4: &.=$%&8%(134- kWp 
K/M 8<##&=%?4 .;$ %- %101$ 1 =$; 1386 kWh/kWp .;$ %- %101$ 2). L #+.-) $*+A-8() (performance ratio) %-< 
8<8%01$%-) $43,@&%$; 8& 77%. ! &4&,.&;$=0 $4:#<8( %-< K/M 8<8%01$%-) *$,-<8;:6&%$; 8%- $4%'8%-;@- 
*$,:,%(1$. 
 
5.4.1.4 C.=$%:8%$8( <9,;A;=-E 8<8%01$%-) 75%;8%;=-E =$; 75%-9-#%$V=-E 
 
FE,;-) 8%+@-) %() &.=$%:8%$8() K/M 8<8%(1:%54 8%-4 /01- 2. "&4%3#() &'4$; ( *,-?>(8( %() $B;-*-'(8() 
%54 $4$4&?8;154 *(.?4 &43,.&;$), 8%- *#$'8;- &4+) 8<4+#-< *$,&19:8&54 1& .4?1-4$ %( 9;-=#;1$%;=0 
$4:*#$8( =$; %(4 $;8>(%;=0 $,%;+%(%$ %-< A;$1-,7-E1&4-< @?,-<. D& %- 8=&*%;=+ $<%+, *,-%&'4&%$; ( 
&.=$%:8%$8( &4+) %,'%-< K/M 8<8%01$%-), %- -*-'- 8<4A<:6&%$; 1& 75%;8%;=+ &B5%&,;=-E @?,-<, 8& &4;$'$ 
A-10 8%0,;B() 1-4%3,4$) $;8>(%;=0). F$%:##(#( >38(  .;$ %(4 &.=$%:8%$80 %-< >&5,&'%$; - @?,-) 1*,-8%: 
$*+ %(4 "$;A;=0 T$,: 8%() "#$%&'$). S&5,-E1& +%; 1;$ %3%-;$ *$,319$8( >$ $*-%&#38&; 8(1&'- $4$7-,:) .;$ 
%(4 *#$%&'$ $##: =$; %-4 /01- 2. "&4%3#().  
 
 

 

 Sunny Boy 3300TL-HC 

D3.;8%( ;8@E) DC 
D3.;8%( ;8@E) AC 
G*+A-8( Euro Eta 
D3.;8%( $*+A-8( 
H:8( A;=%E-< 
R<@4+%(%$ A;=%E-< 
HE*-) *,-8%$8'$) 

3,44 kW 
3,3 kW 
94,7 % 
95,9 % 

198 - 260 V 
47,5 - 50.2 Hz 

IP 65 

 
 
 
 
 
 
 
 
 
 
 
 
 



  
 
 

 
 

C;=+4$ 1. K5%;8%;=+ DINOSAURIO %() SIARQ 
L %E*-) <9,;A;=-E 75%;8%;=-E-K/M *-< @,(8;1-*-;0>(=& 8%(4 *$,-E8$ 1&#3%( &'4$; %- 75%;8%;=+ DINOSAURIO 
%() &%$;,&'$) SIARQ (C;=+4$ 1). ! &.=$%&8%(134( ;8@E) %54 K/M %-< *#$;8'54 &'4$; 2,8 kW (18 *#$'8;$ %54 159 
W), %$ -*-'$ >$ *$,:.-<4 8& &%08;$ 9:8( *&,' %;) 3800 kWh. H- K/M 8E8%(1$ >$ 8<4A&>&' 8%- A'=%<-. H- 
75%;8%;=+ *&,;#$19:4&; AE- *,-9-#&') %54 400 W =$; 250 W. H$ =<,;+%&,$ %&@4;=: @$,$=%(,;8%;=: %-< A'4-4%$; 
8%( 8<43@&;$: 

 
H&@4;=: @$,$=%(,;8%;=: %-< $<%+4-1-< 75%;8%;=-E DINOSAURIO %() &%$;,&'$) SIARQ 

 

 
 

  

D3.;8%( ;8@E) K/M 
HE*-) K/M *#$;8'-<  
G,;>1+) K/M *#$;8'54 
C%08;$ *$,$.5.0 &43,.&;$) 
",-9-#&')  

2,8 kW 
Isofoton 159 W 

18 
3,8 kWh  

R<4-#;=: AE- %54 400W =$; 250W 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5.4.2 C.=$%:8%$8( K/M 8<8%01$%-) 35) 6,38 kW 8%- =%0,;- %-< /(1-%;=-E R@-#&'-< 
 
R%(4 *$,-E8$ &4+%(%$ &B&%:6&%$; ( $4:*%<B( K/M 8<8%01$%-) &*' %-< =%(,'-< %-< /(1-%;=-E R@-#&'-< %-< 
/01-< 23$) "&4%3#() (R@. 3). H- .&5.,$7;=+ *#:%-) =$; 10=-) %() %-*->&8'$) &.=$%:8%$8() %-< K/M 
8<8%01$%-) &'4$; 38- 03` =$; 23- 51`$4%'8%-;@$.  
 

 
 

R@. 3 /(1-%;=+ R@-#&'- 8%- /01- 2. "&4%3#(). 
 

H- K/M 8E8%(1$ *,-9#3*&%$; 4$ &.=$%$8%$>&' 8%- 2G =$; 2/ :=,- %() 8%3.() %-< /(1-%;=-E R@-#&'-<, 5) 
4-(%0 *,-3=%$8( %() 8%3.() (H101$%$ G1 =$; G2) =$>?) =$; 8%(4 *,+8-X( %-< =%(,'-< (H101$ M) .;$ 
&*;A&;=%;=-E) =$; &=*$;A&<%;=-E) 8=-*-E). ! 8<4-#;=0 &.=$%&8%(134( ;8@E) K/M 7%:4&; %$ 6,38 kW. L 
*,-8$4$%-#;81+) %54 %1(1:%54 G1 =$; M &'4$; 4-%;-$4$%-#;=+) 1& $6;1-E>;$ .54'$ *&,' %;) 25-. H- %101$ G2 
3@&; 4-%;-A<%;=+ *,-8$4$%-#;81+ 1& $6;1-E>;$ .54'$ *&,' %;) 35-. D&%: $*+ &*;%+*;$ &B3%$8( %-< 
*&,;9:##-4%-) @?,-< (=%0,;$, A34%,$ =.#*.) *,-3=<X& +%; %$ *$,$=&'1&4$ &1*+A;$ A&4 &*;73,-<4 8=;:8&;) 
8%(4 &*;7:4&;$ %-< K/M 8<8%01$%-). R%- R@. 4 *&,;.,:7&%$; 8<4-*%;=: ( A;$,,E>1;8( %54 K/M 8<8%-;@;?4 
=$>?) =$; %$ =<,;+%&,$ @$,$=%(,;8%;=: %-< K/M 8<8%01$%-) *-< *,-=E*%&;.  
 

 
!"#$% 4. @AB< C,61,0789(,01, 23% &)/(3'4: 567%(89(%94 :/; 919(#$%(0< 9(0 D4$0(=7B !"0')*0.  
 
 
 
 
 

 
 
 
 
 
 
 

1

,1 
,2 

2345 678$9:49$45; 
</1 4=49#"$9>; 

2G "NCQJG (G1) 
 
! C.=$%:8%$8( 19 K/M *#$;8'54  Conergy Power 

plus 220P (1.65m x 0.98m)  
! C.=$%&8%(134( ;8@E) 4.18kW 
! T,08( 2 $4%;8%,-7354 SMA SB 2100TL (1x10 =$; 

1x9) 

2/ "NCQJG (G2) 
! C.=$%:8%$8( 6 K/M *#$;8'54  

Conergy Power plus 220P (1.65m 
x 0.98m)  

! C.=$%&8%(134( ;8@E) 1.32 kW 
! T,08( 1 $4%;8%,-73$ SMA SB 

1200

2G "JLRL[! (M) 
 
! C.=$%:8%$8( 6 K/M *#$;8'54  

Conergy Power plus 220P (1.65m 
x 0.98m)  

! C.=$%&8%(134( ;8@E) 1.32kW 
! T,08( 1 $4%;8%,-73$ SMA SB 

1200  
! L $4%;8%,-73$) &.=$>'8%$%$; 
&B5%&,;=: .;$ &*;A&;=%;=-E) 
8=-*-E) 

H-10 – R%0,;B( %54 K/M 
*#$;8'54 5) 8<43@&;$ %() 
8%3.(). 

SB 2100TL SB 1200 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
T,(8;1-*-;?4%$) K/M *#$'8;$ =,<8%$##;=-E %E*-<, ( 13.;8%( A<4$%+%(%$ $4:*%<B() K/M 8%- %101$ G1 &'4$; 
4,18 kW, 8%- %101$ G2 1,32 kW =$; 8%- %101$ M 1,32 kW. ! A;:%$B( %54 K/M *#$;8'54 &'4$; landscape (1& %( 
1&.:#( %-<) A;:8%$8( *$,:##(#$ *,-) %- &*'*&A- %-< &A:7-<)). R<4-#;=: #-;*+4 &.=$>'8%$%$; K/M 8E8%(1$ 
;8@E-) 6,38 kW, %- -*-'- 8<4A3&%$; 1& %- A'=%<- %() /C! 1385 %() *$,-@0) %-< /(1-%;=-E R@-#&'-<.  
 
R<.=&=,;134$ ( A;:%$B( %() K/M 8<8%-;@'$) %-< %101$%-) G1 *&,;#$19:4&; 1'$ 8&;,: %54 19 K/M *#$;8'54 
(8<4-#;=: 19 K/M *#$'8;$ 1& 220 W/ *#$'8;- = 4,18 kW) =$; =$%$#$19:4&; 8<4-#;=0 &*;7:4&;$ 1 m x 31,3 m = 
31,3 m2. R%- %101$ G2 &.=$>'8%$4%$; 8<4-#;=: 6 K/M *#$'8;$ 8& 1'$ 8&;,:, 1& 8<4-#;=0 ;8@E 1,32 kW =$; 
&*;7:4&;$ 1 m x 10 m = 10 m2. R%$ %101$%$ G1 =$; G2 ( &.=$%:8%$8( %54 *#$;8'54 .'4&%$; 1& =#'8( *&,' %;) 
30- ?8%& 4$ 9&#%;8%-*-;&'%$; ( $*+A-80 %-<). R%- %101$ M &.=$>'8%$4%$; 3B; K/M *#$'8;$ 8& facade (=:>&%$ 
*,-) %- &*'*&A- %-< &A:7-<)). ! A;:%$B( *&,;#$19:4&; AE- 8&;,3) %54 %,;?4 *#$;8'54 *-< =$#E*%-<4 
8<4-#;=0 &*;7:4&;$ 2 m x 3,3 m = 10 m2. 
 
G*+ (#&=%,-#-.;=0) *#&<,:), ( K/M .&440%,;$ *&,;#$19:4&; %388&,;) 1-4-7$8;=-E) $4%;8%,-7&').  ! 
8<8%-;@'$ %-< %101$%-) G1 8<4A3&%$; 8%- A'=%<- %() /C! 1385 AE- $4%;8%,-7354 SMA Sunny Boy 2100TL. 
R& =:>& $4%;8%,-73$ 8<4A3&%$; 1'$ 8%-;@&;-8&;,: K/M *#$;8'54, 8%-4 *,?%- 1& A3=$ =$; 8%-4 A&E%&,- 1& 9 
K/M *#$'8;$ (2,2 kW =$; 1,98 kW K/M $4: $4%;8%,-73$ $4%'8%-;@$). L; 8<8%-;@'&) %54 %1(1:%54 G2 =$; M 
8<4A3-4%$; 8%- A'=%<- %() /C! 1385 AE- $4%;8%,-7354  SMA Sunny Boy 1200 (1'$ 8%-;@&;-8&;,: 1& 6 *#$'8;$ 
x 220 W/ *#$'8;- = 1,32 kW 8& =:>& $4%;8%,-73$). H$ @$,$=%(,;8%;=: %:8() =$; ,&E1$%-) %54 8%-;@&;-8&;,?4 
*-< A;$1-,7?4-4%$; &'4$; %$ $=+#-<>$: 
 

T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 10 K/M *#$;8'54 
 

 
 

T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 9 K/M *#$;8'54 
 

 
 

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

302 V 
259 V 
235V 
405 V 
7.65 A  

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$   

272 V 
233 V 
212 V 
365 V 
7.65 A  

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
T$,$=%(,;8%;=: %:8() =$; ,&E1$%-) 8%-;@&;-8&;,:) 6 K/M *#$;8'54 

 

 
! 8<4-#;=0 ;8@E) %() K/M 8<8%-;@'$) A;$1-;,:6&%$; =$%: A<4$%+ 8<11&%,;=: 8%;) %,&;) 7:8&;) (8%(4 *,?%( =$; 
%( A&E%&,( 7:8( -; 8<8%-;@'&) %54 10 =$; 9 *#$;8'54 $4%'8%-;@$, &4? 8%(4 %,'%( -; AE- 8<8%-;@'&) %54 6 
*#$;8'54). ! *,-=E*%-<8$ $8<11&%,'$ =,'4&%$; $*-A&=%0. H-4'6&%$; +%; A&4 &'4$; A<4$%+ 4$ *,-=EX&; 
8<11&%,;=0 8@&A'$8(, #+.5 %() A;$7-,&%;=0) =#'8() =$; *,-8$4$%-#;81-E %54 %,;?4 &*;13,-<) 8<8%-;@;?4. 
L; 3B-A-; %54 3B; 1-4-7$8;=?4 $4%;8%,-7354 -A(.-E4%$; 8& *'4$=$ TH =$; $=-#-E>5) 8<4A3-4%$; 8%(4 
*$,-@0, 1385 1&%,(%0 (#&=%,;=0) &43,.&;$), ( -*-'$ >$ =$%$8=&<$8%&' $*+ %( /C!. D-4-.,$11;=+ 
A;:.,$11$ %() (#&=%,-#-.;=0) &.=$%:8%$8() A'4&%$; 8%- 8@3A;- 2"//.  
 
L *'4$=$) T.H. *&,;#$19:4&; %-<) $4%;8%,-7&') DC/AC, %- A;$=-*%;=+ <#;=+ =$; %;) A;$%:B&;) *,-8%$8'$). 
",-%&'4&%$; ( %-*->3%(80 %-< *'4$=$ 8& &;A;=: A;$1-,75134- &,1:,;-, &4%+) %-< =%(,'-< %-< /(1-%;=-E 
R@-#&'-<, *#(8'-4 %-< =&4%,;=-E *'4$=$ TH.  C;A;=: - $4%;8%,-73$) SMA Sunny Boy 1200 %() K/M 8<8%-;@'$) 
%-< %101$%-) M (façade) 1*-,&' 4$ &.=$%$8%$>&' &B5%&,;=: &*' %-< %-'@-< (*.@. A'*#$ 8%( 8<8%-;@'$), .;$ 
#+.-<) &*;A&;=%;=-E). 
 
 
! 8E4A&8( %() K/M 8<8%-;@'$) 1& %(4 &'8-A- DC %54 $4%;8%,-7354 .'4&%$; 1& &;A;=: =$#?A;$  .;$ K/M 
8<8%01$%$, %E*-< TECSUN(PV) S1ZZ-F 0,6/1,0 kV %$ -*-'$ &'4$; $4>&=%;=: 8& <*&,;?A( (UV) $=%;4-9-#'$ =$; 
#&;%-<,.-E4 8& *&,;-@3) >&,1-=,$8;?4 $*+ -40°C 35) +120°C. W*5) *,-=E*%&; $*+ %-<) <*-#-.;81-E) %54 
*%?8&54 %:8() &*;#3.-4%$; =$#?A;$ A;$%-10) 10 mm2 .;$ %;) K/M 8<8%-;@'&) G2 =$; M, &4? ( K/M 8<8%-;@'$ 
8<4A3&%$; 1& %-4 $4%;8%,-73$ 1& =$#?A;$ A;$%-10) 6 mm2. L <*-#-.;81+) %54 $*5#&;?4 ;8@E-) =$; &43,.&;$) 
&*' %54 =$#5A'54 %() *#&<,:) 8<4&@-E) ,&E1$%-) .;$ %;) AE- A<81&438%&,&) *&,;*%?8&;) &.=$%:8%$8() %() 
K/M 8<8%-;@'$) ($4$%-#;=0 *#&<,: =$; =34%,- %() 8%3.()) *$,-<8;:6&%$; $4$#<%;=: 8%- $4%'8%-;@- *$,:,%(1$.   

 
H$ %&@4;=: 7<##:A;$ %54 $4%;8%,-7354 Sunny Boy 2100 TL =$; Sunny Boy 1200 %() &%$;,&'$) SMA, -; -*-'-; 
@,(8;1-*-;-E4%$; 5) &4A&;=%;=-' %E*-; 8%( 1&#3%(, *$,-<8;:6-4%$; 8%- *$,:,%(1$ 1& %$ %&@4;=: 
@$,$=%(,;8%;=:. L $4%;8%,-73$) Sunny Boy 2100 TL A&4 *&,;#$19:4&; 1&%$8@(1$%;8%0 8%(4 %-*-#-.'$ %-< =$; 
- &<,5*$V=+) 9$>1+) $*+A-80) %-< (euro efficiency) 7%:4&; %- 95,2 %. L $4%;8%,-73$) Sunny Boy 1200 
*&,;#$19:4&; 1&%$8@(1$%;8%0 @$1(#0) 8<@4+%(%$) =$; 3@&; &<,5*$V=+ 9$>1+ $*+A-8() 90,7 %. G=-#-E>5) 
.'4&%$; 1'$ 8E4%-1( $4$7-,: 8%$ =<,;+%&,$ @$,$=%(,;8%;=: %-<). 
 

H:8( MPP 8%-<) 15- C 
H:8( MPP 8%-<) 50- C 
H:8( MPP 8%-<) 70- C 
H:8( $4-;@%-E =<=#?1$%-) 8%-<) -10- C 
D3.;8%- ,&E1$  

181 V 
156 V 
141 V 
365 V 
7.65 A  

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

H&@4;=: @$,$=%(,;8%;=: %54 $4%;8%,-7354 
Sunny Boy 2100 TL =$; Sunny Boy 1200 %() SMA 

 

 
 
! 8<4-#;=0 &4&,.&;$=0 $*+A-8( %-< 8<8%01$%-) &=%;1:%$; 8& 9 MWh/3%-) (*&,'*-< 14627 kWh $4: 
&.=$%&8%(134- kWp K/M 8<##&=%?4 .;$ %( 8<8%-;@'$ G1, 1327 kWh/kWp .;$ %( 8<8%-;@'$ G2 =$; 863 kWh/kWp 
.;$ %( 8<8%-;@'$ M). ! &4&,.&;$=0 $4:#<8( %-< K/M 8<8%01$%-) *$,-<8;:6&%$; 8%- $4%'8%-;@- *$,:,%(1$. 
 
! 8%0,;B( %54 K/M *#$;8'54 %54 8<8%-;@;?4 G1 =$; G2 >$ *,$.1$%-*-;(>&' 1& @,08( &;A;=?4 8<8%(1:%54 
8%0,;B() K/M *#$;8'54 %$ -*-'$ >$ *,3*&; 4$ *,-8$,1-8%-E4 =$%:##(#$ 8%;) $*$;%08&;) %() &4 #+.5 
&7$,1-.0). ! 8<8%-;@'$ M &.=$>'8%$%$; 8%(4 *,+8-X( %-< =%(,'-<, &*' &;A;=-E 8<8%01$%-) 8%0,;B() .;$ 
&7$,1-.3) facade.   
 

 Sunny Boy 2100 TL Sunny Boy 1200 

D3.;8%( ;8@E) DC 
D3.;8%( ;8@E) AC 
G*+A-8( Euro Eta 
D3.;8%( $*+A-8( 
H:8( A;=%E-< 
R<@4+%(%$ A;=%E-< 
HE*-) *,-8%$8'$) 

2.2 kW 
2.1 kW 
95.2 % 
96 % 

198 - 260 V 
49.8 - 50.2 Hz 

IP 65 

1,32 kW 
1,2 kW 
90,7 % 
92,1 % 

180 - 260 V 
49.8 - 50.2 Hz 

IP 65 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
5.5 KE%&<8( 
 
! 7E%&<8( $4%;1&%5*'8%(=& 5) -,.$4;=+ 8<8%$%;=+ %() 8<4-#;=0) 8E4>&8(), 5) *,+9#(1$ 9;-=#;1$%;=0) 
>&?,(8() %(), =$; 5) $7-,10 .;$ %(4 $4$8E8%$8( %-< $%%;=-E %-*'-<. 
 
 
5.5.1. C;8$.5.0 
! *#$%&'$ 2. "&4%3#() *$'6&; 8(1$4%;=+ ,+#- 8%( A;:,>,58( =$; %(4 =$>(1&,;40 650 %() *+#() &B$;%'$) %() 
>38() %() =$; &*&;A0 *$,-<8;:6&; 1;=%3) @,08&;). C'4$; $4$.=$'$ ( 858%0 =$; 8<8%(1$%;=0 7E%&<8( %() 1& 
*-;=;#'&) =$%:##(#&) .;$ %(4 *&,;-@0 ?8%& 4$ 57&#(>-E4 %+8- &=&'4-; *-< =$%-;=-E4 0 A;3,@-4%$; =$>(1&,;4: 
$*+ %( 8<.=&=,;134( *#$%&'$ $##: =$; ( 'A;$ ( *+#(, A;+%; 1;$ %3%-;$ $4$9:>1;8( >$ 3@&; 8(1$4%;=: 
$*-%&#381$%$ =$; 8& &<,E%&,( =#'1$=$. 
L 8@&A;$81+) %54 7<%&E8&54 =$; ( &*;#-.0 %-< 7<%;=-E <#;=-E 3@-<4 5) 8%+@- %(4 34%$B( %-< 3,.-< 8%- 
*&,;9:##-4 %() *&,;-@0), 1& 8$7&') $4$7-,3) 8%- $%%;=+ %-*'-. L 8@&A;$81+) %54 7<%&E8&54 =$; %54 
A;$1-,7?8&54 %-< @?,-< $=-#-<>&' %;) $,@3) %() $,@;%&=%-4;=0) &*'#<8() .;$ %(4 A(1;-<,.'$ 654?4 
*,$8'4-< =$; %(4 -,.$45134( =<=#-7-,'$ %54 *&6?4. 
 
5.5.2. A,@3) 8@&A;$81-E  
! 3##&;X( 7E%&<8() =$; &*$,=-E) 8=;$81-E A<8@&,$'4-<4 %(4 *$,$1-40 8%(4 *#$%&'$, %(4 1&%$%,3*-<4 8& 
34$ $*#+ *3,$81$ .;$ %-<) A;&,@+1&4-<) *&6-E) =$; %() 8%&,-E4 %- ,+#- 1;$) =&4%,;=0) *#$%&'$) 5) @?,- 
=$%:##(#- 4$ 7;#-B&408&; A,$8%(,;+%(%&) %() 8<##-.;=0) 650). G*$4%?4%$; *-##: %&%,$.54;=: 13%,$ 
8=#(,0) &*;7:4&;$), A34%,$ =$; >:14-; A;$7+,54 *-;=;#;?4 :%$=%$ @5,->&%(134$ 8& *$,%3,;$ =$>?) =$; B34$ 
8%- $%%;=+ %-*'- &'A( 7<%?4. 
L 8@&A;$81+) %54 7<%&E8&54 3.;4& 8E1754$ 1& %;) 9$8;=3) @$,:B&;) %-< @?,-< =$; %(4 43$ %-*-.,$7'$ %-< 
@?,-<.  
 
 

 
 
 
 

 
Cypressus sempervirens   !"#$%&''( )%*+,-$.) 

 
!"#$%& '(#&)*%&, +,-./,0 ,#12+3450, ,.67,8"0, 9:&30 15 – 25;., 281+&30 5 – 

15;. ',+1 +5# 28<%5 ,#12+34< +&3, ;. '8,$61 *%76, ',6 =3;2,><0 '*;5 
23%,;6$&.6$<, ;. -%?;, )388?;,+&0 ='&3%&2%1=6#&. @#7.'+6'* =+& :9-&0 
',6 =+60 3:58"0 7.%;&'%,=/.0 ',7?0 ',6 =+, 3$%&=+,>&#/$6, +50 718,==,0. 

@#,2+9==.+,6 =. 2+(-1, 45%1 .$1)5 ',6 =. 586,A*;.#.0 7"=.60. B&89 
',+18858& >6, +5# $5;6&3%>/, ,#.;&7%,3=+?#. 

 

 
 
 

 
Cistus creticus   /$.$0(1 

 
@.67,8<0 71;#&0 9:&30 "(0 0,6;. ',6 281+&30 
"(0 0,5;. B3'#*0 ;. >'%/A& – 2%1=6#&, ,%(;,+6'* 
)988(;,. C=2%, 1#75 ;. '/+%6#& '"#+%&. B8&9=6, 
,#7&)&%/, #(%/0 +& ',8&',/%6 ',6 +5# 1#&645. 
D/#,6 +326'*0 71;#&0 E.=&>.6,'<0 -8(%/$,0. 

  
Pistacia lentiscus   '?@A>; 

 
F1;#&0 ,.67,8<0, 2&3 ;2&%./ #, )71=.6 +, 5 ;. 9:&0 ',6 3-4 ;. 281+&0. @#7/A.6 +5# 

1#&645 ;. -%?;, ,#7"(# '*''6#& ',6 =+5 =3#"-.6, 2,%1>.6 ',%2&90 ;. -%?;, 
G,73'*''6#& < ;,9%&. H3+* 2&89 ,#7.'+6'* =+5# 45%,=/,, =+&30 ,#";&30, =. 

2&6'68/, .$,)6'?# +92(# ',6 =+60 2,%,7,81==6.0 2.%6&-"0. D2/=50 $.# -%.61A.+,6 
',7*8&3 2.%62&/5=5. 

  
Morus alba fruitless   2)"%(1 1,$%#3 

 
!"#$%& )388&G*8&, &%7*'8,$&, ;,'%*G6&, 9:&30 10 "(0 20;. ',6 $6,;"+%&3 

'*;50 "(0 7;., ;. 8,;2.%1 2%1=6#, ',%$6*=-5;, < :,86$(+1 )988,. 
I,+18858& >6, $5;6&3%>/, ='610, >6, ;.;&#(;"#.0 )3+.9=.60, $.#$%&=+&6-/.0, 

'82. 
B%&+6;1 .$1)5 G,761, ',81 =+%,>>6A*;.#,. D/#,6 ,#7.'+6'< =+5# 45%,=/,, =+5 

;*83#=5 +50 ,+;*=),6%,0 ',6 +5 )9+.3=5 =. 2,%,7,81==6.0 2.%6&-"0. 

  
Eleagnus angustifolia   4-$&$50)6 

 
D/#,6 ,.67,8<0 71;#&0. J, )988, +&3 ./#,6 

>'%6A&2%1=6#, =+& .21#( ;"%&0 ',6 
,%>3%*-%(;, =+& '1+(. J, 1#75 +&3 

.;),#/A&#+,6 ,2* +& K.2+";G%6& "(0 +& L&";G%6& 

  
Rhamnus alaternus   7180)6 

 
F1;#&0 ,.67,8<0, 2&3 )71#.6 +, 3 – 4 ;. 9:&0 ',6 +, 2-3 ;. 281+&0. H988, 

$.%;,+?$5, G,732%1=6#,, >3,86=+.%1. @#7/A.6 E1%+6& – @2%/86& ;. 1#75 2&89 
;6'%1, '6+%6#&2%1=6#, =. +,46,#7/.0, +, &2&/, ,'&8&37&9#+,6 ,2* =),6%6'&90 

'*''6#&30 ',%2&90 =+5# ,%-<, 2&3 >/#&#+,6 ;,9%&6 *+,# (%6;1=&3#. @#,2+9==.+,6 
=. *8, +, .$1)5. D/#,6 ,#7.'+6'* =+5# 45%,=/,, =+5# 5;6='61 ',6 =+60 

2,%,7,81==6.0 2.%6&-"0. 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
! 7<%-%&@4;=0 *,+%$8( &4851$%?4&; %$ 1&.:#$ <.;0 A34%,$ (*&E=$, =-<=-<4$,;3)) 5) $B;+#-.$ 8%-;@&'$. L; 
<7;8%:1&4-; >:14-; *-< =$%$=&,1$%'6-<4 %- @?,- 1&%$7<%&E-4%$; 8& -,.$4;=3) &4+%(%&). H$ B&4;=: &'A( 7<%?4 
$*-1$=,E4-4%$; =$; $4%;=$>'8%$4%$; 1& 1&8-.&;$=: &'A(. R%+@-) &'4$; ( A(1;-<,.'$ #&;%-<,.;=?4 @?,54 1& 
A;$=&=,;134- @$,$=%0,$ $4:#-.$ 1& %(4 @,08( =$; %( #&;%-<,.'$ =:>& &4+%(%$). 
R%$ <7;8%:1&4$ *$,%3,;$ - @#--%:*(%$) $4%;=$>'8%$%$; $*+ @$1(#-E) $,51$%;=-E) >:14-<). (%&E=,;-, 
7$8=+1(#-, ><1:,;, ,'.$4() =$; 1&8$'-<) B(,-7<%;=-E) >:14-<) (1<,%;3), A&4A,-#'9$4$, #$A$4;3), ><1:,;$) 1& 
A;$7-,-*-;08&;) @,51:%54 =$; <7?4 ?8%& 4$ *,-8-1-;:6-<4 8%- 7<8;=+ %-*'- &4+) $%%;=-E #+7-<.  
R%$ 8(1&'$ *-< $*$;%&'%$; $*+=,<X( >3$) =$; A(1;-<,.'$ 7<8;=-E 7,:@%(, *,-%&'4&%$; 7E%&<8( X(#?4 
>:1454 (8@'4$, *-<,4:,;$, 8*:,%$, &#$'$.4-;, ,:14-;, *;=,-A:74(, 7;#<,3&)). L; >:14-; #&;%-<,.-E4 5) 
1-,7-#-.;=: 8%-;@&'$ %-< @?,-<, -,'6-4%$) &*;7:4&;&) =$; <73). 
F$%: 10=-) %() *#$%&'$), *,-%&'4&%$; &4'8@<8( =$; *E=458( %54 7<%&E8&54 1& .,$11;=3) 7<%&E8&;) A34%,54 
=$; *-;=;#'&) %3%-;&) ?8%& 4$ *#(,-E4 %;) $*$,$'%(%&) *,-Z*->38&;) 5) *,-) %- 13.&>-) =$; %( 1-,7-#-.'$ 
%-<), =$%:##(#&) .;$ %- %;) =#;1$%-#-.;=3) 8<4>0=&) %() *&,;-@0). L; .,$11;=3) 7<%&E8&;) %54 A34A,54 
-,.$4?4-4%$; 3%8; ?8%& -; 8<8%-;@'&) 4$ &17$4'6-<4 34$ 8%$>&,+ ,<>1+, 1& *,-%&;4+1&4( $*+8%$8( $*+ 
A34%,- 8& A34%,- %$ 4-5m. 
 
! $*-1:=,<48( %-< @#--%:*(%$ $*+ %$ <7;8%:1&4$ *$,%3,;$ &'4$; $*$,$'%(%(, %+8- #+.5 %() 1-,70) =$; %() 
<70) %-<, $##: =<,'5) .;$ %(4 <X(#0 =$%$4:#58( 4&,-E =$; %(4 8<4%0,(80 %-<.  
L 9;-=#;1$%;=+) 8@&A;$81+) %() *#$%&'$) &4;8@E&%$; $*+ %(4 A(1;-<,.'$ -=$%: %- A<4$%+4- 9;?8;1-< 
-;=-8<8%01$%-) 1& @$,$=%(,;8%;=: &##(4;=: =$; 1&8-.&;$=: &'A(, $,51$%;=:, B(,-7<%;=: .;$ %(4 A(1;-<,.'$ 
:4<A,54 =0*54. H- *,-%&;4+1&4- 7<%;=+ <#;=+ %$B;4-1&'%$; 8& &4+%(%&) $4:#-.$ 1& %;) @,51$%;=3) 
$*-@,?8&;), %(4 <70 =$; %- 8@01$ %-< 7<##?1$%-) =$; %54 $4>354. 
 
5.5.3. C*;#-.0 7<%;=-E <#;=-E 
! &*;#-.0 %-< 7<%;=-E <#;=-E 3@&; .'4&; 1& 9:8( %;) =#;1$%-#-.;=3) 8<4>0=&) =$; $*$;%08&;) .;$ %( A(1;-<,.'$ 
1;=,-=#'1$%-) =$; %(4 :1&8( *,-8$,1-.0, &.=$%:8%$8( =$; $4:*%<B( 7<%?4. ",-%&'4-4%$; &'A( $*+ %(4 
&##(4;=0 =$; &<,E%&,( 1&8-.&;$=0 @#5,'A$, 1& *-;=;#'$ $&;>$#?4 =$; 7<##-9+#54 &;A?4 1& 8%+@- %( 
9;-*-;=;#+%(%$, %( @,51$%;=0 =$; &*-@;=0 A;$7-,-*-'(8(, %(4 *-;=;#'$ @,51:%54, 8@(1:%54 =$; 1&.&>?4.  
L; *,-%&;4+1&4&) *-;=;#'&) &'4$; @$1(#?4 <A$%;=?4 $*$;%08&54, &'4$; $4>&=%;=3) 8%(4 $%1-87$;,;=0 ,E*$48(, 
8& 8<4>0=&) 8=;:) =$; (1;8=;:) =$; &<A-=;1-E4 =:%5 $*+ %$ *&E=$.  
! *<=40 7E%&<8( +*-< $<%+ &*;%,3*&%$;, &4A&'=4<%$; .;$ %(4 :1&8( =:#<X( %54 &*;7$4&;?4 1& @,?1$ =$; <70, 
%(4 &#$@;8%-*-'(8( %() &17:4;8() @?1$%-)-$=:#<*%-< $7E%&<%-< @?,-<, ?8%& &=%+) $*+ %- :1&8- $;8>(%;=+ 
$*-%3#&81$ 4$ A;$87$#;8%&' %- 1;=,+%&,- =+8%-) 8<4%0,(8() =; - 3#&.@-) %54 6;6$4'54 $4:1&8$ 8%$ 7<%:. 
 
 

 

 
 
 
 

 
Lavandula angustifolia   /9:10;$ 

H3+* )%3>,#?$.0, ,%(;,+6'*, 5;6,.67,8"0, >%<>&%50 
,#12+3450, 9:&30 0,4 – 0,6;. ',6 281+&30 0,3-0,5;. 

H988, ,=5;*>'%6A,. @#7/A.6 M&9#6& "(0 K.2+";G%6& ;. 
1#75 >'%6A&>18,#, ,%(;,+6'1. H3+* ,#7.'+6'* =+5# 
45%,=/,, =. ,=G.=+?$5 .$1)5 ',6 2,%,7,81==6.0 

2.%6&-"0. 

  
Lavandula entate   /9:10;$ ).)0;<;= 

 
@.67,8<0 71;#&0 ;. 2%1=6#& )988(;, 2&89 

,%(;,+6'*. @#7/A.6 ,2* N'+?G%6& "(0 M&986& ;. 
)(+.6#1 ;28. 1#75 ',6 G%1'+6, -%?;,+&0 G6&8.+/. 
B%&=,%;*A.+,6 .9'&8, =. ,=G.=+&9-& -?;, ',6 

,#+"-.6 +5# ,%;9%,. 

  
Spartium junceum   >#1%;) 

 
F1;#&0, >%<>&%50 ,#12+3450, 9:&30 2 – 3 ;. ',6  281+&30 2 ;. ;. 

'386#$%6'&90 2%1=6#&30 G8,=+&90 ',6 1#75 ,%(;,+6'1 '/+%6#, =. .21'%6.0 
+,46,#7/.0, .;),#6A*;.#, 1#&645 – ',8&',/%6, 2%6# ,2* +5# "'2+345 +(# 
)988(#. H3+* ,#7.'+6'* =+5# 45%,=/,, =. 1>&#, ',6 ,=G.=+?$5 .$1)5, 

',7?0 ',6 =. 2,%,7,81==6.0 2.%6&-"0. B%"2.6 #, '8,$.9.+,6 =+&30 
G8,=+&90 +&3 2%&5>&9;.#&3 "+&30 +5# 1#&645, 2%6# ,#7/=.6. 

  
Lavandula angustifolia “!lba”   /9:10;$ 

H3+* )%3>,#?$.0, ,%(;,+6'*, 5;6,.67,8"0, >%<>&%50 
,#12+3450, 9:&30 0,4 – 0,6;. ',6 281+&30 0,3-0,5;. 

H988, >'%6A&2%1=6#,. @#7/A.6 M&9#6& "(0 K.2+";G%6& ;. 
1#75 ',+18.3', ,%(;,+6'1. H3+* ,#7.'+6'* =+5# 

45%,=/,, =. ,=G.=+?$5 .$1)5 ',6 2,%,7,81==6.0 
2.%6&-"0. 

  
Lavandula stoechas   /9:10;$ 

  
Teucrium fruticans   ?9@,%() 

 
F1;#&0 ,.67,8<0, +,-./,0 ,#12+3450, 9:&30 1-2;. ',6 281+&30 1,5-2;. 
H988, >8,3'1, (&.6$<, ,%(;,+6'1 ',6 -#&3$(+1. C#75 ;28. – ;&G =. 

.21'%6.0 +,46,#7/.0, .;),#6A*;.#, ,2* H.G%&31%6& "(0 M&9#6&. 
@#,2+9==.+,6 =. *8&30 +&30 +92&30 .$,)?#. D/#,6 ,#7.'+6'*0 =+5# 

45%,=/,, ,881 -%.61A.+,6 2.%6&$6'"0 ,%$.9=.60. 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

5.5.4. Q*-A-10 7<%&E8&54 A34A,54 
C=%+) $*+ %(4 &*;#-.0 %-< 7<%;=-E <#;=-E $*$;%&'%$; =$%:##(#( <*-A-10, ?8%& %$ A34%,$ 4$ $4$*%<@>-E4 8%;) 
8<.=&=,;134&) $8%;=3) 8<4>0=&). L; @?,-; <*-A-@0) %54 A34%,54 (#:==-;) *,3*&; 4$ 3@-<4 -,;6+4%;$ &*;7:4&;$ 
%-<#:@;8%-4 1m2 =$; @5,(%;=+%(%$ %-<#:@;8%-4 1m3 .;$ %( 858%0 $4:*%<B( %-< ,;6;=-E 8<8%01$%-) %54 A34%,54. ! 
*#0,58( %-<) .'4&%$;  1& =$%:##(#- =(*$'- @?1$ &1*#-<%;8134- 1& -,.$4;=: 8%-;@&'$. ",-%&'4&%$; &*'8() ( @,08( 
&;A;=-E 8<8%01$%-) .;$ %-4 3#&.@- %() $4:*%<B() %-< ,;6;=-E 8<8%01$%-) %54 A34%,54 1& 8%+@- %(4 *,-8%$8'$ %54 
*#$=+8%,5%54 &*;7$4&;?4.  
 
5.5.5 G,A&<%;=+ A'=%<- 
C'4$; $*$,$'%(%( ( &.=$%:8%$8( $<%-1$%-*-;(134-< 8<8%01$%-) :,A&<8() *-< >$ =$#E*%&; %;) <A$%;=3) $4:.=&) %-< 
@?,-< +%$4 $<%+ $*$;%&'%$; =$; >$ &1*-A'6&; %(4 $#+.;8%( =$%$4:#58( %-< 4&,-E. H- $,A&<%;=+ *,+.,$11$ >$ 
,<>1'6&%$; 8E1754$ 1& %;) <A$%;=3) $4:.=&) %-< =:>& 7<%;=-E &'A-<) =$; 9:8( %54 &*-@;=?4 $##$.?4 .;$ %(4 1&'58( 
8%- &#:@;8%- %54 *;>$4?4 $*5#&;?4. 
H3#-), &'4$; $*$,$'%(%( ( =$%:,%;8( &4+) -,.$45134-< *,-.,:11$%-) 8<4%0,(8(), %- -*-'- >$ *&,;.,:7&; $4$#<%;=: 
+#&) %;) 8<1*#(,51$%;=3) &,.$8'&) *-< >$ &B$87$#'8-<4 %( 9;58;1+%(%$ =$; %(4 858%0 $4:*%<B( %-< *,$8'4-<. 
 
 
 
 
 
 
 

  
Myrtus communis   2"%;(1 

 
F1;#&0 ,.67,8<0, 9:&30 1 – 3 ;. ',6 281+&30 1,5-2 ;. H988, (&.6$<, 
8&>-&.6$<, ;3%($1+,. C#75 ;&#<%5, 2&881 ;,A/, 1=2%, ,%(;,+6'1, 

2&3 ,#&/>&3# +& ',8&',/%6. @'&8&37&9# +& )76#*2(%& ',%2&/ 
(&.6$./0 ;,9%&6, 2&3 2,%,;"#&3# >6, ;.>18& $61=+5;, =+& )3+*. 

H3+* ,#7.'+6'* =. ',9=(#.0, ',+18858& >6, 2,%,7,81==6.0 
2.%6&-"0 ',6 45%1 .$1)5. B%&+6;1 586*8&3=+.0, 32<#.;.0 2.%6&-"0. 

  
Origanum majorana   2$;A)"%10$ 

 
J& )3+* )5;/A.+,6 >6, +& )988(;1 +&3 ;. +& #+.86'1+& 1%(;,, 2&3 
./#,6 =,)?0 26& ,2,8* ,2* .'./#& +50 %/>,#50. N6 =+1-3.0 ;. +, 

8.3'1 1#75 =-5;,+/A&#+,6 =+& $61=+5;, M&3#/&3-M&38/&3. 

  
Thymus capitatus   B"81%( 

 
F1;#&0 ,.67,8<0, ,%(;,+6'*0, 9:&30 ',6 281+&30 0,1-
0,5;. O-.6 ;6'%1, (&.6$<, =+,-+*>'%6A, )988, ',6 %&A-

;&G 1#75, 2&3 .;),#/A&#+,6 M&9#6& – K.2+";G%6&. 
B%&+6;1 )+(-1 ',6 2.+%?$5 .$1)5 ',6 ,#+"-.6 +5# 

,%;9%,. 

  
Nerium oleander White     C(,%).1D03 -9",= 

 
F1;#&0 ,.67,8<0, 9:&30 2-4 ;. @#7/A.6 ,2* E16& "(0 N'+?G%6& ;. 
1#75 ;&#1 8.3'1. D3$&'6;./ =. *8, =-.$*# +, .$1)5, ,'*;, ',6 =. 
45%1 ',6 3)18;3%,. I,+18858& >6, =-5;,+6=;* -,;58?# $"#$%(#. 
@#7.'+6'* =. 45%&7.%;6'1 '8/;,+,, ,#";&30 ',6 ;*83#=5 +50 
,+;*=),6%,0. 

 

 
Phillyrea angustifolia   E(-"%F$ 

 
F1;#&0 ;"-%6 5;. 9:&0 ;. 6=-3%1 ',6 23'#1 '8,$61. I1#.6 )988, 
.88.62+6'1, ;6'%1. C#75 ;6'%1 =. '%.;,=+&90 G*+%.60 ',6 ',%2&/ 

;6'%&/, ;,9%&6 -(%/0 &;),8* =+5# '&%3)<. P.6 =+&30 
7,;#*+&2&30, =+60 -,;58"0 281>6.0 +(# G&3#?# ;,A/ ;. 188&30 

71;#&30. 
 

  
Thymus vulgaris   B"81%( 

 
F1;#&0 ,.67,8<0, ,%(;,+6'*0, 9:&30 ',6 281+&30 0,1-
0,3 ;. O-.6 ;6'%1, (&.6$<, =+,-+*>'%6A, )988, ',6 %&A-
;&G 1#75, 2&3 .;),#/A&#+,6 E16& – @9>&3=+&. B%&+6;1 

586*8&3=+.0 7"=.60 ',6 ./#,6 .32%&=1%;&=+& =. 2&6'68/, 
.$,)?#. 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

5.5.6. H&@4;=0 *&,;.,$70 -*,-%&;4+1&4- 7<%;=+ <#;=+  

C"PRH!DL2PF! L2LDGRPG FLP2! L2LDGRPG 

Cistus creticus N$A$4;: 

Cupressus sempervirens F<*$,'88; 

Elaeagnus angustifolia C#$'$.4-) 

Lavandula angustifolia N&9:4%$ 

Lavandula angustifolia alba N&9:4%$ 

Lavandula dentata N&9:4%$ -A-4%5%0 

Lavandula stoechas N&9:4%$ 

Morus alba fruitless D-<,;: :=$,*( 

Myrtus communis D<,%;: 

Nerium oleander White ";=,-A:74( 

Origanum majorana D$%6-<,:4$ 

Phillyrea latifolia K;#<,3$ 

Pistaccia lentiscus R@'4-) 

Rhamnus alaternus J:14-) 

Rosmarinus officinalis /&4A,-#'9$4- 

Rosmarinus officinalis prostratus /&4A,-#'9$4- 3,*-4 

Salvia fruticosa K$8=+1(#- 

Spartium junkeum R*:,%- 

Teucrium fruticans H&E=,;- 

Thymus capitatus S<1:,; 

Thymus vulgaris S<1:,;  

 

 
Rosmarinus officinalis    G90.%)-&:$0) 

 
F1;#&0 ,.67,8<0, =3;2,><0, >%<>&%50 ,#12+3450, 9:&30 0,40-2;. ',6 281+&30 1-3;. J, )988, +&3 ./#,6 

2%1=6#,, -#&3$(+1 ',6 ,%(;,+6'1. @#7/A.6 2,%,+.+,;"#, ,2* K.2+";G%6& "(0 E1%+6& ;. 1#75 >,8,#*8.3', ,# 
',6 5 2.%/&$&0 2&6'/8.6 ,2* -%&#61 =. -%&#61. @#,2+9==.+,6 =. "#+&#& 586,'* )(0. B%&+6;1 +, )+(-1, 2.+%?$5 

.$1)5, 45%1 +& ',8&',/%6 ',6 ',81 ,2&=+%,>>6=;"#, +& ',8&',/%6 

 

 
Salvia fruticosa   E$',+83-) 

 
@.67,8<0 71;#&0 9:&30 ',6 281+&30 0,4-0,8;. D/#,6 )3+* 

;. $6,'8,$6=;"#& '&%;*, ;. .26;<'5, ,=5;*>'%6A,, 
-#&3$(+1 )988,, "#+&#, ,%(;,+6'1. B%&+6;1 

586,A*;.#.0 7"=.60 ',6 $.# "-.6 6$6,/+.%.0 ,2,6+<=.60 =. 
*+6 ,)&%1 +5 )9=5 ',6 +5# 2&6*+5+, +&3 .$1)&30. 

 

 
Rosmarinus officinalis “Prostratus”   G90.%)-&:$0) F%#)0 

 
F1;#&0 =. "%2&3=, ;&%)<, ;. 9:&0 0,2;. ',6 281+&0 0,8;. J, )988, +&3 ./#,6 2%1=6#,, -#&3$(+1 ',6 

,%(;,+6'1. @#7/A.6 2,%,+.+,;"#, ,2* K.2+";G%6& "(0 E1%+6& ;. 1#75 >,8,#*8.3',. 

  



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
6. C*'#-.-) – R<1*&,:81$%$ 
 
R%- *#$'8;- %-< C,&<4(%;=-E ",-.,:11$%-) %-< C.D."., .;$ %(4 FGHGIJGK! "JLMN!DGHO2 FGP 
/PCJCQ2!R! /Q2GHLH!HO2 G2GRQIFJLH!R!R  FGP MPLFNPDGHPF!R G2GMGSDPR!R "NGHCPGR 
!JOO2 "LNQHCT2CPLQ /!DLQ 2CGR "C2HCN!R A;&,&<40>(=$4 -; A<4$%+%(%&) *-< <*:,@-<4 .;$ 
*$,&19:8&;) 8& <7;8%:1&4-<) <*$'>,;-<) A(1+8;-<) @?,-<), 3%8; ?8%& -; @?,-; $<%-' 4$ =$%$8%-E4 
#&;%-<,.;=-', $;8>(%;=: 8<4&*&') =$; A;A$=%;=-', $##: =$; 4$ $4$=%08-<4 %;) @5,;=3) $B'&) *-< &'@$4 
$4%'8%-;@-; @?,-; $*+ %(4 $,@$;+%(%$. G*+ %(4 $,@$'$ G.-,: 35) =$; %$ *$,$A-8;$=: «*$6:,;$» 8%-<) 
@?,-<) $<%-E) $4$*%E88-4%$4 %+8- ( =-;454;=0 8<4&E,&8( =$; ( *-#;%;=0 $4%;*$,:>&8( +8- =$; ( 
&1*-,;=0 8<4$##$.0. 
  
I;$ $,=&%-E) #+.-<) *-< 8%$A;$=: 3@-<4 A;$1-,75>&' 801&,$, ( <*$'>,;$ 8<##-.;=0 650, %&'4&; 4$ 
1&;5>&'. PA;$'%&,$ 8& *&,;-@3) =$; =-;4+%(%&) +*5) ( 2. "&4%3#( ( %:8( $<%0 7$'4&%$; 4$ &'4$; *;- ;8@<,0, 
$7-E -; =:%-;=-' %() 7$'4&%$; 4$ 3@-<4 %(4 A;:>&8( .;$ *;- &B$%-1;=&<134( 650 8%;) *,-85*;=3) %-<) 
=$%-;='&) 8%;) -*-'&) *$,3@-4%$; +#&) -; $438&;) . 
 
L 8@&A;$81+) %() "#$%&'$) 2. "&4%3#() $*-%&#&' 1'$ *-#E -<8;$8%;=0 *,+=#(8( .;$ &*$4&=%'1(8( %54 
A<4$%-%0%54 %-< A(1+8;-< @?,-< 4$ $*-=$%$8%08&; %(4 -,.$4;=0 %-< >38( 8%-4 $8%;=+ ;8%+. 
 
R%(4 7:8( $<%0 %- C,&<4(%;=+ ",+.,$11$ %-< CD" &'@& $=,;9?) 5) 8%+@- %(4 A;&,&E4(8( $*+ =:>& 
*#&<,: %54 A<4$%-%0%54 $<%?4, %(4 *,-83..;8( %-< *,-9#01$%-) 5) :8=(8( -#;8%;=-E 8@&A;$81-E =$; 
%(4 =$%:>&8( 8<.=&=,;13454 *,-%:8&54 5) *,-) %;) =$%&<>E48&;) *-< >$ 1*-,-E8$4 4$ <#-*-;(>-E4. 
 
R%(4 &*+1&4( 7:8( >$ $*$;%(>&' ( *#3-4 #&*%-1&,0), &B&;A;=&<134( A;&,&E4(8( %54 %&@4;=?4 =$; 
-;=-4-1;=?4 A<4$%-%0%54 .;$ %(4 *,$.1$%-*-'(8( $<%-E %-< =-;454;=-E 3,.-< .  
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
7. M;9#;-.,$7'$ 
 

1. Genius  Loci: Christian Nouberg-Schulz 
H- *4&E1$ %-< H+*-<: I;$ 1;$ 7$;4-1&4-#-.'$ 8%(4 G,@;%&=%-4;=0 
"$4&*;8%(1;$=3) C=A+8&;) C.D.". G>04$ 2009, 
 

2. Site – specific art : Nick Kaye 
Routledge, London 2000 
 

3. Urban Design : Street and Square : Cliff Moughtin 
Architectural Press, Oxford 1992 
 

4. F&'1&4$ : /(10%,() ";=;?4() 
D-,75%;=+ 'A,<1$ C>4;=0) H,:*&6$), G>04$ 1985 
 

5. Space, Time and Architecture : Sigfried Giedion 
Harvard University Press, 1967 
 

6. PA3&) %-< @?,-< 8%-4 &;=-8%+ $;?4$ : 2;=+#$-) a54 H&,6+.#-< 
208-), G>04$ 2009 
 

7. P8%-,'$ %() *+#() =$; %() "-#&-A-1'$) : ! G,@$'$ "+#( : I;?,.-) R$,(.;:44()  
C>4;=+ D&%8+9;- "-#<%&@4&'-, G>04$ 1999 
 

8. ! G,@;%&=%-4;=0 =$; ( C##(4;=0 "+#( 8%-4 21- G;?4$. 
",$=%;=: 10-< "$4&##(4'-< G,@;%&=%-4;=-E R<4&A,'-<. 
H&@4;=+ C*;1&#(%0,;- C##:A-) 2002 
 

9. ! G;8>(%;=0 %54 "+#&54 =$; ( "-#;%;=0 %54 "$,&19:8&54 :  
",$=%;=: C*;8%(1-4;=-E R<4&A,'-<  
C4-*-'(8( G,@$;-#-.;=?4 @?,54 G>04$) G.C. 
G>04$, D:,%;-) 2004 
 

10. A History of Architecture : Banister Fletcher 
University of London, Athhlone Press 1961 
 

11. ! G,@;%&=%-4;=0 %() "+#() : Aldo Rossi 
University Studio Press S&88$#-4'=( 1991 
 

12. The Social Logic of Space : B. Hillier, J. Hanson 
Cambridge University Press, 1984. 

 
 

 

  
 
 
 
 
 
 

 


